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INSTRUCTIONS

Do not open the Test Booklet before 12:30 p.m.
Read the question carefully before marking the right answer in the appropriate circle of the OMR
Answer-Sheet.
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No candidate will be allowed to appear in the examination without Admit Card and it should be produced before
the Invigilator when asked.

No candidate will be allowed to enter or leave the Examination Hall during the examination hours.

Any book, paper, cell phone, calculator or any electronic gadget or objectionable materials are not allowed in the
Examination Hall. Candidates are allowed to bring only Admit Card and ball-point pen in the Examination Hall.
Candidate will have to keep all his/her belongings and materials outside the Examination Hall at his/her own
risk.

Any candidate found using unfair means or violating the above or any of the examination rules shall be disqualified.
Candidate should clearly write his/her Roll No. in the space provided in the Test Booklet.

Only one circle, either (A), (B), (C) or (D) is to be darkened completely for each answer on the OMR Answer-Sheet.
Candidate should not make any stray marks on the OMR Answer-Sheet.

Candidate should not staple, fold, pin, wrinkle or damage the OMR Answer-Sheet.

Scratching, overwriting, tick marking, multiple answering will be considered as wrong answer.

Candidates will have to sign twice the Attendance/Roll Sheet presented by the Invigilator on duty, once after
taking their seats in the Examination Hall, and once at the time of handing over their Test Booklet and OMR
Answer-Sheet to the Invigilator. Cases where a candidate has not signed the Attendance Sheet a second time
will be deemed not to have handed over the Answer-Sheet.

The candidate has to return the Test Booklet along with the OMR Answer-Sheet to the Invigilator before leaving
the Examination Hall.

Candidate should do all the necessary Rough Work on the Test Booklet in the space provided. Rough Work
should not be done on the Answer-Sheet or on any other paper. If any Rough Work is done on the Answer-Sheet,
the Answer-Sheet will not be assessed.

There will be one single OMR Answer-Sheet for all the questions. No extra Answer-Sheet will be provided
for any mistake or correction.

The OMR Answer-Sheet will be provided along with the Test Booklet. Candidate should fill up the particulars in
the OMR Answer-Sheet, i.e., Roll No., Test Booklet No., Test Booklet Code, Language Code, etc., carefully with
blue/black ball-point pen only.

The test is of 2% hours duration and will consist of 150 questions.

The candidate should use blue/black ball-point pen only for writing particulars on this page/marking responses
in the OMR Answer-Sheet.

The candidate should make sure that the corresponding Test Booklet Code is properly written/shaded in
the OMR Answer-Sheet by him/her. For example, if the candidate gets Test Booklet Code ‘Q’, then he/she
should fill up ‘Q’ in the box provided in the OMR Answer-Sheet and also shade the circle ‘Q’ in the OMR
Answer-Sheet. In case of any discrepancy in the Test Booklet, the candidate should immediately report the
matter to the Invigilator for replacement.

This Test Booklet has five Parts, i.e., Parts I, II, III, IV and V consisting of 150 Multiple-choice Type questions,
all carrying 1 mark each.

Part-I :  Child Development and Pedagogy (Q. Nos. 1 to 30)
Part-1I :  Mathematics & Science (Q. Nos. 31 to 90)
Part-II  : Social Studies (Q. Nos. 31 to 90)
(Candidate has to attempt Part - II or Part - III)

Part-IV  : Language-II [ English (Compulsory) ] (Q. Nos. 91 to 120)
Part-V :  Language-I (Optional) (Q. Nos. 121 to 150)

(Any one of the languages - Assamese, Bengali, Bodo, Garo, Hindi, Hmar, Nepali, Manipuri and Karbi)
There is no negative marking for any wrong answer.
Candidate should note that each question in Parts I, II and III is given in multilingual form, viz., in Assamese/
Bengali/Bodo/Hindi/English medium/version for his/her convenience and ready reference. In case of any
discrepancy or confusion in the medium/version, the English version will be treated as the authentic version.
Important : Candidate please see Page No. 7 for Index.
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INDEX

Part Subject / Component Q. Nos. Page Nos.
I Child Development and Pedagogy 1 to 30 8 to 37
I Mathematics & Science 31 to 90 38 to 73

(For Mathematics and Science Teachers)
III Social Studies 31 to 90 74 to 109
(For Social Studies Teachers)
(Candidate has to attempt Part - II or Part - III)
IV Language - II [ English (Compulsory) | 91 to 120 110to 113
\"/ Language - I (Optional) (121 to 150) (114 to 142)

(Candidate should answer from
any one of the following languages)

Assamese 121 to 150 114 to 117
Bengali 121 to 150 118 to 120
Bodo 121 to 150 121 to 123
Garo 121 to 150 124 to 127
Hindi 121 to 150 128 to 130
Hmar 121 to 150 131 to 133
Nepali 121 to 150 134 to 136
Manipuri 121 to 150 137 to 139
Karbi 121 to 150 140 to 142
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PART - I : Child Development and Pedagogy

1.  Piaget-3 ¥(®, (B I%7 2171 OfF ety Sraqeigert 5157 Fcet 198 F 7
(A) 1137 B) 1237 © 133 D) 183=F

1. PISIET (Piaget) N6 F© T2 ICE I 13 STLIFAT 5157 FICo BF I 7
A 113IW (B) 1237 © 133R (D) 183%F

1.  Piaget 1 afeen se SERMwR & Gieant e Ar<ify SHm=E SETEr -

(A) 11 9ER (B) 12 ¥R © 13 9ER (D) 18 9ER
1.  Piaget ™ 3TIHR T g & form o & o7e oRom o1 foerret STes B © 2

(A) 119 B) 129 © 139« (D) 189
1. According to Piaget, from which year a child starts to develop self concept ?

(A) 11years (B) 12 years © 13 years (D) 18 years

2. Thegq A4FIRT off T T CIREI[IT THITFIFAT T T 020w

YT A1 Siferat SBITITE
(a) B o IR () O
(b) Sifgs, AT SN CTwFaqeT (i) TG

(© ONRT IS, ARgIhoyers e B8 Ihoqeis (i) TESIE

d  Toten, R, SBFT oie RFeaia (i) T/

B e it Sfetaat

A (@-(), (b)- (i), (c) - (iii), (d) - (iv) B)  (a)- (i), (b) - (i), (c) - (i), (d) - (iv)
©  (@- (), (b)-(iii), (c) - (i), (d) - (ii) D) (@)-(iv), (b) - (iii), (c) - (i), (d) - (i)

2. TREFTRT AT oIfTFT WI2 B TERFF AW (3T ICT |

TfFred aiatemd oiferst SIIPCAT T
() SBYA QI IR () TR
(b) ©ifgs, J(FReF Qe w2 i)y TESG
(© TN afoyers, ARafoyers 43e 9w afoyers (i) LR
d) e, AE, B W3t RFfiesr (iv) &
Om SSAb @R AN |
(A)  (@)-(i), (b)-(id), (c)-(ii), (d)-(iv) B)  (a)-(iii), (b)-(i), (c)-(i), (d)-(iv)
©  (@)-(iv), (b)-(iii), (c)-(i), (d)-(ii) D) (a)-(iv), (b)-(iii), (c)-(ii), (d)-(i)
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Personality types 3R fore gfafiiitert H@! MREE B Sal -

Personality types Name of Propounders
(@) Introvertand Extrovert @) Kretschmer
(b)  Theoretical, Economic and Aesthetic (i)  Freud
(©)  Oralerotic, Anal and Genital (iif) Spranger

(d)  Pyknic, Asthenic, Athletic and Dysplastic ~ (iv) Jung

TR 9R TReIEE 9’

(A)  (@)-(i), (b)-(ii), (c)-(ii), (d)-(iv) B)  (@)-(ii), (b)-(), (c)-(id), (d)-(iv)
©  (@-(iv), (b)-(ii), (c)-(1), (d)-(ii) D)  (@)-(iv), (b)-(ii), (c)-(ii), (d)-(i)

Hfericdl TR 1 G TR ST TraTs=eX 1 A feon T &

e WahTT ol et YIITS-ST Rl 19
@) oTaqE iR aferwt (i) SRR
(b) e, steffas iR Tredyem (i) HES
(€  HifEe Aawere, TRfagers 3R 3uee farers (iiiy TR
(d) T, e, R IR fahdnE (v) IF
I[E T hl IR fafay
A)  (@)-(), (b)-(ii), (c)-(iii), (d)-(iv) B)  (a)-(ii), (b)-(), (c)-(id), (d)-(iv)
©  (@-(w), (b)~(iii), (c)-(0), (d)-(ii) D) (@)-(iv), (b)-(iii), (c)-(ii), (d)-(i)

List of Personality types and their Propounders are given below :

Personality types Name of Propounders
(@) Introvertand Extrovert @) Kretschmer
(b)  Theoretical, Economic and Aesthetic (i) Freud
()  Oralerotic, Anal and Genital (ifi) Spranger

(d)  Pyknic, Asthenic, Athletic and Dysplastic ~ (iv) Jung

Choose the correct match :

@) (@)-(), (b)- (i), () - (iii), (d) - (iv) ®)  (a)-(iii), (b)- (i), (c) - (ii), (d) - (iv)
©  (@)-(v), (b)-(iii), () - (i), (d) - (i) D)  (@)-(iv), (b)- (iii), (c) - (ii), (d) - (i)

UPT-19/P-11/Q
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3. SfoA TR AFIT SN 3T ORI ot 5%

oA AP TuiRger
(a) Coas Sifeary () SIS TS
(b) TS et (i)  FOI/ MY
(0 Thesre stfedx (i) SR/ AW
(d) Ffaw=fedr (iv) ¥R
B ot 1fs Sferear

@ @-0),0)- @), ©-G), @-Gv) B (@)-v)b)- ) ©)- ), @) i)
©  (@-(i), 0)-(v), ©-0), (d)-G) O  (@)- (i), b)- ), ©)- (), (D) - ()

3. eI 4 3 SIMd SRR (ST 26

Sfeeiag A Sarzget
(a) (SR ST () SRS TFS
(b) AT Sfoata (ii)  FFSl/ YS!
(© s oA (i) SRR/ AW
d Ffav Sfedr (iv) <FFR
»m N6 o 718 |
(A)  (a)-(i), (b)-(id), (c)-(ii), (d)-(iv) B)  (@)-(iv), (b)-(i), (c)-(i), (d)-(iii)
©  (a)-(ii), (b)-(iv), (c)-(i), (d)-(ii) D) (a)-(iid), (b)-(ii), (c)-(iv), (d)-(i)

3. T S (motives) f1 AWHER TR SwR fafef-era memme g srem -

T ST TEhR fafafermt
(Types of motives) (Examples)
() TSR TG S @ oty aifa
(Organic motives) (Aim of Life)
(b)  THTSIR T SE™ (i)
(Social motive) (Honesty)
(©  TER M ST (i)  STER
(Personal motive) (Food)
d) TTEAHEAEE TEl S AEE T S (iv) @
(Artificial motive) (Award)
IR fRTgE g’ -
@) (@)-(), (b)-(ii), (c)-(ii), (d)-(iv) ®)  (@)-(v), (b)-(0), (c)-(ii), (d)-(iii)
© (@i, (b)), (€)-(1), (d)-(i) D) (@)-(iid), (b)-(id), (c)-(iv), (d)-()

UPT-19/P-11/Q 10




3. Iy w1 YR 3R TR 30T TE fou e ¥

YT T TR 3TET
@) Sifaes Afmm () e o1 A
(b)  EHITSR A9 (ii)  THA/EY
() AT 3Ty (iii)  SARR/AR
(@) Fhm shmE (iv) IR
U5 A 1 AR et :
(&) (@)-(), (b)-(ii), (c)-(iii), (d)-(iv) B)  (@)-(iv), (b)-(0), (c)-(id), (d)-(iii)
©  (a)-(i), (b)-(iv), (c)-(i), (d)-(ii) D) (a)-(iii), (b)-(id), (c)-(iv), (d)-(i)
3.  Typesof Motives and their examples are given below :
Types of Motive Examples
(@)  Organic motive ()  Aimof Life
(b)  Social motive (i)  Honesty
(©  Personal motive (iii)  Food
(d)  Artificial motive (iv) Award

Find the correct match :
A (@)- (), (b)- (i), (c) - (iii), (d) - (iv) B)  (a)-(iv), (b)- (i), (c) - (ii), (d) - (iii)
©  (a)- (i), (b) - (iv), (c) - (i), (d) - (i) D)  (a)- (i), (b) - (ii), (c) - (iv), (d) - (i)

4. oeTo T (P TS AT TRF SATF 5w fvodo 2 7

(@ “IF® by PR (c R (d) ‘Zi?lf%
@ @ () oS ® AR () ofesel
B ST IS Sfensat

@) (@ () (6, (h) B) (@), (®).(®) (g ©  ®)©, ) (@) D) (9, (d), (), (h)

4. 5 MST (FFBE FATRS HFH T TR TS 0o T TS ST 2

@ OFe (b) T © Sz d oFfs
@ st @ ARRES (g senferR (h) Sfose
BT G @ AN |

@) (@ () (6, (h) B) (@), (®).(®) (g ©  ®)©, ) (@) D) (9, (d), (), (h)

UPT-19/P-11/Q 11 P.T.O.




4.  TRMEM ¢ TR MeRE! TE SeFE fafostd gemee -

(@) TR (Intensity) (b) T (Size) (© T M (Interest)
(d) A< (Instinct) (€) 3T (Emotion) ()  oHIR (Situation)
() AR (Review) (h)  UHFTE (Experience)

IR forTal 9@’ -

@) (@ () 6, (M) B) (@), (®).(®) (g ©  ®© 0@ D) (9, (d), (), (h)

4. TrefafEd SiF-91 79E0 SRy S e |uel Id % &g § ?

(@)  <iror (b) 3R © e (d) Wl
(€ e @  erfeafd @ TN (hy  erfur
I[S W hl AR faraam :

@) @), (0), (6, () ®) (@), (b)) (8 © (b)) @) D) (©),(d) (e) (h)

4. Which of the following are included in the subjective condition of attention ?
(@) Intensity (b) Size (¢) Interest (d) Instinct
()  Emotion ® Situation (g0 Review (h)  Experience

Choose the correct option :

GV OACAHALY B) (), (®).(®) (g ©  ®)© 0 @) D) (9 (d), (), (h)

5 % KA it Sfenet :
(A) O S Jfaoroia e iy 5jfEler 23 |

(B) OSH A T5Re ST JfaoroiT 927 |

©  OSH T TR B 97’38 117, 58 9o EHIe i Jiaerom 233 |
D) OSH TheT Ifm SN EMTT WSS @I 594 F13 |

5. W{H TSN @I IT:

(&)  OFSH T JaoT=om i St JElet 271

B) OFSH EIeT [T T JiwoTom 27 77|

©  9FSH e he BT 71 208 “1EH, 78 9FeH el fe Jasmom 23 |
(D) UFSH BT Jam W3R TSR T (@A F74F @31

UPT-19/P-11/Q 12




MR TR AHfEa! 9o’ ?

(A) T FEIR ST Sscarrel RIS Sl |

(B) W GRS ST Sisctdal |1 ST |

© U AR ST SRISa Srare ST grt Teme w8 GRS aeT IR ST |
(D) 9T G |1 gHMEmE RIS SRISer TRl ToRTe el |l 147 |

S foaehed &1 g FHeTfag

(A) Th I g T Al s gitewier 2 g1

(B) T gftewla =afa gien gfgeia & 2 7

© TH Jfg Tvo= Afda giteeha T8l a7 Tehdl © fohrg Tk Ylewia safaa gfg Tvd= 2 & |
(D) T A Ht g 3R HICHRT % S HIE TS el ¢ |

Find the correct option :

(A)  Ahighly intelligent person is always creative.

(B) A creative person is not always intelligent.

(©  Anintelligent person may not be creative but a creative person should always be intelligent.

(D)  Thereis no relation between intelligence and creativity of a person.

I Thege Thea cvas EfEfis @R Biees s ot 717 2

(A)  FAErEFe! (B) ISUF EFS! ©) TSl (D) SIS AT

oo o

I N iFrgs Thex ova Fafafis @F Tsfe g sTeemsd orar I 2
A) SEfEFel  (B) SWSEEdS! Q) oSt D) GIFEICG A

e e HAAE! THTSTS QrE) 11 (Extrovert person) ™ B CIERIICIITY %QTE@ HH -
A) Mer@ie’ i Qe (Self Centredness)
(B) TG T Qe (Society Centredness)

(C)  ISTTY (Shyness)
(D) BRAAT M (Aloofness)

et =fade % =afa & &9 § fafatead sF | safsmma afaad o€ s € 2

(A) 3T higehal (B)  HHS hi-gehdl ©) Hre (D) TR
Which of the following personality traits is found in an extrovert person ?

(A)  Self centredness (B)  Society centredness

(©)  Shyness (D)  Aloofness

UPT-19/P-11/Q
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7. ©0F FAEIE TS foaeld @ers Sofmie ?
@  FTATHIA
(b) BT NI S BB
(©  PreesvEEsT
(d) AT R sifaaea
(€ SR AW AfRTST
B g A1 Sferaar :
@) (@, (), ) B (a)()(d) © () (d) () @) (@), (), () (e)

7. AR @RBET Tl fexe! @ et T wFeld SAME ?
@) FTATHAD
(b)  THITAT LTS YL BAMSST
(0 Frees sifefafy
d) AR (R AREeT
€  STIRAI W Ko

% 5ad (AR ATS |

@) @ b)) @) B () () © () (d) (e D) (@), (b),(c) (e)

7. TR 99 SREHRI Stimulus variation 1 ATTETRR -
(a) TR GG (Voice modulation)
(b)  FHSH A SR G S ™SR (Eye contact and movement)
© BRI AT (Teachers movement)
d) TETEEEEE SEEE! HIeE™ (Change in interaction style)
€ =TI oSl |eT@ ™ (Switching sensory channels)
IR frTel v’ -
@) @, (b)) @) B (a)()(d © (b)), (e) @) (@), (b), (), (e)

UPT-19/P-11/Q 14




7.  Trfate sF-a1 g fem s &1 % ?
@) T YL
(b) = 1 FI AR fa-fafy
© Tl 1 =@-=em
d) IR fshan = aRada
(© Tt wreAw w1 uiad
S foed i gHQ
@A) @, (), ), ®B) (a)(c)(d) ©  (b)(d),(e) D) (@), (b),(9), (e)

7. Which of the following are components of the skill of stimulus variation ?
(@)  Voice modulation
(b)  Eyecontactand movement
()  Teacher’s movement
(d) Change in interaction styles
(e  Switching sensory channel

Choose the correct option :

@) @, (b)) ) ) @ () (d) © () (d) (e D) (@), (b),(c) (e)

8. RIS Qe i [KTsr FIde siTge, 9o Frstdie Qb sitas AT 1157 SCHT9[T 657 Sfery =i,
551 ifeet gfet IR coars sl 27, (O G0 R'T

o o

(A) Freg ST FiTiwIe (B) AT SN B

Q) FrFaT s Fasac (D) Freag g9 BfsIel

8. TINSCT @IsT Q2 st ¢t #Itd, O3S Frerd asfG #iita Bt 115 Sesiet (10T 65 @7 I HaTa
A9 551 IXCAT ICeT O ©d OToT A

(A) P SIfse g B) PR Tq@ T BIFEI

Q)  FPFCed e s (D)  FrsCeg 4T FIFise

8. U@ WY SNE TR @’ BRIGHEM A9 I HIEEE] AFY ARSST 9HE o9 11 AT -THE
TS 6 Gl g UTSal & Bl o1 SR STl STetl si@ H1 g7 ?

(A) Lateral Transfer of Learning (B)  Sequential Transfer of Learning

(©)  Negative Transfer of Learning (D) Positive Transfer of Learning

UPT-19/P-11/Q 15 P.T.O.




8. Sofl when § = SR RuneHeh fen < % e, forelt weh ferenelt 4 weh here # @ T 11 AWl 6 Y 6 370w
fohTeT &R 5 T8 T W T 1 HHS Al ], T 9% &
(A) T giftd =1 SAferehet TR (B)  T3ren 9ifta ki STk {Heh TAMI
(©)  T3raq Uit <A1 SRUTcHeh STl (D) Toan wiftd 1 Aees LM
8. After teaching substraction and addition in class, a student is able to remove six apples from a pot containing
11 and understand that there would be five left, thenitisa:
(A) Lateral transfer of learning (B)  Sequential transfer of learning
(©) Negative transfer of learning (D) Positive transfer of learning
9.  wfewt, Frs «fts Fai 70 - 90 3 foos M, (068 (OF FRaF @FF0T @i I3 =7 2
A) dfsorr fres (B) &7 sifes frs
© s O oo i
9. T OFb Freg Iiaa 77T 70-90 WF (GO F INF, AT 8% PRI @19 I RTe AT =7 2
A)  AfeeRE e (B) Tsfsre Fevr o FF O 73
© ¥¥ D) g 13
9.  STecT WY ' WAl S (IQ) 31 70 - 90 T TeRia ot steet ford e w6l ar@ieta et 2
(A) THRA <A HEE Ty’ (B) T AR Hrem 1y’
© gEaI’ (D) TirenR rafe T3 et Ty’
9. @ HIE T Y 1 “Intelligence Quotient (IQ) 70 - 90 < &l &, a1 U frgy I fore it & <@ 1 wehall
2?2
@) dwwemfyg @ 0 dRTcwRg © 2y D) e Jfs T oy
9. When the Intelligence Quotient (IQ) of a child is between 70 - 90, he is generally categorized as :
(A)  Gifted (B)  Slow learner (© Idiot (D) Moron
10. frerrds Jiag SR ogce, [@ifas SR o1 Sl 27 -
(A)  dfrar, Ry s sl B®) i, yerEE, Kex<g s sAfqemy
© dfar, fs, e e sifgam (D) =i, Razg o= Aoy
10. FeRFIGR Jad Tial B8 N0o, [Wiiad SWT oI ST 36

UPT-19/P-11/Q

(A i, ewg «ge sifgem B)  dAfw, gerrRE, Eweg 72 Sffem
© efaw, 5fs, b8 eas sfgam D) =fs, awag g3e Afam
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10.  Guilford T structure of intellect §HRFY AMf<eA Main dimension of intellect T STT&T -
) fafe, gemeR R 53 e |
@)  fafe, grreE, Fehi SR 357 fhars |
©  faf¥, T e, o e 3 fres |
(D) TGl eI, BRI TR g4 fhers |
10. e T gfg e a % TR, sifge e 1 ol 3URH © :
(A)  ufshan, fawereg o) uftomy (B) ke, geaisrd, fammayg 3R aftomm
© s, Tfa, fema iR aftomy O) Hfq, fawasg =R aftom
10.  According to Guilford structure of intellect, the main dimensions of intellect are :
(A)  Operation, Content and Product
(B)  Operation, Evaluation, Content and Product
(©  Operation, Memory, Thinking and Product
(D) Memory, Content and Product
11. Feae SgnER S CIAEIRT Sl Jv Wl (20w :
[RECRCICRNEY TBIPET
(@)  SICIeRM™M @i FRE
(b) STRETERM i) FT
€ TS SAFIFAIM (iii) e
(d) SERAIT @(iv) RS
B35 feTcor IS Sfeveat :
@A) (@)- (), (b)- (i), (c)- (i), (d)- (i) B)  (a)-(), (b)- (i), (c)-(ii), (d)-(iv)
©  @-(v), (b)- () (c) - (i), (d) - (i) D) (a)- (i), (b)- (i), (c) - (iii), (d) - (iv)
11. IREICE] O YR OItMT LI TN (3T 2T :

UPT-19/P-11/Q

[RE G ERCTCR Y TBIIPHE TN
@)  STewIsR™ () ERER
(b) TNEIFER™ (i) TR
(© IFIASF HJIHRAIM (i) NTecTe
d) SIRHRAM (iv) <AHTIZF
Bm Oedfb @@ S |
(A (a)-(iv), (b)~(ii), (c)-(i), (d)-(ii) B)  (a)-(i), (b)-(ii), (c)-(ii), (d)-(iv)
©  (@)-(iv), (b)-(0), (c)-(i), (d)-(iii) D) (a)-(ii), (b)-(D), (c)-(ii), (d)-(iv)
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11.  SrAFE FEHR 3R a8t fegTurRR @ 2FmE Sem -
RIEIRIRIRE LA et
(Theory of learning) (Propounder)
(@) Connectionism (@) Kohler
(b)  Gestalt theory of learning (ii)  Skinner
() Theory of operant conditioning (iii) Pavlov
(d)  Theory of classical conditioning (iv) Thorndike
RISIIEEIR REIRIRERIRICIES icl
@) (@-(v), (b)-(i), (c)-(), (d)-(iii) ®)  (@)-(0), (b)-(ii), (c)-(ii), (d)-(iv)
©  @-Gv), (b)-(0), ()-(id), (d)-(iii) D) (@)-(i), (b)-(), ()-(iti), (d)-(iv)
11.  foren-wifa =1 qeayg 3 sTer -t &1 914 fen T R
forer-wrifia w1 aeETE WUTSST
(@) HAER () R
(b)  EHURATES (i) TR
(€ FEHS STTAAR (i)  YEETE
d  SAITETER (iv) oHeEH
3 fohed @l g frerifera
@) (@)-(v), (b)- (i), (c) - (i), (d) - (ii) ®)  (@)- (), (b)- (i), () - (iii), (d) - (iv)
©  @-@), (b)- () (c) - (i), (d) - (ii) D) (@)-(), (b)- (), (c) (i), (d) - (iv)
11.  Names of the Learning Theories and their Propounders are given :
Learning Theories Propounders
(@)  Connectionism (@) Kohler
(b)  Gestalt theory of learning (ii)  Skinner
() Theory of operant conditioning (iii) Pavlov
(d)  Theory of classical conditioning (iv) Thorndike
Choose the correct match :
@) (@)-(v), (b)- (i), (c) - (), (d) - (ii) ®)  (@)- (), (b)- (i), (c) - (iii), (d) - (iv)
©  @-@), (b)- () (c)- (i), (d) - (ii) D) (@)-(), (b)- (), (c) (i), (d) - (iv)
12. P 1ol a1 QBT SoimiT &7 -
(A) SIlorared B) SR ©  mECE (D) SR
12, FredE AEd SAE 9F6 ST 26 -
A) cagar (B) BRRWN ©  wNAICETs (D) SR
UPT-19/P-11/Q 18




12.  HieligEd! g e Hd S S -
(A)  TIE EIEH™ (Motivation) (B)  3TEHR (Egoistic Feeling)
(C TG & (Attention) (D) T SIFM (Interest)
12. €@ o1 S 9ol T FRE ©
(A)  IRom (B) SEHEM AN (O =W O) ¥
12.  One of the factors which Obstruct learning is :
(A) Motivation (B) Egoistic feeling (©) Attention (D) Interest
13.  Frsas o459 afe @0 T 8oiFs fofs 3 ke tzeg 7
(A) SR W (B) dA@ERM T (O dFfeIRt T (D) IBIIA o
13.  PrecR o937 Tafs Fafafiie @ T wafta 894w fefs Fw R zamg 2
(A) SR T B) drEeRR s  (©Q dFfeIMwF (D) IBIQR T
13.  Project method of teaching 31 T&H e TS HEfES SEE .
(A) Idealistic philosophy (B)  Pragmatic philosophy
(© Naturalistic philosophy (D)  Realistic philosophy
13, Tveror =1 wehew wgfa -9 €9 W s S forshr g 8 2
(A)  STERERT (B)  TANTAR ©  THfEwRT (D) SRAforRaTaTa!
13.  Project method of teaching is developed on the basis of which Philosophy ?
(A) Idealistic Philosophy (B)  Pragmatic Philosophy
(© Naturalistic Philosophy (D)  Realistic Philosophy
14. O} (@PFEIE Feg 4o IoT 72
@) P AfEeT 82Fe [T 737 | (b) PR STIETSS SHfe (FTCITaI |
© P O [y dfear 927 | d) P TR 1o TS 927 |
© RFFCOT IS Sferaar
(A) (&< (a), (b) == (d) (B) (<< (a) 3= (b)
© @ (b) == (c) (D) (@< (a) SN (d)

UPT-19/P-11/Q

19

P.T.O.



14. HIfeiii® @RS Frses 45is @RI 72
(@) Frsasifgomei OE e @ AT (b)  FF SSTNRE (2 FeT (R AT |
(© e @ S effer 331 (d) FrET AW ST TARES AT |
Bm &Sl @R ANS |
@) BY(a), (b) 9 (d) (B) BY(a)93R (b)
© BY(b) 9 (c) D) BY(a) 93 (d)
14.  TEEM 99 SO SendE ARG e ?
() ST S TAEE A A
(b)  TrciTEEr T T SR SR et
() Wi Sl WrEETe $er S M AT
(d) HrcerE gifgare Sedrest siel JH) T
TS SRR J JEE o9r 9’
() (a), (b) ST (d) ST &R (B)  (a) ST (b) T’ &R
©  (b) I (c) T’ &N D)  (a) 3T (d) 3T’ ¥R
14. frAfatea sE-1 fren wie S gefa Twesm § 2
()  Toen-wft afgofar w AR =72 ) (b) Toren-mfiq gRI STUEHREIS it YicaTe el S |
© Toer-wifa o sremerea@ @i ufsran R &1 (d)  rem-wifa w1 @eF 6 Wy weafeha T 7
35 faehed &1 gt e
(A)  FA (a), (b) A (d) (B) A (a) 3R (b)
© A (b) 3T (c) (D) 0 (a) 3R (d)
14.  Which of the following indicates nature of learning ?

(@) Learning is not based on maturation. (b)  Learning does not promotes maladjustment.
(0  Learning is not a passive process. (d) Learning is notrelated to goals.
Choose the correct option :
(&) (@), (b)and (d) only ®  (a)and (b)only
(© (b)and (c)only (D) (a)and (d)only
UPT-19/P-11/Q 20




15.

15.

15.

15.

15.

TUCI NATRENT 5g® ‘30’ (1d) |

(A)
(B)
©
D)

GBI SICoo SIS B B 57570 3] (FICAT CISTTIrsy 913 |

Ffeut agfeq |

< BT (bod SIIE SN JIB <1510 31T OO (NI (TSIest S |

IBTO! Fifex 321w oo |

TS AT $C3 ‘2 (Id) 26 -

)
®)
©
D)

OF S(bod SIFT QIL IWERI I I (@I @IS ([3 |
QT JRFadT 4Ffog |

NG QP (bod IFT QI IBIIF S ©IF AP AOTF (QI5TCrsr SR |

[ Ya o

JITo YT IBIOTT 397 ATO DS |

A M fafiem fafstatt Jwrfy sfesen ‘1d s wRem

(A)
(B)
©
D)

HFY o) T3 gTeiie TR Hreheisii stel W) 13

SR TR g

TSI Fiwif SR@ithR ST Hieheisii foret oSl |l o
Hieher Seienf T THAHE

TRIIE 1 HATavey ol 0 | ‘58’ (1d) :

(A)
(B)
©
D)

Teh 3T STerE 37 arerdl & 918 SHeh! IS THeh T8l ¢ |
RIESRENRFIR]

T o1 Ueh = SToelT 371 i o 919 SHeh Ueh Joel THieh € |
e Hifa W gfaftsa g1

In Psychoanalysis theory of Freud, “Id” refers to

(A)
(B)
©
D)

Unconscious in nature and has no direct contact with reality.
Itis logical in nature.
Itis conscious state of mind and has direct contact with reality.

Itis based on reality principle.

UPT-19/P-11/Q
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16.

16.

16.

16.

UPT-19/P-11/Q

gt ReaT (F@0 ©o1F (@FAEIT AMSET5T SBESE SFgoe @ 7

(a) STAIT BT TR FT (b) Frericy erwrnE 5T i et |

© Predfis 2w Soags afesf® far | d P gere AR OSTEE SHIIET 1T |
B Seaco! A1t Sferaat :

(A) T (a), (b) 1= (0) (B) 7T (b) A= ()

© @9 (a), (b) 1< (d) (D) @9 (b), () =M= (d)

PP Freia oFia fNUBa (1 (SRS STRCATH SBgolef (et ?
(@) JFIE BT TIZT FAT (b) PFreoE aR FreE TEeE & w0
© Fredis Sewe g ofsfar oear d FrEie 9Ed S St (Y e

BH &S0 (@R AT |
A)  BY(a), (b) 93 (0) B) BY(b)9IL (o)
© BY(a) (b)93R(d) D) BY(b),(c)93R (d)

T &6 HFHAT Motivation in the teaching-learning situation ™ HEfd @1 ?
() T G WISl BFH |

(b) GrcErn SifEERE! o W A |

(©  UTHE JoE WS TSI SEH S |

d)  wEE TR e feErE gafai e |

MSiE! AT 9R el g’
A)  (a), (b) 3R (c) 1A’ IR B)  (b) 3T (c) ATA’ &R
©  (a),(b) 3T (d) A’ &R D)  (b), (c) I (d) 3Tt A

foreror-fonen-wifta’ % &= § freAfafed wm-ar o w1 gad Tewagut Herd § 2
(@ TRREsTE

(b) Toreneff & g1 @& Y FeR KT

(©  Toremefl =it TAINTaT ol Iuge Ao LA |

(d) Toeneff =6t & o 9fd 57 @l Sl =R w1

aﬁwaﬁgﬁq:
(A) e (a), (b) 3R (c) (B) A (b) 3 (c)
(©  dd (a), (b) AR (d) (D) HFA (b), (c) AR (d)
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16.  Which of the following are the most important techniques of motivation in the teaching-learning
situations ?
(@) Frequentuse of punishment (b)  Setting of goals by the students
() Properfeedback of student’s response (d)  Blame the students for their fault
Find the correct answer :
(A)  (a),(b)and (c) only (B)  (b)and (c)only
© (a),(b)and (d) only (D)  (b),(c)and (d) only

17.  «fSFEas RSP SPNET TONCE [NFHF (@0 830 I I68 I9W ©fe Seoet’ bt @Res Rpreet it
T ?
(A) T e B) 7 eI ©) T3 T (D) T I

17.  WHHIER IR SPEF 5 Tio [P @FF S0 I8 39 @pshog giier” a3fh @fies
TR AT TR 7
(A) O BreT B) 7 JETHIE © TG IreTHIe (D) (CTE PIeT

17. oA Srmamaf SR sifese e @<l 991 “Identity Vs Role Confusion” STRZE! AT HiHT ?
(A) T @ TETEREE () S<wAHAfEn ©) S< W™

17.  URHHA 1 foeh™ 1 W HHE &1 T o STTER T o1 TR H ' afied 59 (vs) i sTeqeawad)’ U afvrse
w9 H fiyerar 82
(4) e ®) I e © SWRREE  ©) FRREFE

17.  According to Erikson’s theory of stages of development in which stage, the “Identity Vs Role confusion” is
found as characteristics of development ?
(A) Infancy (B)  Earlychildhood (C) Laterchildhood (D) Adolescence

18.  OSH ST H@ P GIRIIRS T G178 (FHRIT ST W7y 7

UPT-19/P-11/Q

o

@) SROIRE TS Aghos A SIE N TR 2’5 SAqphos Teifes St |

(b) SRR N T SRR ST |

© IREIET S S NP SRARSEIT TS |

d) SRERT 0z SRReT 5T (off |
O [RFFCoT 1S Sferaat :
@A) (o)== (b) B) ()< (d) O (=) D) (2= (b)
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18.

18.

18.

18.

QPG TSP MRS U7L BRYRS 5910 [Hba (1 Sheafer 87 2

() SRR 2 TATpled HRHS SRET U3 BRIRS ToT T ghod TL515e SRET |

(b) RSB T 58 SRYFesEr S|

(€ RSB st 58 SRS el S |

(d) RSB = IR RS 5o fofa |
NSERUCHITEG
@A) (0) 93 (b) (B) () 93 (d) ©  (©49R(d) D) () 9= (b)

Y g 38T (Emotion) 3TRI TEISTE T (Sentiment) 1 G TR s SwREm oR -
()  SATETHR WA AT 7al ST MEISTE A== 6 @r<ifaf e 78t

(b)  SATETHRT SRFT ST AHISTE A= A< )

(€ TR IRFTSTHE SR IS A& S

(d)  SATETHR e TiAE Tfe faen

IR fRTaE g’ -

(A) (o) ¥ (b) B)  (a) ST (d) © (¥ () D)  (a) ST (b)

ol weh =afaq =1 st SR ey Teeh o et s sfa 35 €2

@) AT guE STNfd 1 Al steRen iR wawe ¥ STYfd 1 Gfed e |

(b) AT UL TR TR Jreaweor STErE

©  STaT gug Afd SR WEyeT S € |

(d) TS Y AT H T ER T |

s faehed &1 g fafae :

@A) (03 (b) B)  (a)FR(d) © (©3IN(d) D) (a) R (b)

Which of the following are correct statement about Emotion and Sentiment of a person ?

(@)  Emotions are uncontrolled form of feelings and Sentiments are organized form of feelings.
(b) Emotions are permanent but Sentiments are temporary.

(0  Emotions are acquired but Sentiments are inborn.

(d) Emotions are the main base of Sentiments.

Choose the correct option :

() (©and (b) ®)  (a)and (d) © (©and(d) (D) (a)and (b)

UPT-19/P-11/Q
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19.

19.

19.

19.

19.

STHIRIS YeTs Wit 27T

(A)  TITEOF Fremas e srEfmwse! fFoT 317 |

o Va

(B) FreT JBHCE STFen I el T |

© fAAE AW IR Bfa-RAR NiF el a7 /TS |

(D) PreRa TGS STireTss 8 Yorsiaq ST |

STHEST® JeTsRIA 2
(&)  ITFCF FREMIET ST S wFe! e ST

(B) FrFRET 2T SFCETT S [T 47|

© fIEYE SMoMitTd S Rra-Rrald NI o FT |

(D) FreRE SIS STRFETE 81 Yol F41 |

Summative FHTT ST -
(A) TG GETTE BRI 96 A S

(B)  HIciieTs AR SFTRESRTEA STHERATA HTERE! e ™
©  GEFA T BRI e TREERRA JHE! fafw
(D) el SERM SafETe STEERAR SrEE GHrer Qe

Summative Evaluation ® :

(A) STt ST T fen YeM % 9 H wricean i ol )

®) T e 1 yrEw H wherdT 1 ®R 0 S |

© TR e HT1 BTH-SE 6l A U & |

(D) Toe o o1 AR | FheTdn 1 W Jedich LT |

Summative Evaluation implies :

(A) Judging the performance during classroom teaching.

(B)  Identifying level of achievement at the time of starting of the academic year.

(©)  Judging the students for remedial teaching.

(D)  Evaluating the level of achievement at the end of academic session.

UPT-19/P-11/Q
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20. ©EF (@O SYfAE IfES MR ovae O 93T 7

(A) [ bt gerarR eifs Sferaar if | B [ bt sTEEenyers S |

© fEET @Bt SIS o | (D) = QO (Toga I |

20. fAea @G sy Cifes RIrsId ovE 9w 79 7

A)  [Irser @B ga {5 @ T I | B) fASrET OFH TREBTEeTE F |
© ST @S TS o O) FErwT 9F6 Fogyes I |

20. TEEM T91 MM A ens ARfESRET™A (Supervision) 9R oY 72T -
()  TEfafREE qeY TRte figama g (B)  AAfafSREEn HE SHSE ST e
©  rafafsrgHEn 9ma g fafemm (O)  "ArafafsREEn qme SRR g

20. frAfafEa sF-w1 sy SAfaen R0 1 &5 ¥s Tal © ?
() e T YR i e Fehter o1 & |
@) e U wedifiarere i |
©  Ti&u T wHfSes e |
O) R TE Aga w1 wE |

20. Whatis not correct about modern educational Supervision ?
(A)  Supervision is a fault finding activity (B)  Supervision is a cooperative activity

(©) Supervision is a social service (D)  Supervision is a leadership activity

21,  HCAE (STH5-T N(wo (BT FleTg Iy 5 2
(A) 113239 #1918 29 (B) 123%3< 7I{T 18 I2F
© 123%IF #1qT 16 I5F (D) 13 3%IF 7I[7 18 I

21, SIHE (SN0 Mo (SCTF FIET IPimT 5 7
(A) 11 I (A 18 I (B) 12 I (VT 18 IF
© 12 I (U 16 I (D) 13 I (VS 18 I%F

21.  Ernest Jones 1 sfesa st (Adolescence) T EEAEEIRICICIRE
(A) 11 STERAHE 18 SER (B) 12 SERHA 18 SER
© 12 SRR 16 SER (D) 13 IERHRE 18 SR
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21.  Ernest]Jones Ed TER fereiireree =t 31T§Fﬁ'5ﬂ foRat 82

(A) 1191 4§18 9t (B) 129 H18 ¥

© 129 |16 9 (D) 139 § 18 ¥
21.  Whatis the age level of Adolescence according to Ernest Jones ?

(A) 11 years to 18 years (B) 12 yearsto 18 years

(©  12years to 16 years (D) 13 yearsto 18 years
22. RO FiTe Wbt FRYE SoTe Il (@RI SHoniE S =27 7

(@) QT 3sifFe STt

(b) TR SGeToR STHTS]

() SIRLATISIT STTT

(d)  STIITSIS SIS STHT]

@ SraIfNSITeTela Sopt

O gt aft Sfaeat

@A) (@), (b) =1 (c) B) (@), ()™=(d)

© (@), (b),(c) (d) == (e) D) (b), ()= (e)
22, CFCTRE B OFG Py 706 eTT @ SISt SFTT 7 7

@) CIF TFS STt

(b) VAR SGeTeld ST

() I AT TSI

d) SIS ST ST

@ SN STFITe ST

& b @R ANS |

&) (@) (b) 4R () B) (@), (9 (d)

© (@), (b)(0) () 9 (e) D) (b), ()93 (e)
22. I WA W T S MR €A el JITE Sl Hi i S 2

@) SRS

UPT-19/P-11/Q

(b) T AR ST

(©  TEAEE e Sl
(d) SIS AR S

(€  TMaf smfereTa TEAI S

MR IR TR«EE 9rg’
(A (a), (b) 3 (c) ®)  (a),(c) 3 (d)
© (), (b),(c), (d) W (e) D)  (b),(d) W ()
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22. foreiR st  forglt we fomg) o0 freAfafaa om-df gaenstl s e e ged § 2
@ a9 wmEn
(b) HFAHE Hehe hi GHE
()  STIUY FeIUTdl hi THE
(d) G HHESH S G
(€  SATCHIHI shl HHE
Y5 faered 1 gt fafaa
@A) () (b) SR () ®) (2 (@)
© (@) ®)©) (d)3R(e) O (b)) ()
22. Inthe period of adolescence, which of the following problems are faced by a child ?
@  Sexrelated problems
()  Problem of mental complexity
()  Problem of Delinquency
(d)  Problem of Social adjustment
()  Problem of self-dependent
Choose the correct option :
(A)  (a),(b)and (c) (B)  (a),(c)and (d)
© (@), (b),(c),(d)and (e) (D)  (b),(d)and (e)
23. ©oTo @007 i Frecs Rogts Tafes cvas &% 7
(A) FA-TAIF A FTSIT SR FCIIT S ST T KBS T2 F7 |
(B) TINISIS FresoH @y ey oie ga-graree AT |
© PFEE Zagrals SIS SRS IE 286 Fi ST REag Sorgiiq |
(D) FrEFIT FEPIER AFHI SIACS SR 2 |
23. 067 @A W Frvcer RSRATS smfed ova um ?

UPT-19/P-11/Q

A) = nﬂ-%zl\l(."(.d SFTed JIRMART FIICAT QIR SIS SIS CHa SRS 4T

B) e Fres @ TfeT W3 ga-grakr SET |

© Fres ga-gaima ST i 986 I AT RTINS SAgreT FE |

(D) FPSCeT FISITET ABCHI NILTT FIICAT 3T |
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23.  TRMEM o€ HAHA Heuristic method of teaching T R HRfY -
(A)  TEEERE! SIS GHIHAE FeerE TR e ST S Thee 8
(B) UG WUAE ®HRINTRA S Fio SR HIIHHRR T ST
©  HRIFTRE o ST wfee hRE FEERR fameTe fefemm
(D) RIA™ EHIHRRE! A A8 faeifEs Aag
23. frfafaa sm-dt i feo o1 egfifes (Heuristic) Tsfa w1 83§ g5 72
(A)  DH-BEN HI AR T Y STIREU HIAT SR THET FHILM Qe § Tl 6 |
(B) it a1 § e I s1ferek Wfohar 3R B=-=mN *i ke e |
©)  Toreren bl SE-SEN % TG H U8l 9 T hlch A1 fAoFers] shl ST HLAT |
(D) Teraror =1 e TR Yok W R TR S ¥
23.  Which of the following statement is correct regarding Heuristic method of teaching ?
(A) Engage the students actively and help them to get solution of a problem.
(B) Inclassroom, the teacher is more active and students are passive.
(©)  Teacher presents pre-prepared materials in front of students.
(D)  Teaching activities are conducted with a project.
24.  Prog Rre fiebhpR Sie 3019 @ EmnrR il ('
Py R ez [SIRIANPE]
() ©FEF R () TS o ST AR |
(b)  SIBAG [ (i) PREE AT FILI ATE |
(€ S e (iii) PRIE W SJoq I |
d NNRE e (iv) TSI SICEBAS ©is 517 91T |
B freTcor 1fs Sfaveat
@A) (@)-() (b)-(v), (c) - (iid), (d) - (i) ®)  (@-(v), (b)- (i), (c)- (i), (d) - (i1)
©  (@-(v), (b)- (i) (c) - (i), (d) - (i) D) (a)- () (b)- (i), () - (iv), (d) - (ii)
24. o7 RS0 MEQTeT €38 ©IF (@RS TeT (8T xeT :

UPT-19/P-11/Q

Freg e s (Sl AT
@) ©EE e ()  rY T FACS
(b) SIS [T (i) PR3 300o “IE
€ IR i (i) PR3 S S FE
d) s T (iv) 3 SICCTIBAR T fH0s fiea
& Oed @R ({9 79 :
@) (@)-(), (b)-(iv), (c)-(iii), (d)-(ii) B)  (a)-(iv), (b)-(iii), (c)-(i), (d)-(ii)
©  (a)-(v), (b)-(i), (c)-(ii), (d)-(ii) D) (@)-(i), (b)~(ii), (¢)- (iv), (d)-(iii)
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24.

24.

24.

T TR SR fafdR SR & ST hRE! M/ SIS -

e IR St fafemr
@@ A SrmEEE (i)
(b) TS BT SR (ii)
(© T aEfeRi e (iii)
(d)  <EER ST (iv)
TR AR TEeEE W’ -

@A) @), (b)-(iv), (c)-(iii), (d)-(ii)
© @) (b)-(3), (c)-(ii), (d)-(ii)

GATTRIT

ey g i W= g

T HRA AT S

T T SIS 1l g

1 T WA SRl Al @

B) (@), (b)-(iii), (c)-(i), (d)-(ii)
D) @), (b)-(ii), (c)-(iv), (d)-(iii)

forg fohra 1 TR wiE SR sen dftre wE foom o §1

forey ferehrar <6 weegd
(@) T <A1 foremtd (i)
(b)  HIHTEH foaehd (i)
(©  3Tafiren fawm (i)
d SR fowe (iv)
U5 A 1 AR et :

@A) @), (b)-(iv), (c)-(iii), (d)-(ii)
©  (@-v), (b)-(i), ()-(ii), (d)-(ii)

aferee we

TR T S w1 B |

forg] Yot =t Wepa B

oY) T ST LT R |

TR ST H 3791 o Hehall © |

B) (@), (b)-(iii), (c)-(i), (d)-(ii)
©)  (@)-(0), (b)-(ii), (c)-(iv), (d)-(iii)

Aspects of Development of a child and characteristics are given as :

Aspects of Development of a child
(@) Language Development
(b)  Cognitive Development
(0 Emotional Development
(d)  Physical Development
Find the correct match :
@) (@- (), (b)-(iv), (c) - (i), (d) - (i)
©  (@-(v) (b)-(), (o) - (i), (d) - (i)

Characteristics
(i)  The child ask questions
(i)  The child is able to walk
(iif)  The child feels happy

(iv)  The child takes part in discussion

®)  (@)-(iv), (b)- (i), (c) - (i), (d) - (i)
©)  (@)- (), (b)- (i), (c) - (iv), (d) - (ii)

UPT-19/P-11/Q
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25. (OIS BT (20T OO ‘YR IF ATTAT’ (Storm and Stress) FIeT - O ST (FIH (FlgeT ?
(A)  SIHE (T (B) BFAT T )  JIoEA D) FT

25. (FCIE 1T 6 S ‘AT QT2 G’ (storm and stress) 9T T - O FAM & JCeTiizrets 2
(A) ST ©IT (B)  OoAel 34 © SGH D) T

25.  ‘Adolescence is a period of Storm and Stress’ o YT GR A ?

(A) S SEE (B) T T Q areHd (D) THHR

25. ‘fomeiRrerEen’ € UE W SR WeA’’ (Storm and Stress) A § - $9 HYF I fohe gl o1 ?
(A) =S (B) T 7 ©) dEEH D) =R

25.  Adolescence is a period of “Storm and Stress” - Who said this statement ?

(A)  Ernest]Jones (B) Stanly Hall (© Watson (D)  Skinner

26. 817 ifoq FReoT7eTa WSTe Ige! Fmhs Fered] FAICeT QS PR :

()  FF ACHI BINT FTeTCST RICRD 3 WCATCIS IS FIF AT |

(b) EIIG)FBTETHI NG TRRIT FI AN |

©  fTrew Fesdr sTofers aaae o ST S $°3 st |
d) Tmon ofss|fE Sre s Sofeet i eTies |
B RGO IS Sferaar :

@) @ O3 B (L (b) ©  @<E(b) D)  (b), ()™= (d)

26. SReifica FemE TS Il Jahs Feras] FAC X6 GFCH FrFd

@) FTATHT I AR @y O IS I[EG F400 21 |

b) WIRG/FBTEA A TIPS 27 |

© fIrer Fredl sSe@s RT3 SIS FUT IeT0e 27 |

d) Hrov afsfaar gz s Soret s 23|
um g @A 2

@) @ [0)49R()  ([B) (29R(b) © @<= D)  (b), ()9 (d)
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26. WY ARG e 1o wRA SE fogiy g e wRIAES e Aerean 9 BRI -
@) TR BfeSeET WeATST THME faER T M@ gt His g |
(b) THISE! T HI AR |
(© @ foeif R SIS SRR STRI Sife @re g |
d) T faaif feedback B TR G SHH B |
TISHTRET A=A R RS w1 fog -
@A) @ OFQ B (2 (D) ©  (b) ¥ 4R D)  (b),(c) ¥ (d)

26. iTia weae g o off9 e ugfd s arheamfved s % forg we fuees
(@) TR YT T AT TfeT Tk T8 AN Dl AT F Gohell & |
(b) TR AIE FATH TR AT TG |
© e faso o el SRR $iR Sty o & wifee
d) e wieaw IR waffus 3ueer 31 =fen |
s faehed &1 g ffae :
@) (@O (B ()R (b) © e (b) D)  (b), () 3R (d)

26.  Tomake Lecture method effective among the slow learners, a teacher :
(@)  Should not use Voice Modulation as it distract their attention.
(b)  Should use Blackboard sufficiently.
() Should use minimum teaching aids and maximum talk.
(d)  Should provide less feedback and more advice.

Find the correct option:

®) @ ®and© () (@and(b) © ()only ) (), (c)and (d)

27. ©eIR (PO R 15T ¢‘5-E Fraa 0T @mis (yediEg 2

(A) Tifoe 34T (Engage), SNCqIT F9T1 (Explore), I35 ST (Explain), *w kg 7l (Elaborate),

YT 4T (Evaluate)

(B) Tifbw 4T (Engage), @@ <1 (Enlighten), oS a7 (Express), [<*m K9 7 (Elaborate),
YeTsII <1 (Evaluate)

©  BYIT F91 (Explore), 14T ST (Explain), A4 F91 (Express), Je31I9 <1 (Evaluate),
s (=T (Emergent)

(D) ©ifg® F9T (Engage), 331451 97 (Explain), 4= F7 (Enlighten), 9% $7 (Express),
e (21T (Emergent)

UPT-19/P-11/Q 32




27. g @AGe [Reg stiyaaitg ¢ 5-E s smmet” > 6 ®% &eof (Rl T 3R 7

(A)
(B)
©
(D)

e T, SIIF 1, AT BT, 7 {7 (rsqt, gerr w4
e 41, a9 F1, AT F1, 7w g (s, yevse s4r
S[CIF FT, T FAT, AT FT, JoIRA F7, SRS 287

Y@ a1, T[T I, A F1, AF 1, SIS 26870

27.  TRMEM o6& HTHA LURER (Constructivism) 1 “5-E learning model” 17 &R TeeE fafrerl -

(A)

(B)

©

(D)

BIRIEEIR] (Engage), Hieg (Explore), ElcEIREIE] (Explain), 'ﬂﬁlﬁ RRATETIAR (Elaborate), HHFE
(Evaluate)

BIRIEEIR] (Engage), ST G (Enlighten),'ﬁmml'q (Express), ﬂaﬁ TRRATATAT (Elaborate),
YHIIM (Evaluate)

HiGg= (Explore), ECEIREIC] (Explain), RRATETIAR (Express), A (Evaluate), SR
(Emergent)

BICICEIR] (Engage), EEeCIDEID] (Explain), ST QAT (Enlighten), TRRAEAE (Express), SERAA™
(Emergent)

27. frAfatea sm-1 fosed Teqare 1 ‘5-E fren ugfa oiea’ &1 s 9 9 feam €2

(A)
(B)

©
D)

=& @1 (Engage), 3T (Explore), SR T (Explain), fo&gd 99M (Elaborate), Te3ieh (Evaluate)

& @l (Engage), 995 AT (Enlighten), 9ehIRT s {AT (Express), foega ELE] (Elaborate), Feieh
(Evaluate)

STHU (Explore), SR ST (Explain), TehTel ST (Express), TeHish (Evaluate), Sfed B (Emergent)

q& @&l (Engage), A1&AT AT (Explain), 99& AT (Enlighten), Yh1 hIAT (Express),
3fed B (Emergent)

27.  Which of the following options correctly depicts the “5-E learning model” of constructivism ?

(A)
(B)
©
D)

Engage, Explore, Explain, Elaborate, Evaluate
Engage, Enlighten, Express, Elaborate, Evaluate
Explore, Explain, Express, Evaluate, Emergent

Engage, Explain, Enlighten, Express, Emergent

28. WARTS T I NARTS FHRSEFIC Tl To19 YRS (FIH0T O3z 7

(A)
(B)
©
(D)

UPT-19/P-11/Q

ITE FIS (2R SIS I AL SN WIS TS ita WS Fssascet 3T 3 |

NPT BRI HREAS N FE A1 A1 |

MHRF ISt M I8 Jelg oy |

N1 T8 SN WIS FEsirssia 3001 51019 ofsto saifFw |
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28. WHRE TS QI WA IS =91 et fAeed Yhesend @ Hih s 2
(A)  TERE FIFS 3T ST FAF AMWT GIL ARIP FRSISIF TR FIET S5 FIST A |
(B) WAPE TS QoI N FES (o1t® 1|
© WP FEsesq N FIES A6l e |
(D) TARE FEY Q3L TARE TSRS QTP SR S0 A=A |
28. TSR Hrafe SARI T Srafe fafiemt S e 56 7MY SRR 9R ST -
(A) TSR SEfEEr el Stsiis MReH! g™ ST I fSREmE TrEieni e omem @i 96 |
(B) I wEfE AR SFTRE TEsTR wate /= g |
© T wrafe fafieme el gataf e Tem we |
(D) T ETEfe SR T ArEfe T SR e S S e
28. HH(Ge w@Eed iR AHfae e fagm it A= fau T i § § S8 9 sug § 2
(A)  HFGE TR € GHMESH i 1 G R AHfas e faem 3 i e W S H
e
(B) HMfaE T fagm & fom amfas @ faa ged €1
€ WHfae @A fag™ & R AHfas W@ed § g9 9edi © |
(D) THGE @rRed iR AFfaes e foam Tw-gaRl & |1 grafdd ¥
28.  Which of the following statements is incorrect regarding mental health and mental hygiene ?
(A)  Mental health is ability to adjust and mental hygiene is science to deal with mental health.
(B)  Mental health can be attained without mental hygiene.
(©)  Mental hygiene affects mental health.
(D) Mental health and mental hygiene are related to each other.
29. AfSTH @FHER Sifea SN GIRRIIT Sz Ty 2w

UPT-19/P-11/Q

ARSTHI (FTIeTq Siferapt CIESL]
@@ fe7Ed () S e @ 5@ OoiE (e eereis I Fress
IR F|
(b) ofsma (i) IS RS /& g 9| fF@Fhe o 2°3 91 |
(0 Y9 (iii) OV WHR QS SiY fsig o1’ qife] Brefa FIT Y |
(d) foarsERd (iv) PR3 ISARSS ([olF @REPTR SRI¢F (58 F1T |
©g PeTcor I1fS Sfetas

@) (a)- (i), (b)- (ifi), () - (), (d) - (iv) ®)  (a)- () (b)- (i), (c) - (iii), (d) - (iv)
©  (@-(i), (b)- () (c)- (iv), (d) - (ii) ©O)  (a)-(iii), (b) - (iv), (c) - (ii), (d) - (i)
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29.

29.

29.
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HATSTF (FIeTT ST WIS BIHF SHIRAT (3T 3 :

Afsast @Friers siferst Sarzge
@) Shosad () SRIER ST UFCH Q@ O RRFeTo I S5 PR Wil
FE
b) afesmT (i) ZAST AW 73 R/d UFSH ©feT FFOR XS AT |
© gfewaa (i) = WYY R 5w (S QeTHICeT FT 0T |
d) THIEI (iv) P18 ASieafed (o ([@RFTERYR SIRACCR (68 F47 |
¥ N h @R 13 |
@A) (@)-(i), (b)(iii), (c)-(1), (d)-(iv) B)  (@)-(i), (b)-(ii), (c)-(iii), (d)-(iv)
© (@), (b)-(i), (c)-(iv), (d)-(iii) D) (@)(ii), (b)-(iv), (c)-(i), (d)-(i)
FEETHRE] WY SR Arar A SR s fafef-emm s -
List of Defense mechanisms Examples
@ TR YHTE ()  STTesTE YA B W S et 3y ety aram
HRIFTRE! T &M |
(b) o Seicema ffaifr—a (i)  SUST STASEE Al Y WUFER fshche@l |t el 8rl |
(©  SIfd BRAEAE (iii) ST AR T S Maf $< qH Sl e |
d) fomafy gm= (iv) 7T SRl TS SRARTRBRT STRGLIEhRE! |« s |
IR TG THiE! 9o’
@A) (@)-(i), (b)-(iii), (c)-(0), (d)-(iv) B)  (@)-(i), (b)~(ii), (c)-(iii), (d)-(iv)
© (@), (b)-(i), (c)-(iv), (d)-(iii) D) (@)(iii), (b)-(iv), (c)-(i), (d)-(i)
R&T I T A ST ST ST (S T 6
LT SHITTe hl Gt ST
@ &fagfd ()  oen H fawe Sreren et TR BT SHeh fatherd < fag feren =i
TSR T |
b) wfamE (i) ST foma H AR Uw o off TR # et el o9 ghar g |
© I (iii) T STSH AN foTaq SR I FHEH! el 2 |
d) TorTETR (v) Tomg) Tsfaes S o1 Sf¥Te WiE T TSI KA e ¥
(Identification)
T[S U ol FAR (hITeT
@A) (@)-(i), (b)-(iii), (c)-(1), (d)-(iv) B)  (@)-(i), (b)-(ii), (c)-(iii), (d)-(iv)
© (@), (b)-(i), (c)-(iv), (d)-(iii) D) (@)(ii), (b)-(iv), (c)-(i), (d)-(i)
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29.  Listof Defense mechanisms and their examples are given:

List of Defense mechanisms Examples

(a) Compensation @) The student who fails in examination blame teachers
for his failure.

(b)  Regression (i)  The student who is weak in English but good in
Cricket.

()  Rationalization (iii) The old man who always talks about his youth.

(d) Identification (iv)  Child attempts to acquire characteristics of Political
leader.

Choose the correct match :
A)  (a)- (i), (b) - (iii), (c) - (), (d) - (iv) B)  (@- (), (b)- (i), (c) - (iii), (d) - (iv)
©  (@)- (i), (b)- (i), (c) - (iv), (d) - (iii) D)  (a)- (i), (b) - (iv), (c) - (ii), (d) - (i)

30. ©efo A (@FIHEIT SFFFIT CFa® Aoy 7

() S AT ENFIST SAfETS Sl I T2 |
(b) AR A4f59fE amT FaT FET |

(© 3w @ Fred targ O Sifbet S |

d) PrEeR @R OB OB ST FaT 75T |
@ 35T St Gus @oFe Afee |

B Kog 1o Sferaar

@) @@= B () (D)L (e) ©  ®), @ DFFE) D) (a) ()= (e)

30. THC6 (M (FABE HYPFFFEF (F@ Aoy ?

@ O A CIfIFes AREeT S F41 23 77|

(b) AT AfSfFTr owT S =T 7T

© 4@ @I @F @ FrHe 36T 6 Siibet FIfs |

d) PrF @TePNE 9T 9F0T FE ST I - AT |

@© 9t e sREht eed e Afsde |

8= o @HT 7

@) @ @9 B (DI O (1) (DI D) (a) ()9 (e)

[OFy=10]]
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30.  TRMEM o1& F9F1 micro teaching T & 3TTee -

(@) oG R oRE AT AR T QAR S

by  wfesfe Araftherst el A s

(©  RRIATEE! WY Siell T e Hel e St

(d) TR BRIAR STeeE! TE QAR S

(€) S behaviouristic theory of learning T ®rE faen @rem =

IR forTel 9@’ -

@) (@) () I () B) () (d)(e) © B, DWE) O (@) W(e)
30. frAfafad sF-a1 e & a3 H g § 2

(@) ST UHd O HeT T TREw H STIRACH el fohal Sl ¢ |

b) TUTCHES HiSsE Y & foha S |

(© I8 AW o 7o § fao e wfed wr T

(d) T 1 I R Toh-STIRe el fohal T R

© o foren wiftq 1 sTreRvEme Tl W smeia T

s faehed &1 g fafae :

@ @D B ODIe O OODIE O ()R (E)
30.  Which of the following are correct about micro teaching technique ?

(@)  Itis not practised in real classroom situation.

(b)  Systematic feedback is not provided.

()  Itassumes that teaching is a complex activity.

(d)  Individual teaching skills are not practised.

(€  Itis based on the behaviouristic theory of learning.

Choose the correct option :

@A) @ (@and(d)  B) (c)(d)and(e) © (), (9 (dand(e) D) (a) (c)and(e)
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PART - II : Mathematics & Science
(Candidate has to attempt Part - II or Part - III)

[ Candidate has to attempt Part-II or Part-III which they have
given in their Application Form and recorded in the OMR
Answer-Sheet |

3. 8a=(35)2—(27)% R(eTa-INHX'T :

) 8 B) 60 © 35 D) 62

31.  8a=(35)2—(27)%3(eT a - Y WIH 3 3 ?

) 8 B) 60 © 35 D) 62

31, SIf< 8a=(35)2— (27)2 STHiect a T M ST |
A) 8 B) 60 © 35 D) 62

31.  Af 8a=(35)2—(27)2 ¥, a 1 HH &1 :

@) 8 B) 60 © 35 D) 62

31. If8a=(35)2—(27)? the value of a will be :

@A) 8 B) 60 © 35 D) 62

32, OIS, T UF GOl TATELF T 20% 1P 50% @R | ST 70T S 2T

(A 2:5 B) 3:5 © 4:5 D) 6:7

32, T30 TN 5 G0 ORI FLAF (AF TA@ 20% 97 50% @I | S LA 7267 SATS A

A 2:5 B) 3:5 © 4:5 O 6:7

SPACE FOR ROUGH WORK
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32. A sif-smmmen oA 9ed amfy sifrfgs wifd 20% SR 50% IR SRise Sf-<r1 HiAf &9 S
S
A 2:5 B) 3:5 <© 4:5 O 6:7

32. 3R T WA, 3T T TG H&A o 0 H 20% 3T 50% AT & | 61 S H&A3A T ST BT
A 2:5 B) 3:5 © 4:5 O 6:7

32. Twonumbers are respectively 20% and 50% more than a third number. The ratio of the two numbers is :
(A) 2:5 B) 3:5 © 4:5 DO) 6:7

33. QDI 9939 [OIfeT IAF QBT (AN1eTFa 2B 5 | PRes Seas e 2'3
@A) V3:am B w3 © 6:5w ) Jm:6

33.  IFID T (cube) FPSER CFATET QH( (ST PSETR CFAT(ET SN | S SNSRI S F6 7
@A) V3:am B w3 © 6:5w ) Jm:6

33.  HMY M (cube) WM Wil 3R WY S@H SHIR I Sifersii S8 STl foeRi Ao S S |
&) 3:an ® 73 © 6:5m O Jm:v6

33. TS O 1 USS &hel SR Tk Tell i TS &5l THM 1 Sk STFa ol STIUTd I
& B:in B 3 © 6:5m O =6

33.  The surface area of a cube is equal to the surface area of a sphere. The ratio of their volumes will

be:

@) 3:in ® w3 © 65w O 76

UPT-19/P-11/Q
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34. 1.101001000100001....... STLTICOT

(A) OO Frolfa STt (B)  abT 7fef 51T
© b sifsorE sieat (D) OO Spoifaemg sigast
34.  1.101001000100001 . . ... .. TG =

A) a3 Frelfas et

B)  GFfG e STt

© 95 AT T (rational number)
(D) 3B AT AT (irrational number)

34.  1.101001000100001 f~<HRT Sl
(A) Tt stfm (B) S Al
©  TFSiEen T fsr (D)  TFSiEe i3 sifm

34. E®A11.101001000100001 . . . . ...
(A) T Yehd H&AT (a natural number) B) Ts Tﬁ HE&AT (a whole number)
(C) U URHI G&A (arational number) (D) Tk 3URHI H&AT (an irrational number)

34. Thenumber 1.101001000100001....... is:
(A) anatural number (B) awholenumber
(©) arational number (D) anirrational number

o0

o1 PN 2T 7

(A) 19T IR (B) W& A7 © 34 (D) fsHad

35.  Ff% BT polT [T M o Sho! 13T I W, To68 HOIOR 5o

e

35.  Aftt @35 BIfTSEd (cylinder) T 3025 W3L Ttho! fa@d T4 5, S PIfTGRTGI 5P6ER (surface)
THaT 6 A 7

(A) 19FF2E@G IR (B) U3 AFE © famd (D) o

35.  TMY TG G Wed S ST 9f Siem W Sl s | wnferan S&ei s 2
(A) IJTMAREEA  (B) OHS gREA © TEE S (D) T ST
SPACE FOR ROUGH WORK
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35.  Afg U faeiex =t oo amedt iR S=mg gt o <1 9, o« Taciet 1 g &shet fohaan g 2
(A) Tuni®SECN  (B) TH W © FT ©)  fa

35.  If theradius of a cylinder is halved and height is doubled, then what will be the surface area ?
(A) Increased by 1 unit? (B) Thesame
(©)  Double (D) Triple

36. 12 — 75 + 27 -INE RS :
@) V12 ® 0 © 3 D 23

36. 12 — 75 + 27 YN TS ?
@) V12 ® 0 © 3 ®) 243

36. /12 — 75 + J27 T HESEE
@) V12 ® 0 © B ® 23

36. 12 — 75 + V27 FAAT
@) V12 ® 0 © 3 ®) 243

36. Thevalueof /12 — /75 + 27 is:
@) V12 ® 0 © B ® 23
627 _

37. N
@) 30 ® 6 © o3 D)  eoiva @Bie 721
627 _

37. N
@) 345 ® 6 © o3 D) TolwR Gfbe T

SPACE FOR ROUGH WORK
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5

A) 39

V27
3. S5
(&) 349
6327 _ R
243
A 3J9

37.

e

(B)

6

©

©

©

93

93

ENE]

D)

D)

(D)

TSI HEl 7T

T ot Tl

none of the above

38. M QOIeT eT@eF 9 A(1, 2) = B(6, 2) 2, (o0 AB (F41Tle :
(A)  IATeNT @ TF T y =2
© TTeiF @ TR NFITx =6

38.  Ffi USH Fee@UIF 9 A(1, 2) 932 B(6, 2) =, ST AB @211
(A) STeNF @ TF AFIT Yy =2
© SIgNE @I AT 1 = 6

38.  HIHE el giE fa=1eT A(1, 2) 3T B(6, 2) ST 376t AB BIGIST S |
(A) TGN, o FEERT y =2

(© TG S FHreE v =6

38.  afg W Hiel W@ &1 fag A1, 2) 3R B(6, 2) €, 91 AB @ Bl
() &fast T foraer TR § =2
©  &fs Y foren T © v =6

38.  If points of straight line are A(1, 2) and B(6, 2), then the line ABis:

(A) Horizontal line with equation y=2

(©) Horizontal line with equation x=6

TeTx (@7 TR STHFI gy = 2
ToTg (@ AT NI x =6

TR (@A I TN y =2
SEw @A T STNFAT 1 = 6

IR i@l o A&y =2
TR gl 9 THFART x =6

Vertical line with equation y =2

Vertical line with equation x =6

FeateR Y@ et T § y=2
FeATeR T e T € v =6

UPT-19/P-11/Q
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39.  17abc, 34ab?, 51a’b -F KT ST 2757 :

(A) 17abc (B) 17ab © 17ac (D) 17a%b2c
39.  17abc, 34ab, 51a2b G ST TLAHP 26T

(A) 17abc (B) 17ab © 17ac (D) 17a%b2%c
39. 17abc, 34ab? 51a2b 4 7l fegAfifan smi :

(A)  17abc (B) 17ab © 17ac (D) 17a%b%c
39.  17abc, 34ab?, 51a2b I GHII 794 ¢ :

(A) 17abc (B) 17ab © 17ac (D) 17a%b2%c
39. Common factor of 17abc, 34ab?, 51a2%b is :

(A)  17abc (B) 17ab © 17ac (D) 17a%b%c
40.  =f% GOT (SMTeTF ISP GR3 F1 2T, (B0 [OFIeTT ToiTs fema 2°7 7

A 1:2 B) 2:1 © 1:4 D) 4:1
40. % GFOI (ST RN AR F1 2V, B ST DS CFAT(ENR TS F6 2 ?

A 1:2 B) 2:1 © 1:4 D) 4:1
40. HFY @A giE GEERa! T WA S Sf 9 @it S sde S ?

A 1:2 B) 2:1 © 1:4 D) 4:1
40. A e il skt T2 AT R T S, e gt &5t Skl STIATd fehe=T1 81T 2

@A 1:2 B 2:1 © 1:4 O 4:1
40.  If the radius of a sphere is doubled, then what is the ratio of their surface areas ?

A 1:2 B) 2:1 © 1:4 D) 4:1

SPACE FOR ROUGH WORK
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41. 90T @51 257137, 10 7135 SN 5 43%F &l 1: 2: 3HTE® Iy | Tt @9ICERS 1o 30 53 3107, (6@ @16
fuq 5 of2wie gar ey ?
(A) 50 B) 100 © 150 (D) 200

41, OFf ST 25 2T, 10 ST QL 5 2RI [aid G 1:2:3 | % 191 aiih 30 BeT A, O
1B re T3 fet 5 2RI JuT ST 2
(A 50 (B) 100 © 150 (D) 200

41, TG TAETE 25 T, 10 T SR 5 St en S Wi 1223 ® S@mEE € 1 i gAmme T 30 1 g
ST FATATE 5 I S e e € 2
(A) 50 (B) 100 © 150 (D) 200

41, UHTH, 25 T, 10 FE1 SR 5 W R ORI F UG 1:2:3 71 AR ITH FAL30 T, 79 S H 5 T ot fohar
gl =t ?
(A) 50 B) 100 © 150 (D) 200

41. In a bag, there are coins of 25p, 10p and 5p in the ratio 1 : 2 : 3. If there is ¥ 30 in all, how many
5p coins are there ?
(A 50 (B) 100 © 150 (D) 200

42. @Gt ITQQGN P01 W9 x cm, (x+1) cm 3 (x+2) cm, W\Q\%TCET SN BT x-S WF 2T
A) 5cm (B) 3cm © 6cm D) 4cm

42.  OFfG fagTs IRBfTd 9 x cm, (x+1) cm W3R (x+2) em, FagSE T 20T 1 - QI T 31
(A) 5cm B) 3cm © 6cm (D) 4cm

42, HIFY STETLHT STET-2rmRA JET R x cm, (x + 1) cm 3TRI (x + 2) cm, STRETTHT STRT1- 1T STt
x T | S e S
(A) 5cm (B) 3cm © 6cm D) 4cm

42, TH TR0 & &l & FEE x cm, (x+1) cm R (x+2) cm T SR O IHEON T, 99 x H AE
B
(A) 5cm (B) 3cm © 6cm D) 4cm

42.  Lengths of sides of a triangle are x cm, (x + 1) cm and (x + 2) cm, the value of x when triangle is right-angled
is:
(A) 5cm B) 3cm © 6cm D) 4cm

SPACE FOR ROUGH WORK
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43. (-1~ l-3uF w2

@) 1 ® -1 © o0 ® @'

43. (-1 l@guFe ?

@) 1 ® -1 © o0 ® @'

43.  (=1)" 17 A S ?

@) 1 ® -1 © o0 ® !

43. (-1 lHHAFE:

@) 1 ® -1 © o0 ® !

43. Whatis the value of (—1)~1 ?

A 1 ® -1 © 0 O @!
44. M 5—3x - 4= Z—SX OB 2x —7=?
19 13 13
@ 3 ® ~ 9 © 0 ® 79

5x 2x
44. M 3 4= 5 X, 0@ 2 -7=7

19 13 13
@ 3 ® ~ 9 © o ® 79
S5x 2x .
4. g 5 4= ?,Tvl'l'aﬁ?ﬂ@_vﬂh—7= S ST ?
19 13 13
@ 3 ® ~ 9 © o ® 79
SPACE FOR ROUGH WORK
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44, Ife S _ 4 = 2_X,F|T°[2x—7=?
5

3
19 13 13
S ® ~ 79 © 0 @ 75
5x 2x
“. - 4 = 5 then2x—7=7?
19 13 13
@ 13 ® ~ 9 © o ® 79
Y
45. - S, y IR R’ :
1 1
@ -1 ® 1 © 3 ©) ~3
45. _—?)y IS, y 97 7251 3(A
1 1
@ -1 ® 1 © 3 ©) ~3
45. %y SrEma Wi i 77 erewamn S ¢
1 1
@ -1 ® 1 © 3 ®) ~3
45. % I W, i U T :
1 1
@ -1 ® 1 © 3 @ =3
—1
45.  Coefficient of y in the term 3 is:
1 1
@ -1 ® 1 © 3 ®) ~3
SPACE FOR ROUGH WORK
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46. 851<3 fbaCGE %17 PM - WA R

(A) 3cm (B) 4cm © 5cm (D) 2cm
46. ToRR foaf (IF PM - 93 W ({7 4 7

A) 3cm (B) 4cm © b5cm D) 2cm
46.  TISISE B HeMR®E PM 1 Al g |

(4A) 3cm B) 4cm © 5cm D) 2cm
46. TR feu T SRR W, PM 1 AH B0 :

(A) 3cm (B) 4cm © 5cm D) 2cm
46. Intheabovefigure, PMis:

(A) 3cm B) 4cm © 5m D) 2cm
47.  «Brpet, OB F I GBI FLITT B ST Thw! STNF | BRes Sedd Sq9e 2°3 :

A 4:5:7 B) 3:1:2 © 1:2:3 O 3:2:1
47. o5 Sferaa, 9Ff6 F S (IAT AT (oI §N W3R Sho! SWHF | BItE S HAFAS F 7

A 4:5:7 B 3:1:2 © 1:2:3 D) 3:2:1
47.

T 7Y, A9 T1YA T (cone) TR @16 SIGH( SIET 3T ST §HM, oTee foardRfq st €5 sramn
ST

A 4:5:7 B 3:1:2 © 1:2:3 D) 3:2:1

UPT-19/P-11/Q
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47. U oeiex, TF v TR T Tellg 1 YR TR S THM S| SHeh STIaH ol 3191 8T

A 4:5:7 B) 3:1:2 © 1:2:3 O 3:2:1
47.  Acylinder, a cone and a hemisphere are of equal base and have the same height. The ratio of their volume

is:

A 4:5:7 B) 3:1:2 © 1:2:3 O 3:2:1
48.  {100—(99)%} x 100 - NI &’ :

(A) 10000 (B) 9900 © 99000 (D) 1000
48. {100 —(99)% x 100 UF W F© ?

(A) 10000 (B) 9900 © 99000 (D) 1000
48.  {100—(99)%) x 100 T HF1 S :

(A) 10000 (B) 9900 © 99000 (D) 1000
48.  {100—(99)°} x 100 T AF ¥ :

(A) 10000 (B) 9900 © 99000 (D) 1000
48.  The value of {100 —(99)°} X 100 is :

(A) 10000 (B) 9900 © 99000 (D) 1000
49. ©EF AL fowa® (@003 T Rerss 7

(A) 23879 B) 23175 © 11722 D) 77251
49.  IER STRATSAT qx5 @A 3 ey [Rerss 2

(A) 23879 B) 23175 © 11722 D) 77251
49. TR B SATSHIBRIA TSI sfsl HFHE1 3 T TSI 2

(A) 23879 (B) 23175 © 11722 (D) 77251

SPACE FOR ROUGH WORK
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49. fTrAfafaa gensii § § sF-1 3 g7 favm gm ?
(A) 23879 (B) 23175 © 11722 (D) 77251
49.  Which of the following numbers is divisible by 3 ?
(A) 23879 (B) 23175 © 11722 (D) 77251
50. =M 32=2X 7y, X -I WA T :
@ 1 ® 2 © 16 O) 5
50. WM 32=2X 3¥; B X -9F I F© (< ?
@A) 1 B 2 © 16 D) 5
50. Sfg 32=2X SR 3teen X 1 °E1 S ¢
@A) 1 B 2 © 16 D) 5
50. Afg32=2X ¥, X % WM BT :
@ 1 ® 2 © 16 O) 5
50.  The value of X, if 32 = 2X, will be :
@A) 1 B 2 © 16 D) 5
51. it 4007 IBF RergeTs, 5001 I8 TETIR STHIF 2, (O 1 I ETF6AT oI 27 :
(A)  25% CSTFB (B)  20% CSTIFEI Q 25% e D) 20% s
51. % 4007 TSGR RargeTs, 5007 TS0 @yend SN 2¥, B[ 6 T T ol F0 21 ?
(A)  25% (ST (B)  20% TeTIFIA © 25% e D) 20% e
51.  SIfS 99 40 SHIGH HEM SETSH, HH 50 SHGH SEHA™ SS90 SR, STell Javhl SR el S

SIS ST |
(A)  25% TEl (B)  20% TE ©)  25% TR (D)  20% TR

UPT-19/P-11/Q
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51.  afg 40 agsil o1 fosht a1, 50 aEgsil & %a Yo & UM T, T8 1Y A1 T o Faerd 20

(A)  25% JhEH (B)  20% JhHM © 25% W D) 20% <49
51.  If the selling price of 40 articles is equal to cost price of 50 articles, the loss or gain percentage is :

(A)  25% loss (B)  20% loss © 25% gain (D) 20% gain
52,  (m, —m) YOI GeT (@IFC0T TS SIS 2

A) x=-m ® y=m © y=x D) x+y=0
52.  (m, —m) G Fies @@= SWwaafiee sefEs 2

@) r=-m ® y=m © y=x @) x+y=0
52.  (m, —m) fa<ien TREM 99 HFE THrREE e ?

A) r=-m ® y=m © y=x D) x+y=0
52. (m, —m) fog & T SF-H1 FHR sTafied € 2

@A) x=-m ® y=m © y=x O x+y=0
52.  Onwhich of the following equations, the point of the form (m, —m) lies ?

A) x=-m ® y=m © y=x D) x+y=0
53. 83x2%-IWIF R :

A) 167 ®) 213 © 210 (D) 84
53. 83x24IWH TG ?

@) 167 ® 213 © 210 O 84
53. 8% 24 {4 A SN |

A) 167 ®) 213 © 210 (D) 84

SPACE FOR ROUGH WORK
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53. S3x2AHAMET:
(&) 167 ® 29 © 2 O 8!
53.  The value of 8% x 2%is :
(&) 167 ® 29 © 2 O 8!
54. 7% 31T [3 TS 30,000 51T 5] © T 4347 5T | (B0 AT 2T -
(A) 23=F (B) 253%F © 33=F (D) 433
54. IS 7% SR FE 30,000 TIFE 5@ 7 = 4347 TIFT | B TSI 2(<
(A) 237 (B) 253%F © 33 (D) 437
54. SIERME 7% 8@ Gd AN 30,000 T TR GT 4347 T ST 37661 TH ST -
(A) 29ER (B) 259MER ©) 39ER (D) 49ER
54. 7% Qe SATS % X G T 30,000 1 Akl TS T 4347 T | ITh! THIA HHT AT
A) 294 B) 2594 © 3Td D) 4 79
54. The compound interest on X 30,000 at 7% per annum is X 4347. The period is :
(A) 2years (B) 2.5years © 3years (D) 4years
55.  STqel 561 TG (@A QT YETHAT 6 I%I II© 60% I T | G12 Q@3 o 1o 12,000 F1 3 7239 770
b [© [P 2’T 7
(A) 2160 (B) 3120 © 3972 (D) 6240
55.  STReT 07 XA (B QF T 6 IR 60% Ja o | (73, Q2 7 12,000 TIFF 3 IREFL g ' 0
FORE 7
(A) 2160 (B) 3120 © 3972 (D) 6240
55. Tl gd AHM SERESTE ST SRAM 6 SIERMH SAE STEE S8l 60% IRMES o T gd sRieA!
12,000 T 3 SERMA 316 RS Al Sl S0 ?
(A) 2160 (B) 3120 © 3972 (D) 6240
SPACE FOR ROUGH WORK
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55. YR SN o &L H TohEl Toh YaIu 1 6 I8 H 60% Mg T3 | I Th & &S o & & 12,000 1 3 6

S =kl AT fohe 1 21 2

(A) 2160 B) 3120 © 3972 D) 6240
55.  Thereis 60% increase in an amount in 6 years at simple interest. What will be the compound interest of

% 12,000 after 3 years at the same rate ?

(A) 2160 (B) 3120 © 3972 (D) 6240
56. 7 -3 fofa0! e Sfesa @siret 357 | 0136 T Sired 7iF 27T :

@A) 112 B) 126 © 119 D) 116
56. 7 -9 foAft e Sfer@a @sReeT 357 | SRR (26 ITEEa N7 267 :

@A) 112 B) 126 © 119 D) 116
56. 7 HAUTH IR SAFTHI FFSTSRTRIAT 357 STRise aafgs 3o AFse S1f~<THre s&e ?

@A) 112 B) 126 © 119 D) 116
56. 7 <1 < ShiHeh TRIAR UMk IRTHhe 357 ¥ | Foid BTl 70 © :

@A) 112 B) 126 © 119 D) 116
56.  The sum of three consecutive multiples of 7 is 357. The smallest multiple is :

@A) 112 B) 126 © 119 D) 116

-2
G+ G- (] e

57. 5 3 4 RGN

N 8L 16 81 169

@A) 484 ) 81 © 169 ©) 81

17 (2 (3]
57. (Ej (gj - (Z) QINF PO ?
81 16 81 169
@A) 484 (B) 81 © 169 ©) 81
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57.
81 16 81 169
A e ® & © o9 ® &
N2 (3]
— + — — — .
57. (zj (?J (4) FUAT :
N Sl 5 16 o 5L 5 169
B e ® & © 16 O 5
o2 (3P
57.  The value of (2) (3) (4] is:
81 16 81 169
T ® & ©  T6o ®
58. HOT ST HAATS 3 : 5 | Tkt JIIIGT AT <177 9 f[eqrer F37 2¥,  NANFELIT FATS 2F
12:23 | FF BRI TTRT
(A) 49 (B) 55 © 33 (D) 27
58. G AR HFoMG 3:5 | T GEG TR (AF 9 M 11 27, S T 97 Sgoie 2 12:23 | (21
STIGT W9 (< ?
(A) 49 (B) 55 © 33 (D) 27
58. T SIf-IHI SHAT 3 : 5, SHR WA 9 @ 2reet e STf-<rd TR 12 : 23 SR | e st
HHET SETHA
(A) 49 (B) 55 © 33 (D) 27
58. T AR 1 AU 3 : 5% | A Uik WA W 9 FTA1 SR, T G 1 ST 12 : 23 TN | Tod SIS G
T | BT :
(A) 49 (B) 55 © 33 (D) 27
58. Two numbers are in the ratio 3 : 5. If 9 is subtracted from each, the new numbers are in the ratio
12:23. The smallest number is :
(A) 49 (B) 55 © 33 (D) 27
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59. ©1F (PO STRATT 5T QOF AR AT =T 7

@) 7 B) 1.96 © 0.05 ©O) 13
59. T3 @F ST ITGA I5yet QHTH SRITw AT =3 7

@) 7 B) 1.96 © 0.05 ®) 13
59. TEMEM o8 By AT setet Tsieerg {9 sifm ?

@) 7 B) 1.96 © 0.05 ®) 13
59. i feu Hemsti § fogent srige s ufds gemn § 2

@) 7 B) 1.96 © 0.05 ®) 13
59.  The square root of which of the following numbers is rational ?

A 7 B) 1.96 © 0.05 O 13
60. DT 27 P, BT SBFEIT ST

(A) NG R (B) U DA SR

©) ST Sres STt (D) ST SrAe STt
60. OB IZoM T SRS TEF BTN 7w

(A) T LT (B) XTI ST AT

©)  STHSIE U AT (D) STHATAIE A TR
60. TSIl TR 7T STf-Sram SR Hiear] :

INBRCICEE RIS (B) TSTHNH SETESTY S

© THE'IEAS arEES ST (D) TNEYM™ S SEEsTd <
60. Tk 9gUs H, THIM Iftueet & =i (Exponents) BId g

(A) Ui (Integers) (B) & qUlleh (Positive Integers)

(C) IR Ulieh (Non-negative Integers) (D) &R UTeh (Non-positive Integers)
60. Inapolynomial, the exponents of the variables are always :

(A)  Integers (B)  Positive integers

(© Non-negative integers (D) Non-positive integers
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61. THIAT KT (1193 TS SolIT I 58T 2TS@IT ZTRRT A7 AfF T (@FI-T 27 :

(A) FEFS! B) W@='ftR © e (D) TS ST
61. AT ROTT (IS W@ TSIE@T S SRS Ao feT T 2e91 aAfeiftes Ior =3

(A) FLETS! (B) TH@HMT © @IIReT (D) “Ter AT
61. IS SR@1 Wi A AiEres fawif faaesr IHeHee! g1 :

(A) T SEE (B) Aok el © FafE D) foam fafem
61. IS faSIe Iveh 5o o 19T o RO U o Uil <l Uiel TS aTet Uik bl el Sl ¢

(A) TR (B)  HiEH © FRHE ©O) fewifaadm
61. Yellowing of plantleaves due to deficiency of certain mineral is referred to :

(A) Discolouration (B)  Necrosis (©)  Chlorosis (D)  Defoliation
62. IIEOF T @FFRHT T 7

(A) ST IFRFFI (B) (o3 FEET

©  ATSw SR (D) (A)= (B) [{OIE
62. FI3A 6a 5 473 S 2

(A)  SLATTT ARF I (B) =aF FF AR

©  ATSHT LT D) (A)s (B)72G
62.  ShIZS MBI SeIf ATCTH ©

(A) AT T B B) g fSafg T

© s faem D) (A)3T (B)
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62. ‘Wi’ freAifeRd H § AT 3URH § 2

(A)  3THIUT S TFHIER{e1eT (Exoskeleton) (B) TRl Hel o

©) ARH AR D) (A) R (B)TH
62.  Chitin is a component of which of the following ?

(A)  Exoskeleton of an arthropod (B)  Fungal cell wall

(©) Plasmamembrane D) (A)and(B)
63. (I E I T@aIT & (T Koreas #1520z :

(A) IS (B) TS © A D) s
63. (FNEFY RIS 28T (@I RelSag s 2007 :

(A) OIS (B) OTIETES © TS D) HEATES
63. ToafE MeEmm ¢ argse e fSetg fagm JefeRn

(A) TSl (Metaphase) (B) TS (Anaphase)

(©) WS (Prophase) (D) <A'HS (Telophase)
63. I e BFSA T B ST IR FaUTSH (cell division) 1 7914 € :

(A)  HIHH (B) TIHA © " (D) fearry
63.  The stage of cell division in which the nuclear membrane disappears :

(A) Metaphase (B) Anaphase (© Prophase (D) Telophase
64. BIRES T b fowace Sfis Ity ofe fircet, 3317 fowsa s 71T

(&) =z oI ® g o © O O I =
64. STRIAT U6 TR (Gold @R I 5tet i, UF (o BT NI

@) 3P AR ® qfa o © G A ) T
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64. WEMMHE STERAR TMed HTEE! fasTa e aRsi TRAT Gee STeal o TR JHT ST
(A) GHEANH (Decreases) (B) ST (Increases)
© TS UFH (Remains same) (D) @ ST (Becomes zero)
64. WA T 393 Tk I 3T Y 91 g H, T TS (pressure) Tl T
(A) B B (B) dfgarm © THE WM (D) I B
64. If more air is pushed in a soap bubble, the pressure in it:
(A)  decreases (B) increases (©  remains same (D)  becomes zero
65.  SEIAT BRI Sfof YT “if@ QBT Setla 8ba® Wbl 3@ Lol SN | FOICHIE oS & St &1 @9 o
BT
(A) FONOR FIfeTT 3oiFe (B) TR TBRHT TGI 39FS
©) FONDR [ S ERIT THeR @FTe (D) (A) 3 (B) [T
65. ©Fel G 4 9T SY@ ATtad e e @3 @IT faw w1 83w (W@ @7 283 676 T &5d @9
ST FE AT
() Tafba tvarerd 89|
(B) T AT 90T 3T
© b (I @9 23T B7et MG THwid 3|
D) (A)432(B)FfR
65. TS T HaTSI 76 3QT 3Tgst UM AT Ta A4 R 7ot €| T ATGREF™ od ard g

TrRafern AN

(A) et @felfd |rEme (Area of the hole)

(B)  TE el Hanlf+ U ©raimel (Density of the liquid)

© TSR ST & AT St 9@ (Height of the liquid from the hole)
(D) (A) ¥ (B) HFel

UPT-19/P-11/Q
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65. U 5 Y YUl Uk e ol I A T Biel foR § | fog | frfa 2 aren woa aared & o R 78 o6
(A fzwaw (B) U 1Y % FFA (density) T
© T8 % 9oy uee § It W (D) (A) 3R (B) IH
65.  There is a small hole near the bottom of an open tank filled with a liquid. The speed of the liquid ejected
does not depend on:
(A)  Areaofthehole (B)  Density of the liquid
(©) Height of the liquid from hole (D) Both (A)and (B)
66. TWS! I ATCE, (et GBI S5 FIeT
A) TWERSWfeTe i 77 B) @M=
© ZHAR (D) Q& Aw
66. TWOT Il (51T TMICTF HRERFI :
(A) TWORIWFARSFOIE Jia 1@ ®) @ oA
© ZeTATE (D) G2 VBIE
66. AT TS o], Yugar™ 9 T fafeemn S :
(A) gmzzrc-h T T A (Increases proportionately with temperature)
B) EIniE] (Increases)
© GHRAA (Decreases)
(D) reepfeic (Remains Constant)
66. M Jfg B ¥ Teh @leieh (pendulum) T T e :

(A) AT SHT FHAT (proportionately) ®9 9 gfg BT

UPT-19/P-11/Q
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66.  Asthe temperature is increased, the time period of a pendulum :

(A)  increases proportionately with temperature

(B)  increases

(©)  decreases

(D) remains constant
67. AN O @ATG el FaT ICeT STl FT IR ©oTd @FHOR ARRET 5T 2

@A) P fe (B) efsfis © Rfeis (D) @9FF 9OI8 727
67. IFID AR ST FeT =AW ST I FHER @I ARTS A 1 2

A @oefs ®) sfs=fs

© ffonfs (D) THET 9FHS 7T
67.  HIH HE@-Af WA Bre e Sl MerEi s Fediersi 99

(A) Y wIfer (Total Energy) (B) &% ¥k (Kinetic Energy)

(C) ARSI (Potential Energy) (D) TSI HF9a T (None of the above)
67.  JOTCH Toh o1 HR H a1 T STl BIE o THGH i ol 1 FTATAEd -1 IREd & T9H © 2

A) Fd ufe B) Tfd Wi © feafq ufw (D) TR H TH o &
67.  The work done by the external forces on a system equals the change in :

(A) Totalenergy (B) Kineticenergy (©) Potentialenergy (D) None of the above
68. W (R(7 O GO AT TS

(A)  ATP fZ5icet *ifes ST63 27

B) feTTE=™

© AW 7 IR fF9S = ATP BBt 167 =3
D) ~fes s 953

UPT-19/P-11/Q
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68. T I YN (0% OF 491 AT TCw -
(A)  ATP B *Ifea 5163 27
®) ~ferTR
© I A TR 75 2 ATP 2717 STy =5
D) =fs Fsfe =g ar
68. T S SR S Hiera-=1 e |/ :
(A)  ATP W& W@l QYA
(B) feRE! SREETA
©  ARRMEHE V@l TIRAT 3T ATP Held SHYAT™
(D) el TIRATT SR
68. ‘Yo’ W Ul WfhA ¥ W
(A)  ATP & &9 H Sl Giad w7 |
(B) ol (Energy) @ Bl ¥ 1
© ETE el i SR ATP % €9 H 699 &l ¢ |
(D) ol Hod T8l B
68.  Respiration is a process in which :
(A)  Energyisstored in the form of ATP.
(B)  Energyisconsumed.
(©)  Energyisreleased from food and stored as ATP.
(D)  Energyisnotreleased.
69. ST FldTo! SEFIRT QO G, BT Frart sI91w1e FwWeT 3 (M@ SN fbeTol ARG B4 1576 I5iT Y STFHof
TeoH F(, NSO 27T
(&)  MgBr, (B) Ca(HCO,), © Cacl, D) MgCl
69. TEIR ool EFET QHTH ATel, @6 SIS Rt SIFR S FHeT A (U 93¢ Preteld TG0

TRCET S0 ST L STHS ST e, Ao =T
(A)  MgBr, (B) Ca(HCO,), © CaCl, D) MgCl,
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69. & T ARSI HFE WTE, S SRETEEAE SIS el WHAT e fef-erl T faaar Argee ame-am
HamETE TR AHIE S Ja Amisraiarr; SaEdl See
(&)  MgBr, (B)  Ca(HCOs), © CaCl, O MgCl
69. I i HoRdl gt A ATl Tk 41, il o qheron | TR 31 fo@md © o) faeer Teee g & | 9
STFLTYV] eI HIAT © | AT (Compound) g
(A) MgBr, (B) Ca(HCO,), © Cadl, D) Mgdl,
69. A compound, that, causes hardness of water, shows orange-red colour in flame test and gives white
precipitate with AgNO, solution is :
(A) MgBr, (B) Ca(HCO,), © Cadl, D) Mgdl,
70. 4 (BI¥) & NaOH, 10 1517 wae UbTe Tdige a1 2o HI0R pHR'I |
@ 2 ® 9 © 12 ) 13
70. 4 (BF) & NaOH, 10 (%) fT51a7 WG B0 Hahg® T =67 | T304 pH R
@ 2 ® 9 © 12 ) 13
70. 4 (3) M NaOH ® 10 faIeR 3@ Ta=Am Se | TAESTE™ pH ST Se
@a 2 B 9 O 12 D) 13
70. 4™ NaOH 1 10 et o S99 (Solution) H fosifed foham 11 Sa107 (Solution) ST pH &FT
@a 2 B 9 O 12 D) 13
70. 4 (Four) grams of NaOH have been dissolved in 10 litre of a solution. The pH of the solution is:
@® 2 ® 9 © 12 ©) 13
71. (R SIET A SLSICET (=R :
(A) FEEH (B) FEHTH © WG (D) FTAE
71 (@® SR AT T STH{G 7R -
(A) FEEH (B) FECISH ©) WGt (D) FIRIATS
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71. e o« SatgEe fagmr fSatg om

(A) TS&fE f5€ (Nucleus) (B) Y 'SM (Lysosome)

(C) W83 s (Mitochondria) (D) RIRE (Chloroplast)
71.  &a fafee (dw) fog ofn & 7 €2

(A)  IfRI3TH (Nucleus) (B) ARSI (Lysosome)

(C) eIl (Mitochondria) (D) FARRL (Chloroplast)
71. Double membrane is absentin:

(A) Nucleus (B) Lysosome (©  Mitochondria (D)  Chloroplast
72, TS Sfove wet FKFT FIIA ¢

Q) 3Ienee fFass dfeats=amamg ) (B) 3 RIS o=rer Aot 99 |

© 3ZRers Jore Sfen | D) 3 ReTFE TS A |
72.  FAIET SHT T T 4 FIA ¢

(A) QW TOYR AT (fertilization) S7=f<f 2 AT

(B) QKA TSt LTI GG AT

© a3 o S

(D) UM TS AT AT
72. 99" (Gymnosperm) AEHISTE fhems A ST STem

(A)  FTRRE fHeTE AR HrerEf-or STHeT

(B)  AHIIE BEANLST HHAfSETET

© A®R R Af AR

(D) JHRE TRAE’ o
72.  STGqsS ISAS § Sl Tl O T SRR

(A)  TEH T HiEE iR g T E T
(B)  TEH AT HAN T A T

© I AeEH S T

) zEH of RIforRT TR T

UPT-19/P-11/Q
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72.  Fruits are not formed in Gymnosperms because :
(A)  Process of fertilization does not take place in them.
(B)  They are not pollinated.
(©)  They are seedless plant.
(D) Theyhaveno ovary.
73.  TARSAT S HCAIT IFT GTco IR AA1Cw, 9 58 91 900 SeT9 (FIFO! 21667 T S5 27 7
(A)  TEOARE (B) ORI © f®9 (D) ©RL5IF @F
73. AT AT AT IR S0 I I, NI T8 I *10% 057 @AI0 BRowITo 717 o175 =30 2
(A)  FAFILF (B) SIS © &= (D) ST (@5
73.  Siscll AATST A AN @ T, TersT QHfsRaierr digierd e s Sl qHET SRl ST
(A) GfFREl (Frequency) (B) T AT (Wavelength)
©  TERFI (Amplitude) (D) T WY (Wave Velocity)
73. @ 39 A9k T § T id &, 79 379 Yie HTA aren g # H=fafed -1 e 91 s © 2
(A)  HEAS (B) TR © fo=mw (D) T AT
73.  When you speak to your friend, which of the following parameters have a unique value in the sound
produced ?
(A)  Frequency (B) Wavelength (©  Amplitude (D) Wave velocity
74, (OSH IRAT AT SFIOGE FgAIT 3397 [’ (Radio Carbon Dating) © T9RIF (R FIAR 5Bl {8 272 -
(A) 12C B) 13C © HC (D) 3ZoF IbIe 727
74, TOSHR I QIR S qoifgd Ty I el (Radio Carbon Dating) F7(® I9%® I (A1 FHFIAFD 267 :
A 12C B 1 © UC (D) QAR GIFH3 77
74.  Radio Carbon Dating 3119 STRTFAR e S ‘<1 STE :
(A) 12C B) 13C © HC (D) TSI HEwE 78T
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74, ‘Yfedrmre Sfdn’ | re@R 2 a1eT e w1 TR (Isotope) ¥ :

(A 12C ®B) 13C © c (D) T8 9 TF ot T
74.  The isotope of carbon, that is used in ‘Radio Carbon Dating’ is :

Ay 12C ®) 13C © cC (D)  None of these
75. ¢33 41U W(®, SEES

() fTSSrcat (B)  IcEAFACe © AT et (D) 45’7 e
75.  [3-4F I Mo, SE3fet 36

@A)  FOFrcaR B) IR Q)  TETh wret (D) TG a3t
75. i ar<ify anfed wfaewr Sem

(A) Tefetafrel (Nucleophile) (B)  SoiaRfHRd (Electrophile)

(©) Y& TEMR (Proton donor) (D) 9T ATSEn (Proton acceptor)
75. TEH %l UROT (Concept) % TTIR, 377 (acid) gl

(A) BUE e} (Nucleophile) (B) ESE=En (Electrophile)

(C)  YIeH Tl (Proton donor) (D) FreH wehat (Proton acceptor)
75.  According to Lewis Concept, acids are :

(A) Nucleophile (B)  Electrophile (©  Protondonor (D) Protonacceptor
76. SifeTQiaw IFT AAfTHISCOr (207 :

NG (B) I 66 © ofsfas (D) &R0
76.  SATTONMIZG A ARG 26T :

CVE Gl (B)  FIZeTT 66 ©  Tofafers D) &CETRE
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76. UfTATES T Gfer STTem :
(A)  THeH (Teflon) (B) e 66 (Nylon 66)
© fifem (Terylene) (D)  deheTise (Bakelite)
76.  UifTATIEE W& aTell dgalsh (WeimR) ® :
(A)  THIH (Teflon) (B) I 66 (Nylon 66)
© A (Terylene) D) SheTEE (Bakelite)
76.  Polymer that contains polyamide is :
(A) Teflon (B) Nylon 66 (©  Terylene (D) Bakelite
77.  CuSO, -3 ¥ QOIS &8 (Zn) T fircet F9017 (Cu) S shHFg 27 | 1F SR
) foews Romaer ao (B) CuSO, -T SERCIIT Ao
© s wrae =cs D) SOF R Rrstadt <6
77.  CuSO, 9T 4Ffb T f&18F (Zn) T& FA1 0T, FI1F (Cu) SRS 2| 97 FIR 297 -
A e fTstae 9 (B)  CuSO, -4 A RTIII AH
© TS SR € D) SO SR e €06
77.  CuSO, 1 AFH Setre qaral fSieh (Zn) 31a Bt IR (Cu) 371 @ed frTsnems @ | S SR Ste -
INEREEIRCLIREIE] (B)  CuSO, 31 IFRIATST
© T iee (D) SOF STl EHEaTST
77.  CuSO, %1 599 T fSieh (Zn) & Sre | Cu 749: e B &1 S0l IR0 &
(A)  Zn <1 faoRo e ¥ (B)  CuSO, %1 3T forersy Hea ¢ |
(©)  Zn ™ SN T E | (D) SO 3T T farsiRo sea & |
77.  When Zinc (Zn) is added to a solution of CuSO,, Copper (Cu) is precipitated out. Itis due to:
(A) Znisreduced (B)  CuSO,is hydrolysed
(©  Znis oxidised (D) SO%}_ ion is reduced
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78.  JRAIF T T (R :
(A) AT e (B) T Ny © ToeETSR See (D) A eTEe
78. IR YU GNBI 9
(A) AW eI (B) AT 7B
©  TIPEITS| Aoy D) e CTEe
78. QU SIS TR WIHIT STelr
(A)  STER el MM (B) 3R SFYHH
© TGl SN WA (D) < Fre A
78. JREARMTAIME :
(A) @ (B) @EEHIH © UJAMFUEA (D) 9 W
78.  Main function of large intestine is :
(A)  Absorption of food (B)  Storage of food
(©)  Digestion of cellulose (D)  Absorption of water
79.  ‘CTETHR (917’7 SR B[R ITSIRECT SWe! Iad I 7l F1E
(A) 9% ORI TIPIT CIESIT ST 1Rt FS o7
(B) WX (RENE o3 Rise Fat srcenfie IR owe sfy o
© 92 (ORI FEF CTOSHRE TS SAT 2
(D) 93 (REET IR CTSSH
79. ISR ST (RIS SI5T) SR God SXsT Jamd s 7T, FRT

(A) Q3 SIS ST ST ST I HC |

(B) Q3 TRIBE G (A RIS T SACETIRS IR I T |

© 93 ST AYTS TS RBETCS GeAH 27 |

(D) Q3 STITRCET T8 SIS
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79. ‘WAl T TG (Green House Gas)'' ®II gga dI1fq STTeETaTE! JUTE ABAEN AT@E T A,
A -
(A) & THRRT FHAERIA Ter sTeria! SreT ol
(B) S TAHR AT F Infra-red TR ASTHRG! HGAT T
© o FERRT MR Ten | (green house) TRE FAfETSt
(D) & FERRE el Ter
79. BRd T8 T (Green House Gases) HHg Tt =l ATATER0T &1 AT9HH Jfg o oI ST €, SHHT HRT
(A I% T gz g Wem a1 efd SF9 o o §
B) IE W TE 9z TS A fafhfia s aren staeifed Wem i 9w & o
© & T e qe: B e H 3o A g
(D) ¥ 9 Tl =1 {1 g e ¢
79.  ‘Green House Gases’ are responsible for increase of temperature on earth’s atmosphere, because :
(A)  These gases absorb the green portion of the sunlight.
(B)  These gases absorb infra-red radiation radiated by the earth’s surface.
(©  These gases are produced mainly in the green houses.
(D)  The colour of these gases is green.
80.  «BT220V AC B3 HTH Rea 2’7 :
@4 220V (B) A 160V © 9am310V D) 440V
80.  4fD 220 V AC TR ST f6d 7 :
@4 220V (B) 160V © a3V D) 440V
80.  T¥ 220 V AC H@IH SIS Voltage 31 ST :
(A) 220V (B) 160 VM © 310V%M D) 440V
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80. T 220V AC i (Source) o1 Fali= afeedl (Peak voltage) BT :
(a) 220V (B) WA 160V © U310V (D) 440V

80. The peak voltage in a 220 V AC source is :
A 220V (B)  About160V ©  About310V D) 440V

o

81. JSIFIT FFo I SRFT Soiaz BT AT ToT6 (FIF0R 39FS ST 757 7

(A) TR (B) T IPTE
Q) ®7[T qbre 937 (D) 87133 (A) 3= (B) [

81. IR ICF AFT A RAT Q6 S taa ISR Hiba @RI G917 fezler 737 7
(A) TG el (B) T IT=
© 3NET GFHS T (D) @& (A) 932 (B) 553

81. ThfEs wecmmEmE aH™ Jgaf Jean ARy ¥v fafefomn, Terf suf e dFaRaE 7T
(A)  TRHIH HIQHSI (The mass of the Satellite) (B)  hEITHI @agi@l (Radius of the Orbit)
(©) TSt HFH&l T (None of the above) (D) (A) 3R (B) HHE&

81. TIHR Hal H WEAaTe Yot SWE Tk 1 TAiFehTet Ffefad hiF-a1 SR § fHefefier 72 & 2

(A) SR H 9R (B)  THETUY HT TG

© TR TH FF T (D) W (A) 3R (B) SHI &
81.  The time period of an earth-satellite in circular orbit is independent of :

(A)  The mass of the satellite (B)  Radius of the orbit

(©)  None of the above (D) Both(A)and (B)

82.  ANANAIES PIEIF AT T2 7|XF FIIF (@I (2R PR
(A) ISR B) SREIFEE (O oIS o D) TheF o

82. NI PRI (VT ST2CST 7T FHIF NS (T 200% :
(A)  CICr SR (B) I IFEN © I efTsmr D) T=R5ZF
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g2. faf7 & I Tiverd fadints |t & AR fammafer s
(A) ST SR ®) e & fafafem
(©) TN TSI R D) TR THA

82. ¥ Wi fIT ¥ WeS W Y HLA H HIVA € :
A) TR am B)  3Aferen T IR
©) 3k Wi (D)  I&q Tfeeh (Cavity)

82.  Theartery can be distinguished from vein easily by their :
(A)  Thicker walls (B) Morebloodcells (C) Moreplasma (D) Larger cavity

83. Mg -3 0T Gl F13G’ (ST SIS TEICF 510 I AT o196 [Kfwxr FR7ca fr 2°e1 | Seow et
(STRCOT 24
(A) NO, (B) NH, © N, (D) HCN

83. Mg -3 T L@l e FZGISIAT AR oTieT T 510 FAI 517 ST N [ ST 2671 HAT
STRTG 20 :
(A) NO, (B) NH, © N, (D) HCN

83. @ Mg 1 fRemgl reg 'SHf STeRmEmE s STStam FEHA1 oare fhAsnemg S S e | et
1 ST
(&) NO, (B) NH, © N, D) HCN

83. T Mg & Wid o Zehe Sl ATSSIS o ATAERY H el 5 ek TH L 9T o e fafshan e fean w599
T B Al T ©
(&) NO, (B) NH, © N, (D) HCN

83. A piece of Mg ribbon is heated to redness in nitrogen atmosphere and then treated with water. The gas

evolvedis:

(&) NO, ® NH, © N, (D) HCN
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84. (oA AT AT cenfoafay comar = -
NIRRT (B) silTe © WIPT® D) s
84. (I (Caesin) FIHI &1 ToMBF (FIART ST T 7
(A) NIty B T © AR D) o
84. o G SARM gfewat 9
(A TEE (B) TEEE © O O) fasma
84. YA T TN Wifed B S W S R
INERE K B) TUH © wEH (D) <HSIH (Cheese)
84. Caesinis an animal protein found in:
(A) Fish (B) Milk (©  Meat (D)  Cheese
85. IR 37 R e 173 CFde AT IO G513 IS %S s F1 37 | Tl (FIF1T 77 7
(A) E=0,B=0 (B) E=0B=#0 © E#0,B=0 (D) E#0,B=0
85. WIS BT [R5 W3R PRI CF(d HKALS IO QB0 JEI 21 97126 200 | 06T (@S 38 2
(A E=0B=0 B) E=0B=0 © E=#0,B=0 (D) E#0,B=0
85.  STTe T HifseranR 3R Graeh fafreTal =St (Charge) 1 HIMY =TT SGHTR SATHTETS GRIATEA S | TR
EEKCIRRIRSIDICHE
(A) E=0,B=0 (B) E=0,B#0 © E#0,B=0 (D) E#0,B=0
85. wrure feer fagd iR grareh &= H 3Me o iRt Ieita 91 § 7Ifd X @I T 1 A 1 HH-| qEE | 2
(A) E=0,B=0 (B) E=0,B#0 © E#0,B=0 (D) E#0,B=0
85. A charged particle moves along a circle under the action of a possible constant electric and magnetic field.

Which of the following are possible ?
A) E=0,B=0 (B) E=0,B=0 © E=0,B=0 D)y E=+#0,B=0
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86. BTG VAT (BT’ (ST S’ W STR1T SFel &% FHoT 307 :
(A) HOCI>HOBr> HOI () HOI>HOBr>HOCI
(©  HOBr>HOI>HOCI (D) HOBr>HOCI>HOI
86. (B BT JIETITSIAT HEHSHIITCS TR Trold Ba @D 3
(A) HOCI>HOBr> HOI () HOI>HOBr>HOCI
(©  HOBr>HOI>HOCI (D) HOBr>HOCI>HOI
86. B B v 'S 7o 'THShRM TS o wifken e :
(A) HOCI>HOBr> HOI () HOI>HOBr>HOCI
(©  HOBr>HOI>HOCI (D) HOBr>HOCI>HOI
86. I faU 7T TeASH & AT ST (Oxoacids) T STHAAT 1 Y5 FH ©
(A)  HOCI>HOBr>HOI (B) HOI>HOBr>HOCI
(© HOBr>HOI>HOCI (D) HOBr>HOC]>HOI
86.  The correct order of acidity of the following oxoacids of halogens is :
(A) HOCI>HOBr >HOI () HOI>HOBr>HOCI
(©  HOBr>HOI>HOCI (D) HOBr>HOCI>HOI
87. TSI A5 TS fBfosed ofeaie s=im sat aileTfiy 2w
(A) I (B) WieRCTAMW © T (D) foiew
87. (SIS ARGITSH Ffowad afaa smmifsrer s A4 S9N 3007
(A) @EH (B)  WfRTAN © D) o=
87. SR e 'S T Wreme AraE-ergt ShsTs S fCgarar e
(A) & (Boron) (B)  HIAESTH (Molybdenum)
© IR (Copper) (D) TS (Zinc)
87. Sifae Aegre feerfaentor ufshan # We™dl S arel Jeiaw (Element) ¥ :
(A)  ¥RH (Boron) (B)  WifeTseTH (Molybdenum)
©  dren o) &=k
87.  Biological nitrogen fixation is helped by the element :
(A) Boron (B) Molybdenum (©  Copper (D) Zinc
SPACE FOR ROUGH WORK
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88.

88.

88.

88.

88.

491 ®’e 8 = X + ?
(A) ‘E)‘ SR ‘X‘m@r@a (B) ‘E)‘ < ‘X‘ e ‘E)‘ < ‘g‘ RTINS T
© C @R A+B-35WF (D) CoTS A+B -3 5Wiq 737

- = >
NAPI C=A+ B
(A) ‘8‘ ST ‘X‘ F TG 2 B) ‘E)‘ < ‘X‘ ER E)‘ < ‘E)‘ 2313 3
(© C M A+B YT WA 2 (D) CIFUTS A+B Q7 3WH 3 1

%

- -
THNAEEASTEE C = A + B

)
©

[ on et [ g e ® |dl<

2 sma [l <[5]
Al 3R |C| < | B stama

C 3T SecTr&relt A + B 1 99 m (D) C 37 S=ael A+ B 11 989H 71

e
AATINY, C = A + B

)
©

- -
Let C = A +

)
©

- -
‘C‘W‘A‘ﬁa@m%l (®)
C THIM A + B o SRT&R Bl € D)
%
B
- -
‘C‘ is always greater than‘A‘ (B)
Cis always equalto A+B (D)

C &t oft A+ B & e T B

> = - =
Itis possible to have ‘C‘<‘A‘ and ‘C‘<‘B‘

Cisneverequalto A+B

89.

89.

ATHFT (AW, SIS :

)
©

SR GIIF TSI AN | (B)
QBT YT 1T 91999 TTFSI & AT | (D)

ATHAT (B(@, SO -

)
B)
©
)

ST QAR GF RS AT |

T3 QA 397 TRGII 1T AT |

QP JRTHT S5 [ 39 TSI M |
76 JZ(3T 5 QR 3917 TFOIR A |

FREANS GO TFSIE AT |
70T {39 999 eFeld AN |
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89. U™ WRUEAME (Projectile motion) AT ST :

(A)  SeAFE IR TR o (B) WSS QRIGAMIY ST T

© TF<E a9 arEad’ SRS diiR ol (D) ied SHi OTRE SR iR o
89. W& =l & H, T ¢ :

(A)  THI T H A T Y T € (B) T RO H T 9E Y T @

O TwIEHfuEUaTE@ @dw®ac! (D) < 9FF H @0 @ 96 9 W
89. Ina projectile motion the velocity :

(A)  is always perpendicular to the acceleration.

(B) isnever perpendicular to the acceleration.

(©  is perpendicular to the acceleration for one instant only.

(D) is perpendicular to acceleration for two instants.
90. WSIiAIE e Resers Sete fimt @@aeoT ast fiarr =30 7

(A) BaF,+CaF, (B) CaF,+NajAlF, (C) Fe,05+SiO, (D) NaF+AlF,
90. SR e Jeasee [ mexr @0 g Fa1 37 2

(A) BaF,+CaF, (B) CaF,+NazAlF, (C) Fe,05+SiO, (D) NaF+AlF,
90. UGHAI Hifserel fafsRivEE MEEmE e Je @l ARCER Sl :

(A) BaF,+CaF, (B) CaF,+NajAlF, (C) Fe,05+SiO, (D) NaF+AlF,
90. TR faga favemo # F= fed T -1 a0 Bar €2

(A) BaF,+CaF, (B) CaF,+NazAlF, (O) Fe,05+SiO, (D) NaF+AlF,
90.  Which of the following is added in electrolysis of alumina ?

(A) BaF,+CaF, (B) CaF,+NajAlF, (C) Fe,05+SiO, (D) NaF+AlF,

SPACE FOR ROUGH WORK
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PART - III : Social Studies
(Candidate has to attempt Part - II or Part - III)

[ Candidate has to attempt Part-II or Part-III which they have
given in their Application Form and recorded in the OMR
Answer-Sheet |

—

31. (WK SONET OIFfeTrae (it sifee :

A sIEbe (B) Fi® © TeIIBE D) wWHPTS

31, (OMEA T oiFaall @R Jfgs 2@ieet ?

Q)  STRbe B) FofsT® © TSsEReE (D) @EHECT

31,  SgARA HHc AT faA Fat@! Ji- SeiEH |
(A) TEEEEE (B) TTESTE © = ST sE (D) SR

31.  SGIRT 1 HHIC aHds Rreerg = S €
(A) TERREH B) T H © SRIMAH (D) “AREH

31. The Kamauli Copper Plate Inscription of Vaidyadeva was discovered at :

(A) Guwahati (B) Nagaon (© North Bengal (D) Banaras

32. ST 7o BT :

NI SIRACNR R B o) (B) oA oL RS
© IS (D) ST 7S

32, TR 7} 3o
(A) B B e (B) Tod Gl S
© gAMRS D) SR

32.  TeHTeTs Breimm e
(A) TSI ! ST (Old fold mountains) (B) e R BISIHT (Young fold mountains)
(C)  ST&@I &SI (Block mountains) (D) 37T ST (Volcanic mountains)
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32. fowmed we@ €
(A) UTEH afed ged (B) oA aferd qad
©) Al gad (D) SSTEE! 9o
32. The Himalayas are the:
(A)  Old fold mountains (B)  Young fold mountains
(©  Block mountains (D)  Volcanic mountains
33. ©rTo OfElie NRRIET (@ASH SIS JLHTHS AT SISt ARswiT Jef =iw! feT 37 17 2
(A)  au.fs. S (B) ~fyer IR
(C)  ToISIIeT sicel STsrata (D)  ToTfodT eet
33. A0 SEfe RIS (@ SIS AR TEIE AT NS Afopre! e @ro M ?
(A an.fS. FIes (B) TSI ImEE
(©)  TSTTeT SIerT SITsiala (D)  TSHIReAT FieT
33. TEMETE S HeRIEf OR TS REEiiE el THie MEEE e SeAT @ g4 g ?
IR AN ARG (B) el THTeTE
(©) TS T SANTRBR D) Sa'fasn Fel
33. fr=fafed & @ 7erre & ford TS GURE Sl WA THS % J& Fiqede wgl Sl ¢ 2
(A) THSH TS (B) dfea THETE
(C) T OIS 3T (D) Sifaen Fel
33.  Who of the following reform leaders of Maharashtra was the chief architect of Prarthana Samaj ?

(A) M.G.Ranade (B) Pandita Ramabai

(©  Gopal Ganesh Agarkar (D) Jyotiba Phule
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34.  SRET GTEFT HFhod R @7 AT SIS (SHifoffSsiaT 3Nifie -
A) T3S (B) Mfeg © ©rF=(feom) (D) I<IEhfEe
34.  S[RIF TR AFhod AW 43I0 FH RO SHifesar It ?
Q) TIBG (B) TSg © ©FF (fasm) (D) IARWER
34.  SEAM SR el WM< g fifa yraiR e fafamfifen 9 -
(A) T ®B) g © e (i) ©)
34. Y % T AR & fawa ® se arel gum IR @ie foare o ¢
(@A) SR B W © R (fdfm) () e
34.  The first Indian astronomer who said about the spherical shape of the earth was :
(A) Brahmagupta (B)  Aryabhatta (©) Bhaskara (II) (D) Varahmihira
35.  fefalie @meE 30y (SaEe 14 Bied ofolRT (GFT S AL TR 1ES saige Stz ?
A) EoTF B) TIIR Q) AT (D) oI
35. Tl @7 30 (sHIEe neveiRed Sifear Gt @ AR 719 TRIAEE JHifste Fwiae ?
Q) Ileers (B) =W @M © AR (D) CAW
35.  TRM GR fofes Svaet SR YRA aFfaa 9t SR Sf-di T deriiered! Heraia ?
(A) BWSH (Havelock) (B) ¥ W (Hugh Rose)
(©)  FRaT (Campbell) (D) 37 (Outram)
35. frafafed ®F § fafew SHRa 3 7er aRa & e 29 iR S 6t T aarters 1 wafsa foran on 2
(A) TEdrR B) AL © Fuea (D) 3T=TH
35.  The British General who defeated Tantia Tope and Rani of JThansi in Central India, was :

(A) Havelock (B) HughRose (©  Campbell (D) Outram
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36. ‘DRUE’ SeTo SaY I SR(PI0IF (FIFOR TAAT 7

(VI Sui i) ® © = O w
36. ‘OROA EES @ a=d Soax 7

@) S ® © u= ® 3
36. ITEMI MEMEE @ 14 TehRMA oel A T8

() Fewrd ® 3 © T ® 39
36. 2R A4 Seoi@ fohw Y wE H § forent 3uvE € 2

() Fewrd ® 3 © T ® 39
36. Titan is a satellite of which of the following planets ?

(A)  Jupiter (B) Saturn (© Venus (D) Mercury
37.  TIRISHied ot Jaey =00 2°e

@A) it (B) TS@EATY © A= (D) @9FF 9OI8 757
37. ONASHed frol Jxey o920 =7 :

@A) FTHfs B) 3S@EANT © 5 D) THNET 9FH3 T
37. WFERIA AfY A Tee Ser

(A)  FEEfd (B) EH © =M (D)  TIrSi H&e T2T
37. dRHed =l fgdta fommed 78 -

(A)  FEHEld (B) JOE (EUULE) () WM (D) T8 § &E o 7
37.  Thesecond largest planet of the solar system is :

(A)  Jupiter (B)  Uranus

(© Saturn (D)  None of the above
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38. SISO AFeI] IIF TG WL (N AU (I SR Biafeer 7

(A T&.@. oira (B) "WERAEST () INRIFEI (D) TR SR
38. SRORCE S5 FFCSH Al LA (& ST FRRE ?

Q) f&E.@ omE (B) TWeR EIEST Q) ImREEar @ (D) WS ST
38.  YRAIR YEWR 9RaME T sem@f gifaat ffsamear SamgEe |

(A) G.XK Gokhale (B) Dadabhai Naoroji

(©  Rash Behari Ghose (D) Mahatma Gandhi
38. RGN % foTT TRret ot | Hod Tee fore Seama fohan 2

(A) S, e (B)  TIRITE RISt © U9 foRrt 9w (D) eI TTeft
38.  The demand for swaraj or self rule for Indians was first articulated by :

(A) GXK Gokhale (B) Dadabhai Naoroji

(©  Rash Behari Ghose (D) Mahatma Gandhi
39. I ([ Poro AT, ‘T, ‘©IFw’ ik RIS [ JoiafneT ?

(A) OB SHTST (B) bt I © 9T ISH (D) @G ¢otfa
39.  ifit (I oot onpier’, ‘T, ‘©lFw’ ik Twasfe fF g 2

Q)  O9Ff6 THEST (B) GG oL © 96 ST D) «FfG i@
39. I Sfgeh eTE U, R, ¢ IR’ STafe WIkiehT 3T BIRAEGHI 2

(A) T ER (B) T A © U Es O) T
39. YRfus Afcew ¥ ‘uieme’, ‘FE ), ara’ snfe wiss fohm Hed ® v E 92

(A)  TF I (B) T HTA © THETHA D) T
39.  During the early Vedic period, words like ‘Panchala’ or ‘Kurus’ or ‘Bharat’ referred to:

(A) aTribe (B) aTerritory (© aKingdom (D) aGotra
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40. ‘[ @S IQ @I T9 Ffget 2
(A) TR (B) T T BT
© =IFFBIFY SIS (D)  ET (SRR It
40. “‘JFRE@FI9° & I6A1 IEMRCE ?
(A) TR eI B) Y IR puer
© R B I (D) S (SRS IFT
40.  ‘Buranji Vibek Ratna’ B §R THERIHM ?
(A) IR (B)  GSIHUR ¥
© T SR SRS (D) YSHAY RIS &l
40. ‘ST oot fohem o L ?
(A) ¥Rm faam (B) T FER A
©) T H RS (D) TSHY TIEiE s&a
40. Who was the author of ‘Buranji Vibek Ratna’ ?
(A) Maniram Dewan (B) S.K.Bhuyan
(© HK Borpujari (D) Padmanath Gohain Baruah
41. oo S I IPWS (@Y [SeTho S8 AHT O SfFo 7
(A)  cffresm fser B)  wRe e © fefperr fsent (D) Freeter feer
41. @ T T ITET @ (S ST AT ST SRFe 2
(A CTOS9F (SeTl (B)  WEITL (el © foremicen (D) FReeE e
41.  TRMEE @ A A o6 e o) SRS SR |
(A) AR fSteet ®B)  foeem © fafgfen fSeen (D) ReErR Seen
79 P.T.O.
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41, 9 fou U omm o i 9 el B ST Ui SuH ST © 2

(&) g fe @B) T fSen ©  fogfen fo (D)  TReErR foren
41.  In which of the following districts of Assam is the Orang national park situated ?

(A)  Sonitpur district (B) Darrang district

(©) Tinsukia district (D) Sivasagar district
42. ©RO® (@FIF ISR FFO AT AT AFIFIS (et ?

(A) TheBengal Gazette (B)  The Calcutta Gazette

(©)  TheIndian Journal (D) The Bengal Newspaper
42.  ORCOF (FIF AW @lD A I A REaATeT 2

(A) TheBengal Gazette (B)  The Calcutta Gazette

(©)  TheIndian Journal (D) TheBengal Newspaper
42. TR o« Y e foersan qrat et Teme foers ?

(A) TheBengal Gazette (B)  The Calcutta Gazette

(©)  TheIndian Journal (D) TheBengal Newspaper
42,  9RA H D G GHER 9 TG gl TR g3 ?

(A)  TheBengal Gazette (B)  TheCalcutta Gazette

(©)  TheIndian Journal (D) TheBengal Newspaper
42.  Which of the following was the first newspaper of India ?

(A)  TheBengal Gazette (B)  TheCalcutta Gazette

(©)  TheIndian Journal (D) The Bengal Newspaper
43. Qe {9t e ¢

(&) el Spher eireTaTtia (B) TFGNE R

Q) 9T AT SIS (D) ®7[T qbIe 957
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43. Qe (AT (Bl Nino) 3¢ :
A)  efb wigfer aqree it (B) TFGNT SWS!
©Q 9T AFF S (D) THET 9FHS 7T
43. 3 99371 (El Nino) ST& :
(A) ST HElH SHAT QT STAE ATH (B)  SICIRIHI (I
© HHE dEm g (D) TSI HiEe 7T
43. AT T :
(A) Teh TSI & 3THR 1 ot fufa (B) AT &1 &G (stream)
Q) T YRR &I qad (D) T 9 & Wt &
43. ElINinois:
(A)  Aring-shaped coral reef (B) Astreamina desert
(©  Atype of mountain (D)  None of the above
4. B BT NGRITT I AN TP Gt (FIFCOT FAT STOT 757 7
(A) 3 QDT AT 515 |
B) NS Teoffins ST JoTs fazme 4 |
Q) TNEI ISCARST SHIFISH! AFIT I ISARSF CFAaATS 3 PG BT ofeTd FF |
(D) IS F91T® WE NI JES 2o F(S |
4.  BGTF FIET NG S AN F940F 57 @19 A6 w5 97 2

UPT-19/P-11/Q B
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B) T Sesfifits STmeg go%s e $F |

©  SITTYRA ASCARSS STRBE]T AFH TS A (A 0F (Fa 2T S G AT A |

(D) EF T 93 MOBT THI} o F |
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4. T FIEE MeehRA e o« 28 wefafefemn a8 T5717?
(A) A fegAAmE SR |
(B) TicesT feguE SURHRM SHAE! dE-esdEar A |
© icew e fogmf amrrarEs Teref-aft e s SR @i
(D)  TIET ARG o Tieehl el SHM |
44. TS A HA & TSt & wE gonelt % IR § Frefated we 9 9 1@ g ?
(A) T8 Teh SIEH T TS B |
®) fiee Scnfea armft % gt s fae wd ¥
© Tl (Heil) & TSfaes SwmhisT B o IR0 TSideh &5 8 3 T Hawerqul YRl o 91e &L ¢ |
(D) ogd d TR § 3 fires g1 off 9 & T
44.  Whatis not true about the functions of guilds during Gupta rule ?
(A)  Organization of production.
(B)  Guilds controlled the prices of manufactured articles.
(©)  Guilds were politically ambitious and therefore played an important role in the political arena.
(D) Inseveral cities they seem to have issued coins.
45.  ATBH SPWR I IR 1 ISISH @1 JNifeeT 7
NI SRR (B) T © e (D) o©rFx
45. AT SPTCYR A< ILTTA (19 AT (3 feer 2
(A) 7 B T © wfeafa (D) SFTIHA
45. TG AT S WeR siaen G 9rEE ?
A) T (B) #red ©  Hfd A (D) R A
45.  UTE STEH o oF o9 o SfeH TS A 92
A TETHA (B) el ©  yfdaHA (D) =R A
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45.  Who was the last ruler of the Varman dynasty of ancient Assam ?
(A) Pushyavarman (B)  Sriharsha

(©  Bhutivarman (D) Bhaskaravarman

o o faSE=) o o

46. ‘ST AT’ - FAEHETERS @FFeH F@lT peroas 5156 o Nifke ?

A)  wEEm-RE- e (B) TSR RS

©) FFErs gy G D) v Enfy

46. ‘AR ST’ M@ @ JeTOIAd T Sihow 70eH 7

A)  TF-R-g9e (B) TS fAeTfsT

© RES R ogers D) BrwE @k

46. ‘UfeEH @IG1'sT MERETE B feeRdi SR gerdrsi /Rl W 2
(A) HEHE-fod-gua'H (B) eTemsfed faats
© TS 9E o' O) fowrxatfe

46. ‘R ST’ HiF ¥ ool goan & WY 91 | ?
(A) HEFHE-To-qiTas (B) 3TeEA faest
© TSt e et (D) o=z aredt

46.  The ‘Padmini Episode’ is connected with which Sultan of Delhi ?
(A) Muhammad-bin-Tughluq (B)  Alaud-din Khalji
(©  Firuz Shah Tughluq (D) Sikandar Lodi

47. SR (FIFIF PR ST fro i [ Tas FIRAIT SAMTe 39697 97 0207 72

(A) W (B) OIS € W (D) U IFFT

o O N

47. ST @F S GHATHG faoly Regrad FIRAT SRR E I54T ST RS 2

A) T B) RS © oW (D) FATTGFT
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47. TR e WA ST Gt AR A1 qofeh e W sHiEAE g 2

(A)  HRE B) W © < (D) e TR

47. fr=fafea S o smfren su=mw fgd fava I35 &t Fert W enenfid § 2

(A)  HRE (B) Ha © ™ (D) TR

47.  Which of the following Assamese novel is based on the 2"d World War ?

(A) Makam (B) Mereng (© Jangam (D) Katha Ratnakar

o

48. O (FIFTYF NRPIS FrI9H] IS CoffaT T ?

(A) 28 TR (B)  GeGF wRTISIT
© e AR (D) TG IETET

48. BT (@I TP GO e sme T 2

(A)  STIB TSI (B)  SIGEIGF WIS
©  ONF WIS (D) TS ZeE

48.  TTEE Se AR TAREI Sl SRrRE A S
(A) W e (B)  SScA=eh i
© gAE oL (D) XA oieim

48. T fou U 0 | HRER H Uelliiel STHr Rt S § 2
(A) IR HEEIR (B)  IAAifEh HRER
(C)  3Tehfceh HEETR (D) &g "eErr

48.  Florida current is found in which of the following oceans ?

(A)  The Pacific ocean (B)  The Atlantic ocean
(©)  The Arctic ocean (D)  The Indian ocean

49. Bueme SEe Siselr o :

NI EUEIEY B) T © P D) e
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49. RIS SFS SEET (Zojila) G

) faw ® © P () «r&

49. ferTTeaTE oFM™ ST (Zojila) A1 HIFH :

(A) YT RH B) T (©) TSI T ©®) =
49. feurerm ¥ sraftd Sifsen gl
@A) ferd B) T © v (D) =/

49.  Zojila, situated in the Himalayas is a :
(A)  Glacier (B) River (© Mountain pass (D) Stream

[ e

50. [PIETNTS ST ©eT] (FIFCOT #1foq @H]Qﬂ“T ?

(A) TEMImAaLs  (B) S[FERS © s D) TS

50. ffemI@IETr (Kilimanjaro) STCBF (F1F ¥A(79 Ko SHIRAT ?
A) TCEREFRS  B) WS K e © IS D) ©ffeT s

50.  foRfemMSIRE (Kilimanjaro) MM a1 gt faffer -
(A) 3T TS (Volcanic mountains) (B)  HTeTAH S (Residual mountains)
© el SIS (Block mountains) D) I SIS (Fold mountains)

50. frferdsmr = few U 6F & ged 1 IS § 2
(A) SIS 9o (B)  eTEfi= 9ol © AR gEd (D) afea 9ea

50. Kilimanjaro is an example of which of the following mountains ?
(A)  Volcanic mountains (B)  Residual mountains

(©  Block mountains (D) Fold mountains

51. ©l9woddq IA]NCoIH @R SHATLUTIF TTg B! =75 ¢

(A) 7 e (B) TeF B (©)  ~Ifow ST (D)  wFweT Seet
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51. SROIET NI @ SHIAG o ST28eT 267 :
(&) oI SyeT (B)  Tag ST ©  ~AFou Srset (D)  WFwer SgeeT
51.  YRAaR sEifRgs SifeH e sHfSmn s 11 sTrer Sems ¢
(A)  FHST A (B) A © HHE AFE (D) el A
51.  9RGe o1 W ST STEET ST & R
(A) g e (B) ST e ©  uf & (D)  =feyoft &=
51. The most densely populated region in India is :
(A) EasternRegion (B) Northern Region
(©)  WesternRegion (D)  Southern Region
52. (6 IOHAF qolvie Row Fa1 (2feet | 3N o0 ©isq 17 3ifee (@i6-RRiE | sjersi@ & Fione @
Cotfget 2
(A) @o-srst (B) 5T
© RO Ci-faare (D) H-FICST
52. 15 ASHit gD ©itsl Rew 341 2@fRet | 3317 “1Pew ©itsd 919 fieet @R | s Feta (S & 7oy «ififts 2
Q)  @-orsT B) @69
© Sb-@-EE (D) @E-3CST
52. %'9 TESIGI -1 STEFIISTE U1 SGHH | 6 % = TeSiral & = foeR S99 Sl | 9 & = Tgsiral 7
A ST ?
@A) wE- (B) =R © TERE-FEfER D) FE-Ee
52. 9 U9 I Q1 9N H fawifsa feran wam ) afeest 9 61 AW e foRR on) el Wi 6 fRd AW 9 S
™ 7
(A)  HE-S (B) HETR © TERE-HE-fIRR (D) HE-TE
52.  The Koch Kingdom got divided into two parts. Western part of the kingdom was known as Koch Bihar.

What was the Eastern part ?
(A)  Koch-Bhajo (B) Koch Nagar
(©  Guwahati-Koch-Bihar (D)  Koch-Hajo
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53. GF P SBSETT WIS AT T

(A)  TRINSHE SPicehs (B) IS BPITSRS
O WERB-BEI sp1eehe (D) @9FF OI8 757

53. 9 (Mantle) 93 SBSFTETH NI STHT 3T
(A) Ao sp1esifs (B) TG SPALSIS
©  SERH- BN ITesfe (D) TR QS Tt

53.  BMET (Mantle) 31X BTG (Core) TSR FHHm STe
(A) ¥'TUES fegwfefsie (Mohorovicic Discontinuity)
B) we fedshafefisie (Conrad Discontinuity)
Q)  SgaER-TeAdr feqahAfe3fe (Weichert - Gutenberg Discontinuity)
(D) TS HFe] 7T

53.  3TERO] ST ST o o< &l WA S

(A)  HRRIGH ST B)  FIS SFHAZA
(C)  IAZAR-Te STHAGAl (D) 379 | = off &
53.  The boundary between the mantle and the coreis :
(A)  Mohorovicic Discontinuity (B)  Conrad Discontinuity
(©  Weichert-Gutenberg Discontinuity (D)  None of the above

54. ©oTF (@AAF IRE@T THIRR SHFAT 2
INISICRIRIE] B) A © fimre (D)  Ior iR

54.  SIBR @G TR[0@ad TR TAFAT 7

@) AR ®) e © feme D) 301 ffze

54. TG TFM I99T SRAFYR A <G e <
(A) gaAfaR B) wfafa © fewmi O) Tz 5 (FRER)
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54. i fou T A SRS T G IS WeEd ol 2

(A) gIArad T (B)  Hiucl < © fe=im T (D) dfe fafen 7
54.  Which of the following is the largest tributary of the Brahmaputra ?

(A) Subansiri (B) Kopili (© Disang (D)  Burhi Dehing
55. ©61F (IR Y SIIGING ASHAT GNpHT Ao s 7

(A wWE-@ (B) W forewa - WLy WG

© FRF - N [orees D) T - (=TT
55.  AICd (19 THA(E OII0IHT AGTRGT (AT A ICeT ?

(A) TE-@ (B) ¥ fG0o®a - NLS AT

© HEFRF - 7Y forma D) T - CTebed
55.  TEMEM 99 YH1 YRAE M= Sgeif st e

(A) wE-H (B) TR fe¥wRr - TR "

(€ TSR - TR fedmR (D) 9 - JW=r
55. i QU T A 1 99 YRaa™ § JeAred- W g HET S © 2

@) W - ®) T famwer - He W

© SART - 7 feqmr (D) [ - fqawr
55.  Which of the following is the period of retreating monsoon season in India ?

(A) March-May (B)  Mid December - Mid March

(©)  October - Mid December (D)  June-September
56. (TS SN ISL FRINT IS01F AHE FfPE 016 “ffers sfafe 7

A) R (B) =Fuhiex O SRS PR (D) oot Biex
56. T3 SR IS IR IS WS S8 q1Stts “Afers sfer 2

(A) =R (B) u Biex O RS 187 (D) oo B1ex
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56. TR 3TEH AT HH TS A1fthdT ARIaT A Heaiie Qreaecia 2
(A) 84 ®B) &z fEg © “EES fHE (D) vam f&g

56. Torg T8 TS A AR TS ol enfyan S T & &9 | o fema ?
@) T (B) FsfHT ©) “EES fHE (D) vam f&g

56. The Ahom ruler who first to turn the Kachari Kings as Thapita Sanchita Raja was :
(A) Suhungmung (B)  Rudra Singha
(©) Jayadhwaj Singha (D) Pratap Singha

57.  IGA fRBICH Gl (@IF1E (5107 IYNGTI o1 78 ©IST 5167 FCF 7

(A) T3 @ (B) SIS © IR TG (D) S

57.  RTeA I FI6A @I o515 IRING T *ToFaT 78 ©iot (S F 2

A) TGS (B) SIS ©) I TEZIHET (D) 3T

57. AT Hel MEEM o« 76 SRHUSHA 78% Wi SRME! <MY
(A) TEZSH (B)  IfoESH (C) e SEITHRS (D) 3A'SH

57. TG o fedme § ) fou i T arguved & 78% 9rT futor st € 2
(A) RSN (B)  ATRASH Q)  HIE SEIHRES (D) 3=

57.  About78% of the atmosphere is composed of which one of the following gases by volume ?

(A) Nitrogen (B) Oxygen (©  Carbondioxide (D)  Ozone

58.  ‘Poverty and UnBritish Rule in India’ 2837 (P I2AT FI1%eT ?

Q) eI (B) R v& srrer O MR AEST (D) RN ST
58.  ‘Poverty and UnBritish Rule in India’ 8715 (& I577 FafgceT 7
A) oI Y B RPEsTEE (O wWeR @EST (D) RO S
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58.  ‘Poverty and UnBritish Rule in India’ forsTer@! fergiHm |
(A) FIEag ®) faftd == a@ (© TRYEARUST (D)  HIMH M
58.  “Poverty and UnBritish Rule in India’ T =% i To 1 fohd o1 ?
(A) gaE g ® ffEaIgt@a (© <HE ARST (O) Hewwm
58.  ‘Poverty and UnBritish Rule in India” was written by :
(A) Subhas Bose (B) Bipin Chandra Pal
(© Dadabhai Naoroji (D) Madam Cama
59. IO AN N IF NTo3z W% STHIS NISo A 21T =77
1
(A) 69t (B) 49" © 55 0T (D) 79"
59. SIIOI AN Y 3 STIRSIE NHTZ ST W ST =67 -
1
(A) 69D (B) 49D © 53 REn) (D) 79T
59. HRAR AH §H AR FHgeH TSR 9 TSire TR HRA 6
1
(A)  6¥=T (B) 4T © S5y E (D) 781
59. WRdME AHE 9HF 3R WHfo= HeATg Sidt & o9 999 1 AW T
1
(A) 6wU (B) 4¥U © SE‘amé (D) 730
59. The difference between the Indian Standard Time and the Greenwich Meridian time is :
1
(A)  6hours (B) 4 hours © 55 hours (D) 7 hours
60. TeTo SENGE (FFSH ThF TERCHHIRT ToTATT HIRFIIT 516 Tihow 7

UPT-19/P-11/Q
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60. 57 STEN® @FF BhF NEI@MIET F5115 IR 1@ S0 Mo ?
A R.K. wRm SR B) THWR 2R
© T° HR.fo. [ (D) 5T SF wfrer
60. RIS MM R &l He-sieR ' ARR fog—rma aies € ?
(A) IR fo. SIRm TR (B) HIEHAR &R
© = eRfe oAt (D) 9R SH A=A
60. frAfafEd ¥ § M HieTsicel TR % STTwhR & | I € ?
(A) IR, . TIRH | B) HIfER R
© = AR L. SAsl (D) TSI ARl
60. Who among the following is associated with the discovery of the city of Mohenjo-daro ?
(A) R.B.Dayaram Sahni (B)  Mortimer Wheeler
(©  Dr.R.D.Banerjee (D)  Sir John Marshall
61. ST STGET CFAG [FFIS (AT S 8% ?
(A) ST STl 5IFIT AP OO ST UF (P 2T |
(B) TSR SoifHd 5aaiea T fe1fis ogfes 33 enfoi |
Q) SIS ST6IEF 5331F AFhesi ool ITo!fEF 23 (ITNT |
(D) ST Sifome IFAT S Fa S f71= |
61. ST Se@d oF@ R @ o35 @ 2

UPT-19/P-11/Q

(A) ST SITeIfEF TP AFfeTeeld T UF @ EF =7 |

(B) ST sireifET STaFiad TAAG fo1fis Srwig 2o 3@ |

© AR ST TP AP0l ISl 2F 7 AT

(D) ST S0 AFALT Twra FF 5 |
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61. TIfcETH=IR HRER GUEATE TMERIH o6l HTH Y e ?
(A) =R ERER e Jrdd’ s GREr aHRes |
®)  fcrEH=R GRER e o Fiefsd enemm |
© Oifciam=IR SRER Grsare TS Sif-2=1 o g[ |
(D)  fefam=IR GRER ergar gRRREr gt g ofi |
61. T HEEHE yoel WR # FrAfafad SR-H 3w w2l § 2
(A) TH HES JUMCH TRR FHRT TR €9 H THETH & |
(B) T THT Yoreht TR Ffved w9 § s fafea wfaum wa g1
© TH T YOel TR YhfaiTd &9 F TR Tal 2d & |
(D) TH HGH YUIlelt TRHR o FHH Teh THIR] FHEer ¢ |
61.  Which of the following statement is correct in case of a parliamentary form of government ?
(A) A parliamentary government is always unitary in nature.
(B) A parliamentary government must have a written constitution.
(©  Aparliamentary government cannot be monarchical in nature.
(D) Inaparliamentary government, the head of the state is the titular executive.
62. OISR MERFT (PO SRR SPIS IST 5T QAT SR [ SpIi 5319 beTiacet spmef 2°e
PO 1% ICTO SFIBA T STB! (T FI #1F 7
(A) SR 350 (B)  SIqCozHA 352 ©)  SIqCoRr 354 (D)  SICo=H 356
62. SIROR TR (@ SFH ST ST A7 QF 5 et &ft Sd s sretis seme
30T AIBRS 33 TST TP P SIRET (T FACo ATET ?
(A) SRR vEo (350) (B) IR 0CR (352)
© T os (354) (D) SO 0Ty (356)
62.  RA BIRIGH WSSl oIl HFH I SHISTeel Agil TR WSS FHefed FRER HeARH! gErdse

UPT-19/P-11/Q

BIERATET o TESiE SHRSA( SiaTe eAsiH=T g ?
(A) 350 SHIH (B) 352 T (© 354 THA (D) 356 SHIA
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62. frAfafEd fra o =g & HRU YR & Giaum A fFo T ToF &t T59 TR g6 &Y H HH Tl Il §
T Gfaenfer ¥R % STTIR 39 T i qgufd 3 Tl I S L Gohd © 2
(A)  SIT=T 350 (B) 3TI=T 352 )  3TT=T 354 (D) 3T 356
62.  Under which Article of the constitution of India, the President can declare state emergency in the event that
a state government is unable to function according to the constitutional provisions ?
(A)  Article 350 (B)  Article 352 (©)  Article354 (D) Article 356
63. ©oIF (@O MRS SR 7
(A) [R5 Scte! B) s e
© SPIfte sifes AF S (D)  8RT THCET (30T
63.  TCBR IAMG ST 3125157 2
(A)  HITET SIS B) fas sCe
© TIPIfte sifea AGR Sicst D) SHEERFAD
63. TR oel WL GieSam wEem ?
(A)  foremrrg o s (B) T
(©)  Scheduled Caste 1 fieati T (D) TS e 5
63. TrAfaftEa sF-o1 digenfies omgen €2
(A) et s ®) o s
€  egfaa Sfa 1 T e D) W& G ¥
63.  Which of the following is a Constitutional Body ?

(A)  Election Commission
(B)  Finance Commission
(©) National Commission on Scheduled Caste

(D)  Allof the above
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64.

64.

64.

64.

64.

[SRIEACRE
Q) 1396 s @ ool oS @339 A1 5T 4190 o7 |

B) RxTe AfRE [T SR oIS [@3F b3t 4170 e |
© FrzEe fofsns @ s BT 4Rt g |
D) fIzEs b Affsns @ o Wb iffsns @a s Gt 4i9cet i |

[P A 7
(A) @ IR IS TeFBfel STOR SIS BT (AF O 417 @ |

(B) IR IFIRETF T3 SO TSNS I5FE It 417 ¢ |

© IR IR BIFS S5 I 417 o |

(D) W@ QS0 FffenE 51T SF5 9T TISTS I5T3FE DT 417 G |

Sehf B AM

(A)  HEIATAR ShsT YR RSl sishfwhr 1 SRR aME R |

(B) HEINTAR ShaT YRAT RS Sl 3™ 3R |

Q) HEIREIR SihaT SR T SRR ARTRRA! 84 81 |

(D) HFY FIARTIR ST TR HFY IR Sl T 2™ BR |

Ah T A ?

() 59 ge # arftifcas S TR fied 9% & T3 &t od €

® f5a R A afrfces S yrdE fod & a1 T93 & <d

© 58w afoifcae o, TTeeh ol TIF et <d § |

) 58 R 3 afofsaes s, TR T aiforfsae S S T3 &l od |

What is bank rate ?

(A)  Therate at which commercial banks borrow money from the Reserve Bank of India.
(B)  Therate at which commercial banks lend money to the Reserve Bank of India.

(©)  Therate at which commercial banks lend money to the customers.

(D) Therate at which a commercial bank lend money to another commercial bank.
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65. 2011 T CETIFHINE SPIT SPW FSEAFIAAT (G0 NI FFFTOR 2T AT o114 27e7

(A) foar B) T © snEsi (D) ot gers

65. 2011 ST SHseFT ST SR (Sreriesfera wies STy Treqers 219 AT (STl =67

) foare B) 43I © euEsi (D) fout ZRIS

65. 2011 AEUEM g AMEI afcd ST S eem®RM sRe Jafrggal Guied @ TR g9 99al 9™
IESYIRIESIEIN
@) ® g © SR D) fem-zEmE

65. a9 2011 I STHIVMAT & STTAR 379 & il § ¥ Tod e Frewan 1 gfasr e €
&) fwe ® gaf © =R ©) femeEE

65.  Asper 2011 census, the district having the lowest literacy rate among the districts of Assam is:

(A) Chirang (B) Dhuburi (© Udalguri (D) Dima Hasao

o

66. TBI-77 “ifvATE B SWH® (=IAT 5 27T -

(A) 1991 (B) 2000 © 2002 (D) 2005

oo

66. Swa-9< “Afaam Bifey st SGE 2877 D 267 -

(A) 1991 (B) 2000 © 2002 (D) 2005

66. T TS YRAM sig-ersard ffasrmrgisl QhHE Arsegan Se
(A) 1991 (B) 2000 © 2002 (D) 2005

66. -4 UReg H ol w1 fore 97§ Siretr T o1 ?
A) 1991 (B) 2000 © 2002 (D) 2005

66.  Sikkim was added to the North-Eastern Council in the year :
A) 1991 (B) 2000 © 2002 (D) 2005

67. SEPTRIF (511D ([ STLCATSH SATBF AINCS 28 I SFVFCOT 27T -

(&) P SN [T @95 (B) ARG
© TR EL @S D) TR TS @8F
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67. STAPTRE (A8 1T SLSH FHTS AW A7 ST ARG 26T :

(A) IO SR T I578F (B) TRSG

Q) OO COh BT (D) TSN TS TIeF
67.  ‘Self Help Group’ 3T Sichsil QI ATRGSITE WS SE

(A)  E™ A fae dh (B) T

€ RdE Ve d® (D) R e o
67.  TCH WS YU 1 ok TS AT ohl TAIH Fa hiarel HeM ¢ :

(A) T TH fasm S B) e

© YRdE W2 dF D) yRdr e S
67.  Self Help Group Bank linkage programme was first launched by :

(A)  Assam Gramin Vikash Bank (B) NABARD

(©) State Bank of India (D)  Reserve Bank of India
68. SITOR TRYTT AL JPIole [FHH0T ST ST Fhs Il =ox 2

(A) 18 B) 20 © 22 D) 29
68. OROR MLRYAT SEY SPIHITE T SO BN FIFho (ST XR(T ?

a) 18 B) 20 © 22 D) 29
68. WA BIRIGH HfafSaf ST W Hiem e A< T -

(A) 18 B) 20 © 22 D) 29
68. RA % WIAHM 7 eT2dl ST H feha TR Arneii 1 ik fean 2

A) 18 B) 20 © 22 O 29
68. How many language does the 8t schedule of Constitution of India recognise ?

(A) 18 B) 20 © 22 D) 29
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69. 5 ol IICSIO AT FIT AW (1A 27T

(A) ©RS (B) A © 30 (D) WRT TG
69. I fofes IITSE ozl FaT 2w oeifh 2o

(A) TRS (B) NF ©) 3y (D) WIRET FFAIE
69. ‘Zero Based Budget STERSI=N BRIG3T ST& ;

(A)  9Rd (B) UM © I (D)  STHRGR ST BT
69. ¥ I YR AHHL Ioie TGN hTAaTel JIH T € :

(A) ¥R (B)  SMAH © e (D) Wk YT
69. Zero Based Budget was firstadopted in:

(A) India (B) Japan (© England (D) USA
70. ©lFory AT ‘TrifEe STRIFS’ GO O (SIFUT B ST LT 9 ”R 2

A offexbafim @) JoRstgess (© s (D) ZISIFCETS
70. SROR NRUIE i srer g €173e1fS 6 @1 918 (I @eF @R ?

A OfeE@bAFRT B) JERSILFAE Q) S D) SIS
70. ¥Nd BRRM diafar = fafsem et g TRE 9« FRIGHEE | aEe SRl 2

(A)  gheE afEn (B) AMRAIVAEER (C) UM (D) HEoIETS
70.  WRAHE Hiqu o =g geen’ st uRon - frefated fHa T 4 s 2

(A) USSR B) USA © Japan (D) Switzerland
70.  The concept of “Judicial Review” in the constitution of India is borrowed from which of the following ?

(A) USSR B) USA © Japan (D)  Switzerland
71. ©lFod (B3UT ST fa-ma 1 T 795 3t ?
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71.  ©lAced FAH ST fa-3war Rgraweyet Sy 2

@ 5 ® 7 © 17 @) 19
71.  RAM Y TgSiiend Hed fogm 991§ ?

@A) 5 ®) 7 © 17 D) 19
71.  9RaY & fohdd T § f5-weq faum dea €2

@ 5 ® 7 © 17 @) 19
71.  Inhow many states of India have bi-cameral legislature ?

@ 5 ® 7 © 17 @) 19
72, O6F (PO RS SIIGINT TBTE FAEOF IR oFas Tame 957 7

(A)  oEreT B) RowiisE asE

© fefermge (D)  WCATCTS ST 2B
72. 63 @F & fefb BRTed ST SREHIH! ARBATT (F@ -7%e =7 91 7

(A)  ATFIT ®) Reier ase

© eferarez (D) NG P T AB1T
72.  TRMAEM oo AIMY WI-2RT 9RA BRIGH W= HE Semhi feams arhse 2

(A)  Question Hour (B) Privilege Motion

(©)  Fillibuster (D) Calling Attention Motion
72. frafafed MR- o 1 Ra %S98 SR % HEma § T8 @ S © 2

(A) 9 &1 H0E (Question Hour) (GIREIERSEINE] (Privilege Motion)

(©)  TwfcTeE= (Fillibuster) (D) AFERYY-HIRH (Calling Attention Motion)
72.  Which of the following procedure is not followed in the business of a parliamentary session in India ?

(A)  Question Hour (B) Privilege Motion
(©)  Fillibuster (D) Calling Attention Motion
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73.  OOAINOIR GIRECOT TN (I SsI013fReT ?

(a) ® % © wIW D) o
73.  GARPIGR RN A (& AT SRl 2

(A) W ) IRESl © @AW (D) TSI
73.  Concept of Utility el famar @R IR :

(A) TR (Marshall) (B)  feo& (Hicks) (C) SFU™ (Bentham) (D) T (Gossen)
73.  SYAINTAT gRon i Haged ferd gafdd foram o ?

(A) HEfA ®) few © ouM (D) e
73.  The concept of utility was introduced by :

(A) Marshall (B)  Hicks (©  Bentham (D) Gossen
74. OO (FIFAF IOT ©lTed fooge G160 F1THF T 2

A) TG (B) = AT ©)  ~APomagst D) IS
74. 67 @R 500 ©RE FHIHF CTET Sesim F1 7

@A)  FATF (B) & AT ©  ~AFonam (D) ITTAS
74.  ARAH o6 T TSNS S G fog=a S ?

(A)  HERH (B) ITY U © I= AT (D) TG
74, Tr=fafed fae o9 # TRaad & gaifus @i Saes T 72

(A) HleH (B) Y U © ufvem s (D) TRES
74.  Which of the following states is the largest producer of gold in India ?

(A) Karnataka (B)  Andhra Pradesh
(©)  WestBengal (D)  Jharkhand
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75. SIS At I 4T JaIF (@R :

(A)  Geoyar ® Rfzegar © et yar (D)  (B)Sr= (C) DR
75. IO gET ©IQ Ay JAT 367 :

(A) &G gar ®) Rfzs gar © Rewsgar D) (B)«9% (O)TWE1R
75.  Currency Notes 3T Coins @t ESRISIEIE

(A)  FlatMoney (B) LegalTenders (©)  FiatMoney (D) (B) 3R (C) el
75. RIS ot HeT IR Tkt Hg1 1 el i e

(A) I T ®)  ferre e © frrewm @)  (B)R(C) <r
75.  Currency notes and coins are called as :

(A) Flatmoney (B) Legaltenders (© Fiatmoney (D) Both (B)and (C)
76. SIS (SO SIIOR FBT CFae AT 7

(A) o0 B Sficery, [od @1t srafe (B) SWIFITeS efsfaing

© OF TEIIEF Wl g e (D) 39T OIS &7 927
76. fpa @ Efh oo R FA5ET ova 2w 7

(A) AT FF (51073 ST 2877 Mmfe

(B) SWiFies dfsffig

O SRS FFAET Feo! AIgeg 154

(D) TFNET 9FH3 T
76. TS el AIMGAT YRA BRGH forrerg o Sref-emms e 2
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(A) ST S HH S @ @M |

(B) THM TR &S ST @I+ |

© AR SE Bed A1fs BIeRATR |Ee = |
(D) TSI HEE 9R 7T |
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76. TrAfafed ®F-w1 wrda frate o wafsa 22
(A) 999 T fhereret o fosell siff@ e (B)  woTdIfdes gfdifee |
©)  3THRER Tsgufd o T Teeufd far= | (D) W A Tk g T |
76.  Which of the following is associated with Indian Elections ?
(A)  First past the post system
(B)  Proportionate Representation
(©) Presidential Pattern of Election like U.S.A.
(D)  None of the above
77.  fACIS (@E0T Sfrem @Sy 95 7
(A)  I3FF *THH (B) Fom FsAIfeTH!
© =R (D)  ITNFEPWN =T
77.  @EEy @A SeEd @FEs a2
(A) SRS =T (B) FoF TSI
© = (D) ITTEF NS =7
77.  TEEM o9& FEA EINR (Democracy) 1 gz 7 TR ?
(A) SRS G ®B)  3ai fafsaefa
© foura'ta (D) TS FRErE TSt SfE=r
77. T -9 o % afere T € 2
(A) T R IMEA (B) T = UlfeTehT
© frarem (D) STk {t SmEH
77.  Which of the following is not a feature of Democracy ?

(A) Ruleof Law (B) Independent]Judiciary
(©  Elections (D) Hereditary Rule
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78. ©IF® HIFIE 1983 B 5107 FT SIFIIIT SIS 39i® T8 I TIRGCoT Sifteet :

(A)  FH I ST SIFIPNEF NOH ST=91F HF FNo1T Noroma Rzt AT 317 |

(B) ©ITeT TS TF AYTNRIT WST® F=91F SN TGS Norsma REmor A 517 |

O ©FE b3S TR Site T FT Wote =11 Ko+ T |

(D) 4N bIFF A IIST BIFIPNRI NS A6 KIICOT 9T 4T |

78. 1983 STI(T GlFw I TIAT 5107 Il STIAT SRS 3947 758 T 7iRrgfB fize :

(A) ¥ 9IRS ITFABER NS 79 I FNoIF [elSaq il 19t F27 |

(B) ©HCSA AGIS UIL AN N3 579/ WL FHoF [erSaa R A9t Fa7 |

O TS FIFET TRNTFT Qe IR Wy o7 wxfh s1ahwr a1

(D) U TIFIF QIR ST TIFIBTER NS L0 TG <190t Far |

78.  Rd GRERI 1983 WSS TMRHHTE FLEhHT STEIH] AT B foaT Sele :
(a) & IRER TR Tesi SRR ToRe 9l 3T el TR SR Arafa i |
(B)  EIRIGHTR S et Af-f Torre W<l SR el T e TEfafS e |
©  WRd HrErf fafsete s eee GRRwR e g Frfafsem |
(D) % GRER 3R TES TRERER TSRTE TR SR e Aot |

78. T IR 7 1983 H FIHIRAT STRINT TATIH T TR A ok T gigd 9 |
(A) T IR T THR & o T TR a1 Hger o oI |
(B)  9RAEH o U TR T o oft= Trere 3R &l Sgerd & IR §
(©  YIRAaY % ArdTfcishT IR FHruTfereht Ty & ok H
(D) T 3R TH & ofta | a1 fas o1 Femd Fma &g

78.  Sarkaria Commission set up in 1983 by the Government of India was entrusted to examine :
(A)  therelationship and balance of power between state governments and the central government.
(B) therelationship and balance of power between the President and Prime Minister of India.
(©) therelationship between the judiciary and executive of the government of India.

(D)  the conflict between centre and state on division of power.
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79. ©lFwd (BT ST 24N T fofgw 5107 T (=t 7

(A TREIE B) SififeErg © o= At (D)  sMTCeTS
79. RS @ IASHH o2 o fofers sifve zafs 2

A)  TREE ® oAy © = AT (D) SIS
79. VNG 99 WY wesien ffagaft e vek fafe e e SR 2

(A) IR’ B) dfHEAE ©Q FYUYE (D) FNATS
79.  WRAIY < fohd T hl GLH | 1 STTERA AR TS foram T o1 2

(A) HERTZ (B) diHeTg © A Y (D) T NMete
79.  Which of the following state is formed on the basis of language in India ?

(A) Maharashtra (B) Tamil Nadu (© AndhraPradesh (D) Nagaland
80. GOIF (IO BTG NS [3FT F1f 957 7

(A) RO g TS (B) T Zoft T

©)  «royal Siifs T (D) = fyxee
80. TIEd AT SR TSTS T[T IR 7 72

(A)  REFE JET T B) it oAt

© e YuE Qs (e (D) = frEs
80.  TTEMIM wel HIHA YR RSe siehf @M 7T :

(A)  Custodian of Foreign Currency (B)  Printing of Currency Notes

(©  Issuance of Coins (D)  Controller of Credit
80. I 1 HIF-T1 YR st Seh 1 el 1 § 2

UPT-19/P-11/Q

(A)  FefereR HET Al & (B) T TRV FHEA
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80.  Which of the following is not the function of the Reserve Bank of India ?
(A)  Custodian of foreign currency (B)  Printing of currency notes

(©) Issuance of coins (D)  Controller of credit

81. (I 570 GlFoY o1 [@0F JuiT CINRrersma 4179 M1, M2, M3 311 M4 287 33 ?
(A) 1956 B) 1966 © 1977 O 1991

81. T T GG SIS 1T [aIF cIfafeIts 417 M1, M2, M3 U3¢ M4 9138 S 7
(A) 1956 B) 1966 © 1977 (D) 1991

81. ¢ SIERIE YR el sishl YT Arg! T4 He@ M1, M2, M3 3T M4 H&d SITEeAH ?
(A) 1956 B) 1966 © 1977 D) 1991

81. T ad # vrdia e e = a1 o1 oft faursm &6t &rRon M1, M2, M3 3R M4 H Yo fhu & 2
(A) 1956 (B) 1966 © 1977 (D) 1991

81. Inwhich year the Reserve Bank of India introduced the concept of classification of money into M1, M2, M3
and M4 ?

(A) 1956 (B) 1966 © 1977 (D) 1991

82. OISR 15T SIS Yo 6 ST 72yt fdwT 2

@) 3 ®) 13 © 4 D) 14

82. RO RITEA ST (TG 15 Sy 115 ?

@A) 3 ®) 13 © 4 D) 14

82. Tommra'far smamme wed foamrg ' siaeAr o ?
A 3 ®) 13 © 4 D) 14

82. N Fraf=m st it Tt Fai=r g st He fohait § 2
@) 3 ®) 13 © 4 D) 14

82. How many Election Commissioners are in Election Commission ?

@A) 3 ®) 13 © 4 D) 14
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83. OURB:HIZITBI® O (FHAI (FA® O] (FICOT TIZT T ?

(A) RTGS (B) NEFT (©  SWIFT (D) «brs 77
83. SBAIER 8@ Jut [FfawEs ov@ Fea @6 Tage W 7

(A) RTGS (B) NEFT (©  SWIFT D) afHs 7
83. TEHIS T QUEEHAM (transfer) ST TRAM w6l HFAUE! SRS ST 2

(A) RTGS (B) NEFT (©  SWIFT (D) HAYETST
83. ST W H YRI-a=d o &5 H 1< ShH-91 HeRR fohdl S © 2

(A) RTGS (B) NEFT (©  SWIFT (D) SR F1TH Ff &
83.  Which of the following is used for International Money Transfer ?

(A) RTGS (B) NEFT © SWIFT (D) none of these
84. TITOT (FITAT ISHG AV ABITS! IS TIFT AT ST FT 57 7

(A) P ® f== © FroEE D) si&T
84. TS (FIF TS ABITS! IS HFIFIF 21T 5T 3T 72

(A) S ® e © TSEN D) &R
84. YA TRIGSTE d HIFH TSNS T-HTsid TSt GUreA Hiferiiaia ?

(A)  THH ®) fa=r © TR (D) Tt
84. RA o forE ToT § WYL TSNS o Yo STReY forat 7o § 2

(A) FH ®) fa=r © TR (D) S
84.  Which of the following states was the first to adopt the Panchayati Raj ?

(A) Assam (B) Bihar (© Rajasthan (D) Punjab
85. ‘IIIST’ SIS (IO AR o15M0 Sifbw ?

A) s cva (B) FHTFA © e e (D) FTF (8
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85. ‘IR’ AT @HF CFad I L& ?

(A)  Frecsa (B) FECFA © wEel e (D) FHIEH SfF
85. “Kayakalp’ forerifiEan Sr=<1 i ?

(A)  Ficliae @Sl (B) HEH @IS

Q)  BHFTRE HEH ARSI (D) wifE GRS
85. ‘WhTTRe’ AN foRd & | Her 82

Q) fosmee (B) WA S © v faw (D) HHGEIH gie
85. ‘Kayakalp’ scheme is associated with :

(A)  education sector (B)  health sector

(©  skill development (D) employment generation
86.  RIRAENICHE R’ :

(A) QAT PN (B) 9T Koy i

©  (A) (B) GO firster (D) (A) 3= (B) 0 727
86.  RIATIHT 7T :

(A) GG JARIHD (B) W Aer @FE

© (A)93R (B) g3 e (D) (A)93R (B) @ADL
86. Hypermarket 3T SleTY :

(A) Y gUR dehe (B) HTY fIHHIR e

© ()3 (B) H=ial (D) (A) 3R (B) H=sll T
86. BIEUATRI T :

(A) THgIHATRS (B) T faumita ©R

©  (A) 3R (B) < b fargor D) (A) 3R (B) S &
86. Hypermarketis:

(A) asupermarket (B) adepartmentalstore

(©)  combination of both (A) and (B) (D)  neither (A) nor (B)
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87.

87.

87.

87.

87.

CITOR TR TO SPIH! T9/F® Ge1F (FIACHT BT B 7= ?

(A)

(B)
©
D)

SIT0d MRLTE T8 SPIBIE T 516 SHS oFe1a AIES IS AToF NI eFhod Fgo!

SAFES FCZ |
TV SPIOI SHASTG R THICTS BfeT AT TS SHIZAF FIPFhs Mg |

ST - 21T ACeTt Fg MBS +ffaw 0 Spible =iat sfoifers =3 |

TV P! WS 5if5e Frrg *MTe ifam shyza [y, srifadas sie Tk wref 31 |

SIRTOR TLRTAT T S 01 ST 63 @9 51T 8% 97 2

(A)

(B)
©
D)

ISR ST RYTAT I SP0I01 Gad 7 BT SASIIS TR AW S - AT AR G FAF 0P FRFo!
SHFve R

TV ST SASITS STHITST BTl AF=AAT5S HIZAE FIFhs MR |

o

Tad S 1BCeTH ST FRG 1T +ITam I8 P67 =T Abifers =3

IV SPIOIR TCo 51f5® TG =17 “ffam yag et IR 93e TR wret 3w |

YRd gee Tiefsat 6 T e snfesen et s« 99 SRAEfERT 9R T ?

(A)

B)
©
(D)

RA BRIEH 6 T4 THRT A-TFAST IRAM SHSTTahR THSR, TSET-2=R AR Sgars | e
GergE e Tl |

6 1 TR SRR THTSTE 116 Taf Ffer SRS HE-AhRE! SRRl 7 2k |
G- RAT TAa! e e semg (Autonomous Councils)tl'?lT@\T 6 T TR SRTSTTaa ST |

6 T1 T Sfeset e e dem8 (Autonomous Councils) RIS TEHRAHT ST TS, AT STHRE
SINAEISEIPRIHIRIE

TR % Gl 1 TS ST i ErEd HiA- SR e T8 2

(A)

(B)
©
(D)

ARAa o Hfau™ 7S ST & STIHR 9N o SWR-Yaiad o SISl Sl FHTSeh-TsHfds 31K
e deh TR <t 181 L § |

VS ST J ST FHIST ol T S shi GRET o ferg T < €1

VS ST o T8 TRRR IR o ITR-YarEe & et T nfed gieg it 7S et ¥

S ST o TEd TRRR T wfad ufeg 1 faum, wef o) =nfae sar R e i © |

Which of the following statements is not true to the Sixth Schedule of the Constitution of India ?

(A)

(B)
©
D)

The Sixth Schedule of the Constitution of India ensures the socio-political and cultural autonomy of
the tribes of North-East India.

The Sixth Schedule recognises customary laws prevalent in the tribal societies.
All autonomous councils of North-East India are governed as per the provisions of the Sixth Schedule.

The autonomous councils governed under the Sixth Schedule have legislative, executive and judicial
powers.
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88. @I LIRS oAfPma1R ST Cefiar Sy 2°a

(A) 2010-15 (B) 2011-16 © 2012-17 (D) 2013-18
88. @M ABIIRS ARPHAI 5]fR® STHA-PleT :

(A) 2010-15 (B) 2011-16 © 2012-17 (D) 2013-18
88.  fomfy an IRk faerifean safimm @ wm Sem ¢

(A) 2010-15 (B) 2011-16 © 2012-17 (D) 2013-18
88.  EIGYI U= Atk TRATSHI it Ty

(A) 2010-15 (B) 2011-16 © 2012-17 (D) 2013-18
88.  Twelfth five year plan covers the period :

(A) 2010-15 (B) 2011-16 © 2012-17 (D) 2013-18
89. TRWF AIN AR sfsszre fofs Fprer et snf¥or g7e

@A) TR oy (B) (=TT TN IIE

© oo D) TR =
89. TRR(oR o BIF sfiegTR fofs ReT@ @ax s i’ (model) 25

(A) TR ST (B) TG GNIEA et

© T et (D) STRISIF A
89. NG TSR GfYy o1 SRR faenifed Mm99 98 Aea 9 aFE SeiHH 2

UPT-19/P-11/Q
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89. WRAAY I YoH GoH FTTHeh TRATSHI hl STTHR AR oIaTel Higd of :
(A) TR & Aied (B) TIEE TR Hled
© wRE Atea (D) TiedieT Hiea
89.  Thefirstfive year plan of India was based on the model of :
(A) Mahalanobis model (B) Harrod Domar model
(© Harris model (D) Gandhian model
90. SRV MRLAT 25 (F) [21 - A] S C0=K ©e1F (FFCOT CFaAF 1576 STo® ?
(A) T SR (B) PFrsw SfFE
© B ASE (D) SV A HFF
90. RO ILRUET 25(F) [21- A] S0 b7 @19 @ 575 Sifow ?
NI GRBRIG I B) e SFE
© TS S (D) O SR B
90. YRA BRI WSt W 21(F) 31 MR oe Hiesi Trew<] i ?
(A) SR STIER W@ WA= (B)  Trciemst Hremg
© gEtaf grem ©O) TafrmmEf e
90. YR TITHM % 21(F) TS & ded = & e & & 1 Yrafcha ¢ 2
(A) T g (B)  T3at =1 sAfEeRR
(C) T hl SATURR (D)  TF S T ATTHR
90. Article 21 - A of the constitution of India is related to

(A)  Food Security (B)  Rightto Education

(© Rightto Health (D) Rightto Information
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PART - IV : Language - II [ English (Compulsory) ]
TIPS QR ST ofi-II (RIS )-S Yo 3007 2 IR SN Q3 S Tt AIFHIT IR TSNS |

WA s Q2 Ol SRl- 11 (ReFIE) -Ts TiiD 3015 2 Nitg ©3e U Sist 5izvet ST Sy ILTeES |

AT WA ST STerTEE e -1 (ESt ) e 30 St e e e mde oAt arer TR
el

TEequt . |l wenfeE % forw T e H -1 ( 31T ) 9 |edt 30 we s €1

Important: This Partcontains 30 questions for Language -1I (English) and it is compulsory for all candidates.

(EN GLISH)
Direction (Q.No. 91-93):

Each set of the following sentences have four alternatives. Select the most suitable alternative in accordance with
the correct use of tense.

91. (A) Itislooking thatitmay rain. (B) Itlooks thatit may rain.
(© Itislooked thatit may rain. (D) Itlooks thatit mightrain.

92. (A) Helivedin Delhifor two years when I went there.
(B) Hewas living in Delhi for two years when I went there.
(©) Hehad been living in Delhi for two years when I went there.
(D) Hehad lived in Delhi for two years when I went there.

93. (A) For the last three months I am working on the book.
(B)  For the last three months I have been working on the book.
(©)  For the last three months I had worked on the book.
(D) For the last three months I have worked on the book.

Direction (Q.No. 94 -96) :

In the following items some parts of the sentences have been jumbled. You are required to rearrange these parts
which are labelled as PQRS. Choose the correct sequence of the labels to get the meaningful sentence.

94. The management having agreed the workers called off the strike

S R
to increase their wages and returned to work
Q P
(A) SPOR (B) SQRP © SRPQ (D) SRQP
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95.  Scientists carrying out a study of an ancient caused by man made carbondioxide emission

P Q
glacier feeding the Ganga may melt before the end of 215t century because of climatic changes
R S
(A) SRPQ (B) PRSQ © PQSR (D) RQsP
96.  The essence of democracy for which every citizen must be
P Q
educated and matured is the active participation of the people in govt. affairs
S R
(A) PQSR (B) PRQS © PSOR (D) PSRQ

Direction (Q.No. 97-99):

In each of the following items one word is underlined. Four alternatives are given against each underlined word.
Select/Choose the word/ phrases nearest in meaning to the underlined words.

97.  One should be precise in his speech and should not be impertinent in expression.

(A) impudent (B) restrained (©) irrelevant (D) superfluous

98.  Ascientist generally carries out his investigations empirically .

(A) by intuitively (B) by observation and experiment
(©  verbally (D) logically

99.  Thereis no single method to teach in every class. The teacher must be eclectic in his approach.

(A) unusual (B) proximate

(©  roundabout (D) drawing from various sources

Direction (Q.No.100-103):

In the following passage there are blanks each of which has been numbered. The suitable word for the blank has
been mentioned against the number given below. Select the most appropriate word in the context of the whole
passage.

WhenIgointo a stranger’s libraryI _ 100 round the book shelves. This is to know the type of person he is and
I feel thatI know the _ 101  to his mind.

Ahouse withoutbooksisa _ 102 house, no matter how rich the carpets are. These only tell you whether

he __ 103 _ alotof money, but the books tell you whether he has a mind as well.

100. (A) wonder (B) run © look (D) wander
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101. (A) secret (B) mystery ©  key (D)  solution

102. (A) characterless (B)  bleak (©  unlucky (D) bad

103. (A) had (B) has (© have (D)  has had

Direction (Q.No. 104 -106) :
Read the following sentences. In each sentence one word is underlined. A set of four alternatives are given
against each underlined word. Select the word opposite in meaning for each of the underlined word.

104. Modesty is a virtue but it must not be allowed to be exploited.
(A)  reserve (B)  mildness (©  boldness (D)  humility

105. The Government may identify vulnerable areas for precautions.
(A) important (B) remote (©) invincible (D) famous

106. TheJudge thought that the offence was deliberate .
(A)  negligible (B)  unintentional (©  casual (D) legitimate

Direction (Q.No. 107 -109) :
The following sentences are given in Active/Passive Voice. Four alternative sentences are given against each
item. Select the best alternative that expresses the same.

107. We mustendure what we cannot cure:
(A)  Whatcould be cured must be endured by us.
(B)  Whatcould not be cured must be endured by us.
(©  What cannot be cured must be endured by us.
(D)  What would not be cured must be endured by us.

108. Modern means of communication have made life much more comfortable.
(A) Life was made much more comfortable by the modern means of communication.
(B) Life has been made much more comfortable by the modern means of communication.
(© Life had been made much more comfortable by the modern means of communication.
(D) Lifeis being made much more comfortable by the modern means of communication.

109. One must keep one’s promise :
(A)  One’s promises are to be kept. (B)  One’s promises must be kept.
(©)  One’s promises one must keep. (D)  One’s promises were to be kept.

Direction (Q. No.110-114) :
Select the correct alternative for the underlined word in each item given below. Against each underlined word a
set of four alternatives are given. Choose the correct one.

110. Learningalanguage involves the establishment of the links between the language form and their meaning.
(A) style (B) pattern © type (D) usage
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111. The cognitivistic school of language teaching looks upon language learning as a process of hypothesis

formation and hypothesis testing.
(A) explanation (B) assumption (©) idea (D) principle

112. Prognostic test discriminates learners and provides guidance for future career.
(A)  Achievement (B)  Diagnostic (©) Remedial (D) Predictive

113. Asense of success and achievement is especially vital in any teaching learning environment for motivation

to learn.
(A) incentive (B) willingness (©)  desire (D) passion

114. Language teaching methodology indicates the sequence to be followed in a language activity, and the role

of the teacher and the learner in the sequence.
(A)  technique (B)  design (©)  procedure (D)  process

Direction (Q.No.115-117):
In the following sentences some are correct and some are incorrect. Find out which part of the sentence has an
error. Mark itas (a), (b) or (c). If there is no error mark (d).

115. Perhaps you know that I have passed the examination in2015. Noerror

(@) (b) © (d)
A @ B) () © © O @
116. The world today is totally different than we have seen in the last century. Noerror
(a) (b) (© (d)
A (@ B) () © © O @
117. No other hill station is as beautiful as Shillong with its scenic beauties. Noerror
(@) (b) © (d)
A) (@ B (b © © O) (d)

Direction (Q.No. 118 -120) :
In the following items you will find some gaps. Four alternatives are given against each gap. Select the most
appropriate alternative for each gap.

118. Encouraged by the success of his venture, he has decided to embark the expansion of the project.
A) at B) for ©  with (D) upon
119. Therich are always succeptible flattery.
A) for B) to © of (D) into
120. Co-operation between friends stems mutual understanding.
A) at (B) from (©  upon (D) in
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PART - V : Language - I (Optional)

TETaqut :

@3 T SII-1-B SPIRT, ISfat, ICol, sieat, Bedt, 7T, @=irer, wfosfy ore s - ofseo
OIFIF 30 BICE 2% 3Mtr | 2SI S #1@ =i OMR $@1-91a9 ©fFl-1-© Srad 397
ST 2MReTFT Seg R o |
3 SICSIF SIFT-1-Q PR, JIeT, 0o, ST, FH, wa, @#fe, wfosfy gae s - 2R
SN 3010 @ o SR | SR AT 2Itd 9 OMR Te-91tad SiFt-1 (6 Srad 741
oY Aafer St te 2@ |

[ ;S sTRrTErE wa -1 1 g, dien, 9, T, fo<, 7R, e, "forgd s el - Sratg-sen

A 94 30 9ify a1 SEwR foEEEn EerE 3T OMR R faemsf wa-1 =mE
T ' TEf T e |

TG 9T o T - 1 % fore feu o fasredi | emafien, sien, siel, TR, fe<d, AR, "ureft, Afrgd ud
el - Yodeh T B 30 T I | qenfeied 3 2maea-us 3R OMR STR-931 | oo -1 # 51 o
1 Seeid T &, SEt aor | ST e ©)

Important: This Part contains 30 questions each in Language - I, for which the options are Assamese,
Bengali, Bodo, Garo, Hindi, Hmar, Nepali, Manipuri and Karbi. Candidates should answer the
questions for only that Language-I option which they have given in their Application Form and
recorded in the OMR Answer-Sheet.

(ASSAMESE)

121. (U 9% I SITH FHIT SHHRE WA Io1 ofte Fiafst 7

(A) SR (B) Y& © *oqr (D) I g
122. WORLAE FROT 4T 7 :

@) e ®) SRS © whme (D) e
123. SPTRT IFR 884 (FRY o1Fes 79T (20% :

(A) oY e B) THRCHIAFs (O TRREAFS (D) W AFS
124. f9fAR® @G e ©7 2

(A)  SPIIT SFF 67 J[IFINTS (B) I4 FPIN 1T T ~ffaqda 923

© IBAIPIRROTRFRARTSTm (D) ST SRS 69 e
125. FreT ais Frers TioeT Srow Qg | F1E

)
B)
©
)

Fregg TR o1 gt et [Rere ST T |

SIS SAT SR IR NooRT SRR/ |
oG RTT @Tsifit Freg sTeghes o15i® =96 906 |
S713T SDIRFR0T 87 |
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126. AT I 107 (FeTF N fF et St T 7
(A) ST S 2FHITEIF (Active, Productive) (B)  STIrT AP ARF (Active, Receptive)
©) &Y 3= 9291 (Passive, Receptive) D) AR SF AP (Receptive, Productive)

127. SRR OIS SASTIT ST=ABIT AT ST 518 77T

(A) SR ST S SofeT (B)  SPIIRI SIIF SPWE GRET- G e
© @ Bifs I FWFAT 3 @ TIRCET I SIS D) Trrert ke
128. Freiey fesly o Wbt ficeics [(fes 43993 get 33 | oo et Firetes T Gerias ST SAMCeTsaT
P
Q) (NI SFRestd (B) WEATSRIRSSIH
© owiw Reve g3 (D) s eiFfesiy
129. TA=feTie @IiabE siat wacor Iy Sfeear
(@) oA (i) o
(b) ST (ii) AT I
© % (i)  XTS
(d) = (iv) I
(A (a)-(iii), (b)~(iv), (c)~(ii), (d)-(0) B)  (a)-(iii), (b)-(i), (c)-(iv), (d)-(ii)
© (@), (b)-(iii), (c)-(i), (d)-(ii) D) (@)-(iii), (b)-(i), (c)-(ii), (d)-(iv)

130. ©&F (FFCOT feo T it FRF1F (Second Language Learning) CF@s TS 937 72

A) 2T N Tl Al |

(B) 3 FiFiwa 3o v |

© wngeifas Rfi-fRetas st fet 23

(D) =R ST FrsT QBT SIfTe 2fd; & Moo SIRITod 326 RmITe 533 |

o

131. ISP ©iFTe *he 4afe IR |

(B)  Fofe (B) @b © D) ©IRG

132. ©FI9 (PIFCOT SPTT ©FIF “NfE o< ©ifow T&T 99 Srzse ?
A) W,T B T,7 © @,3 D) ,%

133. ©IF SFIEIT W5 FNCOT T
(A)  HIT-FXF- T -5 (B) IIA-FIF-o5T-feraT
© IAF-TIG-Aoq-feram (D) =FA-Aoq-FAF-feTda
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134. ©T® STEfAG @0 FLA Soforar ?
(A) I SF (ST (B)  SrerS Syt Avsiifivet

© fufdehirs e et (D) IR SF IS Sore

135. SO oiFTe [FFE Fakfqg seas 77e7 -

(A) 5ol (B)  55Br © vor (D) 58br
136. fVafA® (IO 1=t TR TeTo MYT 77 ?

NEELE] (B) ~SoEs © IW-oT=Y (D) TANIRY
137. PRI O B8 F=9(E vt S I (@I S f$ T Sisaviarg ®mo! o1 Tt |

(a) ORI S ()  oTEs-siFenE fma

(b) RIS Il (i) T e

(0  iferam iy (it) IR A CTNT 21Fo

@ iR FHhs (iv) TR oS

(A)  (@)-~(iv), (b)-(iii), (c)-(i), (d)-(ii) B)  (@)-(iii), (b)-(ii), (c)-(i), (d)-(iv)

©  @-@), (0)-(iv), (c)-(ii), (d)-(iii) D) (@)-(ii), (b)~(iv), (c)-(ii), (d)-(i)

o

138. fEfAf® @949 9% o319 78T I64T ?
(A 7S e wefq (B) TMEHIETS (O I (D) AR

139. ST *1=e ST *1%7 R0
A) ©E (B) ©® © R (D) e

140. ‘fH9TST F3AT FIGFUAT I5F -
(A) st oz gt (B) TCHIF ITHCS

© OIoe bU RSP (D)  TSHife2RTw SIS

141.  oRIfR IS Bigor AT R’
@) E B) © =t I (D) B S

142. PN S-S 2I@-7a P ST ST sl Soeets 27

(A) RI-RAPTFCE SPTRRT GINIF W BaE SHEe FR 17 S MesvT [iFEET ois FEes
AT ST #11fT |

(B) TOSTETE TATT =, Srodl-o6 INF IF-SN A 2Tt F ISP TR FA-Io1t AMfeT #1f33
IF SPTNIAT ST (@I FA-Io9T BT T 3T @5 s sEre i) 21w

O Ta-QATHCE SRR e Bf5-9a, wiie, I591 371 “1ofefes [ifen @t wai «1fis o fofig
A |

(D) 35T TR0 97 |
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143. QB! IFF Yo SO S ST 77 7j/F FN (y1Ace nferiis @@y Ram oz saxe s 23 7
NI ®B) o tw ©  royef fT D) =g R&fs
144. ISR ATHIOr GBS Frerdie :
(A) TTH-SRIGR TIRTT FOCIITo! FI1 I ST (ST S TR FlIAceT HLTRS S F |
(B) TR fomet, T[T 5157 SNfiq RKracy StT SIS S[earst A1, T19 1T orw-ort Fifs IS saae
FIRCeT o7peT 27 |
© Wik SIe Telee o] #I1E, TR OiF ofFt (@I FRREET GiHio (o1os W |
(D) F-IRST BT ESNCIIT FSIFF I ETCET S NT Sed 75 |
145. ‘@ *F oo o 27
A) @ (B) TReT (NG © T (D) = @HaT
146. fTEfEARG (FHG! 575 TOR 779 SFFAS 7[FF Nefea Tnzad ?
A)  «F (B) @t © T D)
147. 5 SET OB RIS SNIOR ST SHIF9T 4FIRT I 3¢ SRR Feld Jed I |
@3 STTSICOIE ST 274
(A) RISy 8t J15- BT 38 FEIAT |
(B) THIHIOS TIeT TIeICS “Afbcet fim |
(©) ©FT (RIS A0l 5TC513 WA |
(D) THTCHIORS AR CToCter (IAICE I FARSI A7 58 @t c3et- cawifers sifvacs Pt |
148. fFafEfis @@= Sfe wF 2
(A) VIS SIS WERG =@ ST TrHIG A AP IS 15T I SrFa6 AT |
(B) EPIIIST FICT I SAGRTG HPHFERGT Teav @fg 1 Wiy st Trre ififafEfes e
N |
© FWEN S (AT [T SASICS JoT S’ R/ S5a1-36fF Shifvs 27 | 775 SpPis
3 AWCOT A S (o7 AfTST =7 |
(D) 8T HCIFI0r B
149. TIICAT AT AT ST TSI13, (FIIF 0T 292 2T ©IF (FIAT 2T
(A)  oevE Sfe (B) SIETS Sfe C) IS (D) TS
150. CSHIRSZRTIM SISEIETR ofwad 910 '

A  cffors $a9t (B) N ©) cifoet D) icFes st
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(BENGALI)

19

121, SIFNIR I ©F ST (T AF1F6 2837 @ Frsstifzss sifas fovates o7 stfawifBg 7

(A) 1T (B) dTE © R (D) ST
122. FGAICAT (ST SHAFAG Fo7 @I T WG & 7

A) I ST (B) =RLETD GAFTI

© 28 TPHETH SoAF D) @WIFGF S5t

123. TSI SHeR 1Y ©RE @1 f e fT &G 2

(A) T (B) I ARG © amd D) oI
124. AT - efs Al a1

(A) TR AANT B) e o fash

(©)  R5T CST ermy D) SR e FrtT Fare fae

125. ‘s’ ==fGa ST =< (G 2

(A)  EPTS ®B) SfH © o5 D) 5Hx
126. ‘SIAM’ WIR ‘Sfoam’ Q3 TS foqrfF wmg o 1w g 9|

A) s €L TGS (B) w® I HAEF

© S Y3 ™A (D) SRITS Q3e Spwer

127. ‘ONEIW I4° FIT TR AL &  Afad <N.ﬂ&(ﬂ“i ?

(A) T (B) @ © ool D) ssifs

128. ORI FFFE GF@ A05S FrSR 5107, 13, 3, o737 wia 536 simat Frace «nfq 1 - o3 gft 5 &6 2
(A) =TI - AT (B) AT - foram ©)  TIT - 55T (D) 515 - foras

129. RoifE® - aff @ Wi 2
A) I=2dI% (B) IS © w2 (D) T ooy

130. SIHA @I AWBGre TR’ = GO T AT @R 2
(A)  TISSIT BAC (GINTF ST (o (B)  FoHT 5Fea Tt @At
Q)  SiefEsT Aifssts Sl (D) SIS VAR BI 7%

131. WS SFoReE S i 2
A)  FEIE ®) G © FE D) TS
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132. S[HVIK AL WEK I 5 foget 2
INERRELRINSE (B) et ®@ar © AemAl wd (D)  STwr (&t
133. ‘=8P THIGF SWINF TS BT @A IHD ?
A) T @F T AT & ? (B) ASHI ST T CF T T HLOR
(©) I NISHE Nl TR FA AT (D) 91T #1TCeT BT ©F P02
134. -0 218 I3 S 6 9
(A) I (B) IATEAST Q I (D) FWEAT
135. TR (7 Ao aaFva v sAfasa s=oms e cooifesstm semaegie| sfawifor Fm 5
fizeT 2
A)  SEATGW ®B) i ISt (@I e (D) STV ST
136. QT 5107 TS ST T ; SW@R ©I5T BF QIR eTieto 1% KT Fea rspied Sd SN 7671
IR SHf3ers T - SfEb a7
(A)  IETEH BLGIATKSI (B) IIHANR DT
©) ST MRS 1 D) TRIET OIIETHR
137.  Ife g qreaTR STRfes fvefq @G 2
(A) BEMM B) g% gavee © T Ied (D) CEHIEOING)
138. JIEHSICeT IENY (I @R Fhay SR a3= fera e 2
(A) IR ®) STWREE 7@ © I (D) IIM Aol
139. T I SHICIF TH@ FIBF (@ I o5 ?
A)  IFRE AR e @R e @3 (B)  SWIOT AT Kol @eiw o (3
© e RKefss e @3 D) TET 9 B8 T
140. ST @F SRS IFAECUT G @ CHITARILE SATSHT 7
() s B) IFHIEISIAT (O TAWTS (D) 7T At
141, FST TSEFE SN FIFS @R 5o A & g @ 2
(A) I I =T oA (B) el 4™ O
© ST AR (D) TSwEE 33 SRR
142. 4% Sfe e a3 -

() TSI (O I @ T ATTER oA [Foltsl Tolef 2@z

(B) WY I AN et oI 4 ©feT (eTesy |

©Q T IR SRR 3feTe, ‘9% Siheg Wae [Ffee Retfiet Imm (e S s STifaieeTy =i i@ 17
(D) STORN I I, H5F Mo e GIST WIS FI0Z A, HT5d (@IS AT |
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143. ‘IFANF TR’ I5ERITTT 3 & 2
(&) SIS JT 2T B) YR @b
© ST O W s STs(qT 3T (D) el AT 063 ©f ©fsl T

144. ST (T IO ©F] IRE3F SIq (T4 EARRRE

(A) T AR ool 551 el

(B) 3T *TRIAT Fed

© TSR AIEES A1 TF TS A=A SPIbeTo!

(D) ATNIMIRIET Sol]

145. QW Q3 (WL 3 A 17
Ao 79+t oW Ay - 3 Ffaerea ‘Wshim @3 @t/ sifo 99 2@ Fotfe st i o
RO R 7
@) Sfefafs ®) oAt © ergEfe D) Tofs

146. TSRS SIS WIET AW 5 fozer 2
(A) St (B) ©IFEAT ©  feaemE (D) x=eTe!

147. SINICE (0T @FIF IS (@11 Kot ST AT 3 @S ST Bl (7 0 72
(&) TIPIT HFTeT Sy (B) RO MEST TS /I ST S
© Y TATSAT S (D) B IS AL S

148. I ORI ATSIF Yrord T 15 |

(A)  TIN TSR (AF AT T (B) WIN TSR (ICF T I @ TSR]
© T TSR (AE ST TR (D) QT TSRS (ATF BT TSR

149. SRS ToNfE @ GFITN FFF TR (@S IS SAF TERSF3 (©fet 10 FIFIER
(S AfRTS TR | - TR B @I 5D T 2

(A) FI Iom (B)  IBCT ST © A D) GFmeT IS

150. A3 &F 9710 296w REoRIsEa anfers Ie41 2
A) @essfaefs B) e IaanT © s et (D) deIS! T
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(BODO)

121. o)’ EE FRESTEE ME fefern feamsan ey -

(A) TR B O © e (D) HHa™
122, &R’ [ETE HEA B TR FRARFART Seet 9 9 e fmee g -

(A) T &R TR (B) TSR WA ©) o, SRR (D) o e A
123. A. Christiansen 311 fefti Grammar and Dictionary of Kachari Language fsrTrsiT SEREHM

(A) 1906 WEUEAE  (B) 1932WEUEAE  (C) 1904 WEUEAE (D) 1905 HIZUEAE
124. TEEN S ATESTSH T QTSTEE1 QISeAM - LIEatd -

@) Th (B) THER © fafg (D) He
125. TGS ARRIM &' §al' fosTren s7¢l Argemsame ISmei| -

(A) 1978 (B) 1994 © 199 D) 1992
126. 1971 HIEATEATE TSI ERONER A ' Hi’ Tremgam T -

(A) T2 TIEI (B) TI24 GBI © <20 TUEI (D) Ti26 GBI
127. ‘AR & 9ETE fefern 3 SNEeREl X EE J6 9 YATES! aeEEE Sl -

() Afgemramty B [yemeamfy (© Ay ARy ©O) afy, Afe ARy amfy
128. fomn Teat e 3R MRifer {fT WieligHE H TR Srer -

(A) TR TR @RT RERfre Aiens famafagmm

(B)  NUTHR@! s BRI

©  TEEeE TeE R

D) (A), (B)3 (C)
129. MR SGHARIT sfesen faeemi g Siem -

(A) 1797 HISATSHEHE 1959 HZLEEH (B) 1920 HIZUTSHHE 1939 HIZTSHH

© 1911 HIEAESHHE 1937 HZAEEH (D) 1921 HIEATSHEE 1948 HIZATSEH
130. SR’ & FUARE Wi BRAASAR difasel Jiel a3 BIsi-9r SiHH Ji= -

(A)  STHM Y ®) fiea’ amE © AW (O IRGRIESESIHEE]
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131.  TRMEM J6¢ S8 T<E o) ' STEEAE SiHM H-- 9= T -
(A TeEr (B) WA © 7w D) ¥R
132. S5 FHR SR SAEhRE St -
(A)  Hidw SREAREE! T =/ (B) UFEIER SRRAREG! T T
(© & M RRAREE T | (D) IS T
133. R’ YFeE HIUNE Twiefad ' ga ferfilk vt fammafy f-m ge' g fiftn s -
(A) e wEA o B) B o SR © WHAEE AERER (D) ot gERh
134. X T ¥ GFIEHEE o QRIS A GG 2Had 3 SISTee] e Sl -
(A) HFA (B) HHeN © HEIM (D) HEREA
135. ‘' TSI i@ SEE ! Y S {4 -
(A) ST eEST B) fEisTHaEsn () TG AET (D) TS A
136. B ool WA SHTSTHRN T Tar M o faamf fafeer -
Aa) 9 ®) 11 © 99 D) 20
137. Reverend Sidney Endle 3T 5R ‘1 SR, TR, G YTms TR T@H HH fae T fosmen smem -
(A)  The Kachari, 1911
(B)  Anoutline of Kachari grammar, 1884
(©  Borogrammar, 1959
(D)  Ashortgrammar of the Mech or Boro Language, 1889
138.  VCE TRATEAE TSR ¢ imfs fremsft et Tremst 98 GiieTe BiEEe) -
(A)  STATTETEE (B)  STEEHIAE € JTAEEEE (D) TS
139. R JETE MR HeR TIATIAR ISl hHT sife STRI IR o8 -
(A) SRR ™ (B) AWM A=
© YT G- (D) TS A
140, =R AT GEARE! TieEe I HAT -
(A) HFe B A © Hre’ (D) dH"™
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141. R’ @M TG FRERRMA T -

(A) CRi RERFRRST s (B) TR RS SR

© TR N Wi FERfusi Srme=E (D) TS 5 98T
142. TREM AR &A1 ThiE faviie -emfii -

@A) TERT' (B) HR~H ARR © Trowua s D) TRE
143. o1 Y@ AAEE! GierS Ieell See HHd IR -

(A) @, By, SR smafef fame 5

(B) TR HH fafer

©  TFA TeE A S

(D) TG A A S
144. fogu ' smERae SHE A ¢ fifs faerg " e fostren JemeiEan -

(A) 1984 (B) 1980 Q 1982 (D) 1986
145. ™ o9 fo=e@l J.D. Anderson 311 oG -

(A) Dimasa Vocabulary, 1895 (B)  Boro Grammar, 1959

(©  Dimasa Grammar, 1906 (D)  Sketches of Assam, 1855
146. TR o6 WY ST A&l ¢ el SIHM ettt ' Sfifera wrem -

) faxw (B) @HH THE © a2 (D)  T=IE Tl
147. =T SRS ST T TR THIRE S| g3 9 a1 Sem -

@A) dfed (B) @R AR SRR

© Tt gerie (D) Wit fiherg
148. ‘‘19 SemEf S Wetered WM SRMAE! REEH! 9RE@ s ' G YAl GYUSEH SR sk Jera-o w1

forster TrEERER ST fodRf € fosTerpRE! X' e SHeER|E 1 S agrE! 9R geEH

(A) TR~ AR (B) FHEREAI (O) FHAFERSE (D) HPHA R’
149. el gfveawRT fomn Tt -

() fifem@d=ndgd ® Afaw@aIngd ©  (A) JR(B) (D) &Y qE B el
150. TR a6 A9 @ity 337 faferenfy fefrer -

A & ® © ©)
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(GARO)

121. Ka'mao on-sogimin pragraphni kattarangko sawa bi-e aganaha ?

“0, Na-a pilakna bate bilakbatgipa anga bebera-a.”
A)  Rev. Gilberth K. Marak B) Rev.Ramke W.Momin
(© Keneth M. Momin (D) Mackenson S. Rongmuthu

122. Ka-mao on-sogimin sing-arangoniko ong-ako
Jonmoni D. Shira badia songo atchiaha ?
(A)  Resu-Belpara-o B) Rajasimila-o
(C) Nisangram Baksel gittim-o (D) Matchakol gre-o

123. Sing-anirangna ong-ako basee aganchakbo.
Sako Mane - Pite A-inma A-dindin ine minga ?
(A) Balawanimako B) Chinima-ko (C) Salgini ma-ko D) A-anima‘ko

124. Badia ong-a sing-anirangoniko basee aganchakbo.
A-chikrang gipin toromko ra-ode mai ong-gen ine Ramke Chanchiaha Chim ?
(A)  Depante demitchikrang gipin jat pilgen
B) A-chik manderang tomtome dongna man-jawa
(C)  A-chikjat gimani ong-gen
(D) A-chikjat silrorona mah-jawa

125. Ka-'mao sing-anirangna ong-ako basee aganchakbo.
Agannaniko dingtangate aganani skanggipa hiam.
Aganenggipa verb da-o onggipa ba mikkarngchi ong-nasienggipa ko Reported speecho indake ong-a.
(A)  Tenseko dingtangata B) Tenseko dingtangatja
(C) Tenseko bikpilatna nanga (D) Tensekoon-daphananga

126. Ka-'mao sing-anirangna ke-gipa kattarangko ra-e aganchakbo.
Sentence-o-salsretgipa katta ara mai Gender ong-a ?
Matchurang bakrao cha-amenga.
A) Me-agender B) Me-chikgender (C) Ramramgender (D) Grigender

127. Sing-anirangna ke-gipa kattarangko basee aganchakbo.
Sako “W.A kong” ine bimungko donachim ?
(A) Mackenson S. Rongmuthuko (B) Tuniram Rongma Marako
(C©) Monensing R. Sangmako D) Kosan G. Mominko
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128. Sing-anirangna ke-ako seoke aganchakbo. Poraie ku-uko skie ra-anio badita bak niamrang
donga ?

A) Gadanggni B) Gadang gittam (C©) Gadangbri (D) Gadangdok

129. Sing-anirangna aganchakbo.
Mingogni dingtang dingtang kattarangni ortorg apsan ong-gipa kattarang.

A)  Hyponym (B) Polysem (©) Antonym (D) Synonym

130. Sing-anirangna ong-ako basee aganchak-bo.
Ku-uko skie ra-ani minggni skillrang kna-e aro Agannachi ski-e ra-ana-man-agita.
Gipin mingni skill - rang ku-uko apoan dake ski-e ra-na man-ama ?
(A)  Apsandake ski-era-na man-a
B) Apsandake ski-e ra-na man-ja
(C)  Ming bri skillrasgan apsan apsan dake ski-e ra-na man-a

(D) Misgbri skillrangan namen ding tang grika

131. Sing-anirangna ke-gipa kattarangko basee aganchakbo.
Badia miteko Salgra - Moepa ine minga ?

(A) Asikinimiteko (B) Jajongnimiteko (C) Salni miteko D) A-animiteko

132. Iasing-anina ke-gipa kattachi aganchakbo.
Ramke sachi napolatako man aha ?
(A)  Rev.Rupreet Bion B) Rev.E.G. Philips
(C) Rev.Miles Bronson (D) Rev.Mason

133. Sing-anirangna kragipa kattarangko seoke aganchakbo.
Sentence-o salsretgipako mai aganani bake-ne minga ?
Tonang aganna “Anga mi cha-enga”
@)  Agangipa (B)  Aganenggipa
(C) Agannasienggipa (D) Agannakoman-gipa

134. Ka-'mao sing-anirangoni ong-ako basee aganchakbo.
Badia do-oko Tau - racha Malagitel ine minga ?

A)  Do-rengko B)  Do-poko (C) Do-kako (D) Masilenggako
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135.

Howard Denison mai bilsio M.A. English degree ko pass ka-aha ?
A) 1936 bilsio B) 1938 bilsio (C) 1942 bilsio D) 1947 bilsio

136.

Badia ong-a uko seoke sing-anina aganchakbo.
Tuniram ‘Do-kua’ poedo-ko 1914 bilsini mai jao seaha ?

(A)  Septembar jao B) Octobarjao (C) Novembar jao (D) Decembarjao

137.

Ka-mao sing-anirangoni ke-gipa kattarangko basee aganchakbo.
Salgi bangbangni ma-a
(A)  Susimema B) Sangkildoma (C)  Urenchima D) Urendama

138.

Ka-mao on-sogimin sing-anirangna ong-ak seoke aganchakbo.
‘Harvard Denison’ uni orto ba miksonganiara mai ?
(A)  Gisik aro bilko bilakatani ja-pang (B)  Gisik Rong talgipako man-anija-pang

(C) Bilakani aro seng-ani ja-pang (D)  Skia man-ani aro toromni ja-pang

139.

On-sogimin sing-anirangna ke-gipa kattako ra-e aganchakbo.

Howard Denison uni poedo “A chik ku-rang” ko mai miksonganio seaha ?
(A)  A-chik skia man-ani batrorobachina

(B)  A-chikniku-u silroronam rorochina

(C)  A-chikjatni torom giproroangchina

(D) A-chikjatni dakbewalrang samroro silroroang china

140.

On-sogimin sing-anirangoniko ong-gipa kattako seoke aganchakbo.
Mai bilsio Garo National Conggration dolko bikotaha ?
A)  1912Dbilsio B) 1913 bilsio (C) 1914 bilsio D) 1917 bilsio

141.

Sing-anina chongmotgipa katta ko basee aganchakbo.

“Mikjumang A.gilsak” ia poedoko sawa seaha ?

(A)  Evelyn R. Marak (B) Barendra Bangshall Sangma
(C) JonmoniD. Shira (D) Koplane G. Momin

142.

Ka-mao sing-anirangna ke-gipa kattaraogko seoke aganchakbo.
Badia aganani bako dingtang dingtong gender - rangni rokomrangko uina man-a ?
@A) Noun-0O B) Pronoun-0O (C) Adverb-0O D) Adjective-0O
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143. On-sogimin sentence - rangoni badia ke-e jakkalgipa sentence ong-a.
(A)  Gonny! Iachire-babo B) Gonny aro Tom adasa
(C)  Gonny aro Tom baso (D)  Gonny aro Tom sakgkian grapenga

144. Ka-'mao sing-anirangma ke-ako basee aganchakbo.
‘Gnigipa ku-u’ (second language) ine Ma-gataha ?

A) Hindi B) Assamese ©  Garo (D) English

145. Ka'mao on-sogimin kattarangoni badia kattarang Antonymy ong-a ?
(A) SiaaroTanga (B) Cha-aaroRinga
(C) Re-anga aro Re-baa (D) Dongnue aro Am-e

146. Iasing-anirangoni badia ke-gipa katta ong-a seoke aganchakbo.
Gonmoni uni “Do-kru” Poedo-o mande baksa mai kamk tosusa-e aganaha chin ?
A) Ku'mong nangrime donganiko B) Saksa Sakgipin baksa meligrike donganiko
(C)  Gik aro se ka-sagrike donganiko (D)  Gik aro se tomtome donganiko

147. Singanirangna ong-gipa kattarang ko seoke aganchakbo.
‘Ma-ani ku - utang ko skie ra-na Indian Constitution - ni badia Article - O dong-a ?
(A)  Article - Six scheduled B)  Article - Eight scheduled
(C)  Article - Twelve scheduled (D) Article - 45

148. Iasing-anirangna aganchakbo.
Mai jontuko A-gim - Gonggim - Simdim ine minga ?

(A)  Matchako B) Singhoko (C)  Giraftko (D) Mongmako

149. Sronggipa sentence-ko rikanio watchang gipa mai aganani bak ong-a ?
Subject + + Predicate.

A) Noun B) Verb (C) Adverb (D) Adjective

150. Ka-'mao sing-anirangna ke-ako basee aganchakbo.
A-gilsak gimkni ku-sikrangona ong-nasipile pemangimin toromni git-a badia ong-a ?
A)  “JisunidJa-man Anga Jarikgen” B) “PaDe Gisik Namgipa”
(C) “Nam gipa Gisik Paroa” (D) “Bisadinma Salgioni”
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121.

(HINDI)

o=t mfeca | * smegfrer w0’ foRd e S €2

(A)  FHE G B) T ver ©  wEReE T @) frden qqa@
122. fe<t =t qo Scufa fora stasier & o T8 % 2

(&) HEN (B)  OREA © wrTER (D) o1 Amedt
123. ‘fe=t’ oqa: T oo o1 w1t 2

(A) TR (B) © D) WF
124. ‘I=AROT’ 1 Giese 2T

(A) 3+ IR (B) 39+ AR © A+ (D) 3+ IRI
125. fe=<t s foreror =t fafi # -

(A) AR fafy ®) oA fE fafy (@ s wErTeen (D) ST g+t
126. Toeqor =1 3R¥d € =fR

(A)  ToenferR | sareretae fererdn i foen we

(B) HEEING Sfa & foru fanfef=i =i Gam &

©  Toenferii o1 wden & fau TR s

(D) Torenfer & wmifSer SHTEswhar w1 foshr e
127. T&<t &1 * 3T ST =1e bl Her9Ten’ foRe et o1 ?

A fofeam w8 (B) SIS frEEd

(© TS HHREA T (D) Rfa< =y
128. fe=<t = Gaem gr fhm s =t ot feam © 2

(A) o2y (B)  TSIMTST (©  HIeFH W (D) EHIR W
129. I | 918 ST T T § 2

INERELIE] (B) Y&& © Ty (D) e
130. ST TG 1 el 39T €

(A) THEIEFTET  (B) HEEF [k TGN (C)  SFEEAR TSN (D) ST R
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131. fe<) Siferil # fopm siferal o wifec T 9= 3R &9 © 2

(A) TR (B) IRAGUE! © (D)  FHH
132. ‘Uhfd % GFAR *Hfa’ fHd Fel @1 e ?

()  TwE fEE feret (B) gIwIa fuet fren

© gfEreTda D) SR TR
133. ‘GE1 1 aga’ 3 |

(A)  TRE H S (B) RIS H off GG 1 Wik &

©  EE foheg THgE® e (D) FEI-Feh a1 LT
134. &= w3 foerra 1 TE STTsRH HF-T1 ] ?

(A) el - UTRd - sty - T (B) UIhd - MUYV - o=t - wifa

©  3TIYW - I - Uha - fet O) &<t - wfed - sTaydsr - wipa
135. ‘&’ T F TG A § ?

(A)  ATTSA (B) A © WUl fg fete (D)  SHei”
136. TT=AfafEd § ¥ AR gact i hiad ShiA-H § ?

(A) FHFHRN (B) TWEMRFIW (O el ©) fenrer
137. =g T o) A g e’ A fermen femn €2

(A) TeRE (B) U © ufeH o< (D) Tt
138. ‘9mr’ fhent @ ?

(A) giHeAda (B)  STERIRI YHIG

© g et fren (D)  welee aml
139. THEI-YSI 1 G2 fourg fafn - =wor wa

(A) =R hHA (B) =R AR FHHA ©) =R HAA (D) =R H HAA
140. FEA A A PA-TM @ FAT?

(A)  HHEEA (B) &R © g (D) W
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141. = 9 ¥ SH-91 ST=9 Yo o1 T8 © 2
) fren (B) TEH © T (D) 379 STq STSHeIT

142, Toao sen 22
(A) THHEA (B) THTRaAA © TEHH (D) TH I

143. ‘S % gEMET A ®
(A)  TEH ® © o D) ¥

144. SR GURA 1 e fohd Henstl § e =fen ?
(A) IR (B) TR © S WHAER (D) A FESH

145. ‘3igEAl’ Wsg 1 foeim oIt © -
&) =l ® g™ © ol O) <

146. ‘BI=BMEN’ I WiU=3< BT :

(A)  BF+ =R B) B+ID © B+ BN (D) B+ A

147. i 9 % faQ fe T SUER 1 7Y I9rEd T ¢
(A)  FIHE qheo o (B) Had HHihd H
© fafea wemor o (D) < H 8§ FE &

148. T&=t o1 SqvE STUYY Y SHfam STaen ¥ AR Y €
(A)  HrRd ®) © FERE D) HERd

149. Afg ‘T ot &g T H Ygd 3T 1 ST ®Y BT ¢
@A) ® T © = D) T

by

150. TR 9Hf Rl 79 fohd T R IS TRERR fhe ?
A) =R (B) (© grerfa (D)
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(HMAR)

121. Thangsuo ti umzie chu :

(A) Inthang suok (B) Taima

(C) Damlaia thiltum hlen (D) Hausa
122. Mithi chanchin hril dinga tirhai chu :

(A) Thangko (B) Tlangva (C) Palai (D) Tirko
123. ‘Sawmfang kir nguoi’ umzie chu :

(A) Phék sawm tam (B) Bu zatam (C) Phék za tam (D) Lo buvui
124. Kumkhat sunga hun indawt dan chu :

(A) Nipui, far, favang, phalbi (B)  Nipui, phalbi, favang, far

(C) Far, favang, nipui, phalbi (D)  Phalbi, favang, far, nipui
125. Simbak chu :

(A) Simbung chikhat a nih (B) Sakei chikhat a nih

(C) Thilhring chikhat a nih (D)  Pathien pakhat ni dinga ring a nih
126. Andik tak thlangsuok rawh :

(A) A hnuoi izirin tlaichi thlak hlak rawh

(B) A hnuoi izirin thlaichi thlak hlak rawh

(C) A hnuoi izirin thlaichi tlak hlak rawh

(D) A hnuoi izirin tlaichi tlak hlak rawh
127. A hi damlai thil ngaituo ding

(A) Pawimaw le tul a nih (B) Thil tul inkhaw a nih

(C) Thil pawimaw tak a nih (D) Thaw makmaw tul a nih
128. Adjective chu :

(A) Verb hrilfietu a nih (B) Noun hrilfietu a nih

(C) Ama le ama an hrilfie (D) Thilthawhrilna a nih
129. Ka lungdin khieng dang a awi tah ie’ ti umzie chu :

(A) Inkhieng thing awiin hla a sak (B) Ka ngaizawngin midang a dit tah

(C) Pasal dang a mi neisan tah (D)  Hmun dangah an inpem tah
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130.

Andiktakthlangsuokrawh :

(A) I puonthanthlepchutléptuorin an lang
(B) I puonthantlepchuthleptuorin an lang
(C) I puonthantlepchuthléptuorin an lang
(D) I puonthanthlepchuthléptuorin an lang

131. Ei nun thiem ang
(A) Sietarawnge (B) Sirtarawnge (C) Meéttarawnge (D) Siltarawnge
132. Chéngrang umzie chu :
(A) Silai (B) Pelt era (C) Chéngna in (D) Chemte
133. Thawngaleivir chu :
(A) Thlipui hrang a nih (B) Ruopui vanawn sur a nih
(C) Thli hrang inkuol hrattak a nih (D) Sour luong hrat a nih
134. [ par mawi .
(A) Mi thliek rawh (B) Min suorawh (C) Min hlan rawh (D) Mi pe rawh
135. Ramvachal ti umzie chu :
(A) Rama vate chal (B) Pasaltha
(C) Vate chikhat hming (D) Rama khawsa hlak
136. Thudik hril le
(A) Sazang kap (B) Thiemchangna nei
(C) Ramlenga fe (D) Thil inhmaw taka thaw
137. ka lungrilah a hung var tah.
(A) Turnipui var (B) Chatuon kawlrawn
(C) Tlanga inthieng (D)  Pielral nisa
138. Chikchikrieu inhram chu :
(A) Khau chi khat inhram (B) Vate chi khat inhram
(C) Thil ri hrim hrim um lo (D) Rihau inri biing bing
139. Loneinaa sinthaw dan indawt chu :
(A)  Hlo thlo, butu, hmangkhaw, busik
(B) Butu, hmangkhaw, hlo thlo, busik
(C) Hmangkhaw, butu, hlo thlo, busik
(D)  Hlo thlo, busik, hmangkhaw, butu
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140.

Rengkhawthim chu :

(A) Inthim sa tak (B) Réng rama nisa tlak

(C) Khawstng inthim (D) Thereng chi khat
141. Hmarhai lam laia thangve lo chu :

(A) Pheiphit lam (B) Khuol lam (C) Lam lam (D) Inchawm lam
142. Concrete noun thenawi a thangve lo haichu :

(A) Proper noun (B) Common noun

(C) Abstract noun (D)  Collective noun
143. Sikpui lam an 1lam hun chu :

(A) Nipui lai B) Fur lai (C) Phalbi lai (D) Favang lai
144. Abstract noun thlangsuokrawh :

(A) Thina (B) Behna (C) Vwuongna (D) Thirbél
145. ‘Thiemtuipek’ ti umzie chu :

(A) Thiem taka tui indawntir (B) Puon khawng sukhuna tui

(C) Puon khawng laia tui dawn (D) Tui dawn dan thiem mi
146. Thingkung a tha chun

(A) A par a mawi B) Araatha (C) A hnaatam (D) A thing a chang
147. Pronoun a third person hrilnachu :

(A) Nang kalawmche (B) Keimakafe

(C) Ama thaw a nih (D) Kalawmche
148. suol bawia kan tang hnung kha.

(A) Hun sawt tak (B) Hlatak a (C) Det taka (D) Sawt tak
149. Dawlrem chu :

(A) Vate a nih (B) Inreng chikhat a nih

(C) Bal hna tawl a nih (D) Laiking chikhat a nih
150. Pam rorel umzie chu :

(A) Thil inhmang inpam (B)
(C) Lo vatdan ding rél (D)

Thil inro leia rorélna nei

Ram 1éng dan ding hril tlangna
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(NEPALI)

121. g WEHATITC AU TSI STHTHIETS Shid HFTHT @Y ?
(A) T Y (B) T 9w © IR 9m (D) °r= 9

122, SOTCH {THTHT Figeia i@ ST el Y HUR i ?
(A) HI1600UfEeE  (B) WI1700UfweE  (C) EA 1800 UfSElE (D)  HH 1900 UfEEre

123. SRH<Teh TIHN AUTCH HTHTRT YRFY HUHI 90 B
(A fad. 1213 ®) faE. 910 © fad. 1057 D) Tfad. 1075

124, ST Th! STAROM S TR 81
(A HEaR s (B)  hE! HEHI Ahae fFeshs

© THRATTEED (D) HEH UfF=s

125. FUTCATHT =1 IU=ITY o1 ST-ATERN hl B ?
(A) ITHEIRIGLTE (B)  TicTaEIgr &t € AHTHIETTRR] (D) SHHUS IER

126. TOTEH HIfETH SRYE Theamal hia R Fafs1 v eficiaeigy &t & 9o faf=s ?
(A)  TEIER (B) THerFHHR © STEEER (D) TR

<

127. YOI TS SR 9 JeH SfRd <l E12
(A) vEgEteRigifag  (B)  sfew © vfaeay o afa (D) fagamfa

128. ol g ®IH & 2
(A) gy ®) fe=fafy ©  Hefafy (D) Fuifafy

129. YT YEERT TG T Sliee FHehTS I ?
(A) HERMSE AT (B) AR TS © e v s (D) YH A9 s

130. 319, M, W, I oIS heht TRR g1 2
(A) T ®) i © G D)  HEE
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131.  TAScToh] UTCH SATHTT T SIS — T T AT - TS IRHUSR Thid T T WTeh! forr ?
(A) §F 1870 (B) 9 1885 © 7 1887 (D) §7 1890

132. HEHTS ALHIIHIE Seehieeh] ST YTEh! 313 B :
&) FEm ® RS
©) FEENR (D) fecaiiersien! detem

133. <itef TTYE Saehiel feHTee ekl & g1 2
(A) @ ®) BN © 1 D) <9

134. 1918 TTeh! 24 TARH T favafagareract Jarelt woTeTs wiehia faweh! 3 ToreH STuh! for ?
@A) feoedt fovafagarmm (B)  herehdl fovafagare™
©) orE fovafagar™ (D) TaTEdrs favafagae™

135. SUTCT SATHIOTHT THE Y]
(A) VeEh! TA & (B) T TG & © sHuRad e (D) o g

136. H&AT (F97)T HRHH! ANY TS :
A fagm af=s (B) M Ui © faufw wfrs (D) 3G 9=

137. @H TR TSI ANRISIohT STf-<aH Safeenil ¥ fassient fagremn o eif<a s g7
(A) 3T Tedt (B)  3T9F Hed Q) I T (D) Iy =ed

138. TEY drgATerens ferkmftr swfy fe =afaq =01 g2
(A) A5TeR ®) 45 HEa © TEIERIGAM (D) HIHE STEE

139. TEHAH! TCEEAT STEATh! T TN s .
(A)  STTHRI FAM (B) el FART ()  dSHER TN (D) facisent gam

140. 1992 Tl 20 STTHR! T WRAH! HfTHM FF F HIels A= foUeh! o ?
(A)  hiehuft, TIOTYE T uTeh B) =i, Aurel T Afrgd
(©  hienuft, AT T foed (D) F1 M ERA
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141. TEM TR FF YRR ?
() qftet (B) TURAH (© T (D) <o

142. TRV YR SFAYUHI 2 :
(A) 7 SHER 1935 | (B) 7 SHEIRY 1936 HI
© 7 RgaRI 1935 | (D) 31 SHa 1935

143. Wfecaen! foToR STTh! T 2Teh1 {THTHT ST TR o fosears o v ?
() oTfed for B SETEfE Q) R (D) ST oot

144. TOHIIRISTR] SH VT T :
(A) 30 fegwer 1947 W (B) 25 feqwR 1948
(© 25 SHaRl 1947 1 (D) 25 SHERT 1948 I

145. TRl P e Toaed S @
(A) BT ST = B) BEWSHY
© 3RS 9= 3 X STt D) 3R a= ARy

146. HYKI T ISRV 373 A& T :
(A) 3T, 3, T B HT A © u, W, 3 (D) F 9l e

147. IFA9eq 3 IS SAwiiaie SHiaan S M Jush o ;

(A) ET1978 (B) § 1980 I © HI19827H (D) §71984

148. hoTTe] &=l TSR] SAThIUTRI Q& HEhLUH Tl TN Shidael IRl @I B ?
(A) eI (B) e © IRE (D) wre&RT

149. TH I TREEA HTATS FIH ST TR T ?
(A) YEFREUIIE  (B) S WE € TERIME (D) TYUivme

150. ITcl SATRTOHT |4 i TehRent g5 ?
(A) TIFRFIEST (B) THTRRHIIEST (O TUATOHE (D) AU g g
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(MANIPURI)

121. f&5.f0. IR, TRa 30T -

(A) T SwAT Ry (B) T TEEFE
© <1 Y RSl (D) =NI3 I
122. Q& IR BT I | BRI NENRMT (N5Iv! Y |
@ ® © | O !

123. TSR @TFET STEE <3 Q%AT (511 G |
(A) SIS BJTBREMI | (B)  SIMITAZ/GACAZ B3I BRIBMT |
©) AR/ SAATZ BIAIBIBM | (D) OANI W3 BRI |

124. TT: I 37T ¢Teaem -
(A) TR TS (B) FreAEE
© THA D)  (A) IR (C) AT |

125. (SOITeT™ ST 3357 a3 faaho -

) Fwesfafa @) 0 wefwfafeer © 2 womEi D) (A) SR (B) 9%
126. ““&ff TRT BIFCAT 1 AICRAE LN ORI (A aawt srEat |
Aa)  FIR (B) e

©  (A) PR (B) AT 1ZATTZ (D) TR SLIF BIFEIR

127, “SPIRIT (FISSTY TINT T -
(A) Tl I 3319 (B) YI3JF5W BREIAT 371
©  av, &, R 33ty (D) 97 THWEIAT 331

128, ‘FroTHAN RIS’ TRQT AT 3Af

(A)  Of: IWeAl B) I, &, Mot
©  AETW SRS D) @, A
129. Ticorer ST wios(ST (o719 SF1 Toun! SREIn! NF *Tedt eF4 WA B3 |
(A) ST ®) ©rear © ot D) ST SS ACS
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130. ‘(OIFAI T AT AT (Y ISR (A 3L ST -

(A) T (oFAT A B) T TAH (orEAT |

© T (oFF TEAT QF5H | (D) T NHAT (EEAT 3F50H |
131.  CHCOCETIAAN FICRAT ST AL FFOP! ST J1CR 58 STF AT FouH :

(A) 4B 58 [ TR B) YR 5¢ I TR

©  YB su B TRy D) 4B Sb BT TRy
132. ‘@A’ IREHT -

A)  TEF TR LIl (B)  FF AR Y7lT |

©  (A)SL (B) SN Y7 3T TR | (D) (A), (B) SR (C) TN HH |
133. <& AKHAT ST ICIAFIRAT VST FIBFT SNGY ASTHAT ST S AGZAT A9 -

NG (B) ety © fehm (D) Tt
134. ‘(O IRRAPMI ‘Y’ IWRALT :

(A) (TEF AR (B) AR ALCAA © eI (D) IR IIF A3 |
135. STWIST WYeT -

A sl B) ¢ = © viH D) a4
136. CeTIH SFIRAT (TSI BT 73T -

(A) S (B) I=§HI © §EEI D) Wi
137.  Wios[dT SR o3 SRAar @37 3777 67 (@ e S -

A) & ®B) @D © oifese (D) =
138. WSSt (Y 329 2T 83471 e ffat g favsremfi -

A  wferg feefmrer ®) frar e

© T e (D) el efmer
139. FRSW BT 27 Y& -

(A) AT AL YAl | B) [T @o e em |

(© NS PR 3 K5I (D) (C)=Tifer (A) SR (B) BR3
140. ST AT L BTN SZ3fT -

A) INA (B) BIIEA © oSt D) T
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141. STV RRQHT
(A) MR AT el S3AT S[FRA |
(B)  JMCx 2 SMQT B3AT AR |
Q) XTI F@ST HIWAT (@A ¢ AFFR |
(D) TR SR ST ST TS |
142. TSI ST SRS SIRFAT (4TS AL -
(A) oIS B) 33 © ©REH (D) TSI
143. TS @THAT ©iFw ALRLFE o w3t Sgzems 52GHT -
(A) TAT R0, 5555  (B)  HAB R0, 58590 () HE R0, 558k (D) BB R0, 5580
144. AT+ T = THL AR -
(A) ety qreEST i | ®)  fE ateFa g
Q I qrsEST gl | (D) WIE TS SHFT YA ACS |
145. ‘BT ST 1% 0T, TXIF (SIFAT WoIRI” ZRIAT qiczafae JIbmr <o 3faafy
(&) TSI ®) A
© it IR A TS (D) TIE TS A3
146. TS @ BT MRSy F =T -
(A)  TFLEAAIT @A @I | B) el @]
Q) AT T | (D) TAE TS F |
147. “‘3R0ET, FBF FA TAWSNCAL* JICRATEL ST -
(A) BN (B) I Q) SCRTFHIE (D) NN SRS el
148. fXSW SgiexaAT 471 (VBT AL ¢
(A) A9 i 3aN3 (B) I *IHIME 30
Q) TR TR ZIWY (D) TR TS eAlfe
149. TS TIFST SREAT Syt 2
(A) 9., R (B)  YIBAFAT SREIT
© oW SerezeH (D) Tf: eIl
150. YA +fqs ST Fpmaar @nar fifeet MfSst Aaqrsmt gféra @t @ =i -
(A) S ST 83T @RI T | (B) TFF TSNS AR |
©) XN ST 83T @ TR | (D) W& FNF A1l |
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(KARBI)

121. Menlar son koan do ?

A)  Son 4 (Phli) B) Son 6 (throk) (C)  Son 8 (nerkep) D) Sonb (Pho)
122. “Ne pinap hem damji.” pulote kopi ahut lo ?

(A)  Non-ahut B) Chuahut () Moahut D) Isitakali
123. Non an kedobom Karbi Medium School hum ko'anlo ?

@A) hum 10 B) hum 29 (&) hum 35 D) hum19
124. ‘HUNMILI’ puke :

(A)  Kep angdeng akitap B) Phoangdeng akitap

(C) Isiangdeng akitap (D) Nerkep angdeng akitap
125. Men alamthe alar kepacho alamthe aphan pulo.

A) Men B) Menlar © Sa D) Saiklar
126. ‘Solangdo’ puke - Lindok :

(A)  bang2 (hini) aphan B) bang 3 (kethom) aphan

(C) bang4 (phli) aphan (D) bangb (pho) aphan
127. Lunjir along ‘RUN’ puke kopi aphansi kipudam ?

(A) Langaphan B) Tovar aphan (C) Hem aphan (D) Ritde aphan
128. Hirjir kihir kethan ke abidi kepangcho aphan.

A) Kaningje B) Karjulong (C©) Ketok D) Kacharli
129. Abong pen Amarthu, Abi pen Ahiru puke :

(A)  Chelonchit aphan (B) Chetontepin aphan

(C)  Chingbarbepin aphan (D) Kemepik aphan
130. Lamtasam ateng penke Bangphu son Ko’an do ?

@A) Son-2 B) Son-3 (C) Son-4 D) Son-5
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131. Karbi Medium School along non (2018 pen) Govt. of Assam/ SSA pen keronbom ‘Kimlakha’ akitap
amen kapulo ?

A)  Netum Akimlakha B) Kimlakha Ajadu
(©) Kimlakha Kimi D) Kimlakha

132. Hem tibinpile sarbura apok keso livoi kopilo ?

A) Longthu B) Hulik (C) Birik (D)  Phelo bisir
133. Monit, marat, lapen ason ason amen ki-ir aphan helo pulo.
A) Menlar B) Menklar (© Men D) Sai

134. SABIN ALUN puke kopi aphansi kipu ?
(A) Mahabharat (B) Ramayana (C) Bible (D) Panchatantra

135. Karbi Lamtasam ateng pen ‘Men’ son koan do ?
(A)  Son 4 (phli) B)  Son 5 (pho)
(C)  Son 6 (throk) (D) Son 3 (kethon)

136. La aber alamthe heihui Kechokvek abang kolo ?
A) dam vangret B) dam aret (C) damvaret D) damret

137. Isiangdeng along non KAAC/SSA pen keron ponbom akitap amen kopi ?
A Hunmili B) Lam Chili (C) Lam Aklim D) LammetKimi

138. Ha-i1/ Long Teron atum arong amen kopilo ?
(A)  Socheng B) Umrasi
(C) Amtarpeng (D) Somindar Anglong

139. Karbi Lamet Amei Kechengsi a Meiphu Komat lo ?
(A)  Prof. Rongbong Jerang B) Longkam Teron
(C) Bonglong Jerang (D) Samsing Hanse

140. Dimro puke :
(A) Sokamen B) Hem amen (C) Hanamen (D) Rongamen

141. Achom + Asar + Kekan = .
A) Chomangkan B) Chomkan
(C) Chong Kan (D) Chom Kekan
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142. Amri Alongri asor aphan ke :
A) Lelangdotapu (B) Arlangdotapu
(C)  Solang dotapu (D) Sankurtapu
143. “Nepi Alam Ne Kachinghon chenam” pu komat atumsi Ketokcheng lo ?
@A) KSA atum B) KLA atum (&) KLT atum D) KCSatum
144. “ArudJangmi achiklo
Bengcheret langsok hang jo
Nonpu nongsim apor lo.
Chingrum non dei klimso”
‘Aporpen’ ahirjir ketok abang :
(A)  Anima Terangpi (B) Bamonpo
(C) Lunse Timung (D) Dhoneswar Engti
145. KLDB ahin pen KLT atum aphan komantu pensi Kepadochenglo ?
A) 2008 pen B) 2009 pen (C) 2010pen D) 2003 pen
146. “Sining le ingthok ta emahang chero.” puke jonghele sorsa sita :
A) Edon apok-et pinak (B) Bangpinak
(C)  elipen akethe pinak (D) elipen akibi pinak
147. EpiAlam Kacharli along Adun alam ke Kopélo ke-en nangji ?
(A)  Assamese B) English
(© Hindi (D) Bengali
148. ‘LAM MARJONG’ komat lo ketok ?
(A)  Bonglong Terang (B) BasaKathar
(C) Bidorsing Kro (D) Barelong Terang
149. ‘Karbi atiri ke lammet kadure.
Lunle Lunji ta Lunjir kedure
Lun pen Jutang ke isivet damkre
Kheita Virthuji lammet le ave
‘Nepi Alam’ ahirjir komatsi ketok ?
(A) LongKam Teron (B) Phulmati Teronpi
(C) Anima Terangpi (D) Bidorsing Kro
150. Ha-i mu akitap Komatsi Ketok lo ?
A) Longkam Teron (B) Bonglong Terang
(C) Nihang Rongphar (D) Barelong Terang
-00o0-
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